GENERAT.,. STUDTES
CIVIL: SERVICES — 2003

1.

In December 2002, the Prime Minister of India
signed " Delhi Declaration" with the

1) President of Indonesia 2) President of Russia
3) Prime Minister of Cambodia

4) Prime Minister of Laos

Among the following cities, which one is nearest
to the Tropic of Cancer?

1) Delhi 2) Kolkata 3) Jodhpur 4) Nagpur
"Mrichchhakatika' an ancient I ndian book written
by Shudraka dealswith

1) theloveaffair of arich merchant with the daughter
of acourtesan

2) the victory of Chandragupta Il over the Shaka
Kshatrapas of western India.

3) the military expeditions and exploits of
Samudragupta

4) thelove affair between aGuptaKing and aprincess
of Kamarupa

Consider thefollowing statements:

1) Vardhamana M ahavira's mother was the daughter
of Lichchhavi chief Chetaka

2) Gautama Buddha's mother wasaprincessfromthe
Koshaladynasty

3) Prashvanatha, the twenty-third Tirthankara,
belonged to Banaras

Which of the Statementsis/ are correct?

DOnlyl 2)Only2 3J)2and3 4)1,2,and3
A car travels the first one-third of a certain
distance with a speed of 10 km/hr. the next one-
third distance with a speed of 20 km/hr and the
last one third distance with a speed of 60 km/
hr.The average speed of the car for the whole
journey is

1) 18 km/hr2) 24 kmhr 3) 30 km/hr 4) 36 km/hr
Consider thefollowing statements:

The purpose of adding sodium sulphate and
sodium silicate to the detergent in a washing
powder is

1) to keep the washing powder dry

2) to maintain the alkalinity of the powder.

Which of thesese statementsis/are correct

1)Onlyl 2)Only 2 3)Both1and 24) Neither 1
nor2

Debenture holders of acompany areits

1) Shareholders 2) Creditors 3) Debtors
4) Directors

Which one of the following statements is NOT
correct?

1) The Nationa Song Vande M ataram was composed
by Bankimchandra Chatterjee originally in Bengali
2) The national Calendar of India based on Sakaera
hasits st Chaitraon 22nd March normally and 21st
Marchin aleap year.

3) The design of the National Flag of India was
adopted by the Constituent Assembly on 22nd July,
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1947.
4) The sohng 'Jana-gana-mana composed originally
in Bengali by Rabijndranath Tagore was adopted in
itsHindi version by the Constitutent Assembly on 24
th January, 1950.as the National Anthem India.
Which one of the following Articles of the Indian
Constitution providesthat 'It shall bethe duty of
the Union to protect every Sate against external
aggression and internal disturbance?

1) Article 215 2) Article 275

3) Article 325 4) Article 355

'A' walksaround acircular field at therate of the one
round per hour while'B' runsaround it at the rate of
six rounds per hour. They start in the same direction
from the same point at 7.30 am. They shall first cross
each other at

1) 8.30am. 2) 8.10am. 3) 7.48am. 4)7.42am.
Consider the following statements : In India,
stamp duties on financial transactionsare

1) levied and collected by the State Government

2) appropriated by the Union Government

Which of theses statement i/are correct?

1)Onlyl 2)Only2 3)Bothland2 4) Neither
1 nor 2

Which one of thefollowing statementsiscorrect ?
1) East Timor was aBritish colony for four centuries
2) The European colonia rulers handed over East
Timor to Indonesiain 1975.

3) The United Nationstook over East Timor in 1999
to prepare it for independence.

4) East Timor finally declared its independence in
December 2001.

Match list-1(Item in the I ndian constitution) with
List Il (Country from which it was derived) and
select the correct answer using the codes given
below the lists:
List |

(Itemin the Indian
Constitution)

List 1l
(Country from which
it was derived)

Directive Principles 1. Australia
of State Policy

Fundamental Rights 2. Canada
Concurrent Listin 3. Ireland

Union-State Relations

Indiaas aUnion of 4. United Kingdom

States with greater

Powersto the Union 5. United States of America

Codes A B C D
1. 5 41 2
2. 3 52 1
3. 5 42 1
4, 3 51 2

With reference to Indian defence, which one of
the following statementsisNOT correct?

1) With the induction of Prirthvi-l1, the IAF is the
only air force in the world with surface-to-surface
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ballistic missiles under its command
2) Sukhoi-30 MKI jet fighters can launch air to air
and air-to-surface precision missiles
3) Trishul is asupersonic surface-to-air missile with
arange of 30 km.
4) The indigenously builot INS Prabal can launch
surface-to-surface missiles
The Indira Gandhi Peace Prize, 2002 was
awarded to
1) John Hume 2) Nelson Mandela
3) Norodom Sihanouk  4) Sadako Ogata
Match List-l (Name of the person) with List-11
(Associated with) and select the correct answer
using the codes given below thelists:

Listl List 1l
(Name of the Person)  (Associated with)
A) Brijmohan Lal Munjal 1) Biotechnology
B) Kiran Karnik 2) Automobile Industry
C) Kiran Mazumdar Shaw 3) Software Industry

D) Sunil Mittal 4) Telecom Industry
5) Film Industry
Codes A B C D
1. 4 15 2
2. 4 31 2
3. 2 31 4
4 2 15 4

Whom did M ahesh Bhupati and Max Mirnybeat
intheUSOpen men'sdoublestennischampionship
in the year 2002 to win thetitle?

1) Wayne Black and Kevin Ullyett

2) Mike Bryan and Bob Bryan

3) Jones Bjorkman and Todd Woodbridge

4) Jiri Novak and Radek Stepanek

Four different candles, which can last for 5hours,
4 hours, 3 hours and 2 hours of burning
respectively, arelit in aroom at the same instant
and allowed to burn till such timethat the three
candlesin the room get extinguished. The cost of
burning each one of these candlesis 75 paise per
hour. The cost involved is:

1) Rs. 275 2)Rs.3.75 3)Rs. 9.75 4)Rs. 12.50

Which one of the following statementsis correct
with referenceto FEMA in India?

1) The Foreign Exchange Regulation Act(FERA)
was replaced by Foreign Exchange Management Act
(FEMA) in the year-2001

2) FERA was given a sunset clause of one year till
31st May, 2002 to enable Enforcement Directorate
to complete the investigation of pending issues

3) Under FEMA, violation of foreign exchangerules
has ceased to be a criminal offence

4) As per the new dispensation, Enforcement
Directorate can arrest and prosecute the people for
the violation of Foreign exchangerules.

Consider thefollowing statements:

1) India's import of crude and petroleum products
during the year 2001-02, accounted for about 27%
of Indiastotal imports.

2) During the year 2001-02, India's exports had
increased by 10% as compared to the previous year.
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Which of these statements i/are correct?
1) Only 1 2) Only 2
3) Both1and 2 4) Neither 1 nor2
Who among thefollowing wasselected for the 2001
Dada Saheb Phalke Award?
1) Dev Anand 2) LataMangeshkar
3) Ramanand Sagar 4) Yash Chopra
Which one of the following statement is NOT
correct ?
1) Milk contains none of the B-vitamins
2) Vitami n-A (retinol) deficiency leads to dry and
scaly skin.
3) One of the symptoms of scurvy ispaininthejoints
4) Vitamin B1 (thiamine) deficiency can lead to heart
failure
As per the Human Development Index given by
UNDP, which one of the following sequences of
South Asian countriesis correct, in the order of
higher tolower development?
1) India-Sri Lanka-Pakistan-Maldives
2) Madives-Sri Lanka-India- Pakistan
3) Sri Lanka- Maldives-India-Pakistan
4) Maldives-India-Pakistan-Sri Lanka
Which one of the following statements is NOT
correct?
1) The velocity of sound in air increases with the
increase of temperature
2) The velocity of sound in air is independent of
pressure
3) The velocity of sound in air decreases as the
humidity increases
4) The velocity of sound in air is not affected by the
changein amplitude and frequency
Consider thefollowing statements:
1) Indiaranksfirst in the world in fruit production
2) India ranks second in the world in the export of
tobacco.
Which of these statements is/are correct?
1) Only 1 2) Only 2
3) Both1and 2 4) Neither 1 nor 2
Which one of thefollowing statementsiscorrect?
1) Alliance Airisawholly-owned subsidiary of Indian
Airlines
2) The Airports Authority of Indiamanages seven of
the country'sinternational airports.
3) The Airports Authority of Indiais the regulatory
organisation for enforcing civil air regulationsin India
4) It is the function of Directorate General of Civil
Aviation to plan and costruct runways and terminal
buildingsto provide air safety services.
Which of the following Bills must be passed by
each House of the Indian Parliament separ ately,
by special majority?
1) Ordinary Bill
3) Finance Bill
4) Constitution Amendment Bill
Consider thefollowing animals of India:

2) Money Bill

1) Crocodile 2) Elephant
Which of theseis/are endangered species?
1) Only 1 2) Only 2
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3) Both1and 2 4) Neither 1 nor 2

Which oneamong thefollowing cover sthe highest
percentage of forest areain the world?

1) Temparate Coniferous forests

2) Temparate Deciduous forests

3) Tropical Monsoon forests

4) Tropical rain forests

A two member committee comprising of onemale
and onefemale member isto be constituted out of
five males and three females. Amongst the
females,Ms. A refuses to be a member of the
committeein which Mr. B istaken asthemember.
In how many different wayscan thecommitteebe
constituted?

111 2) 12 3) 13
Consider thefollowing statements:
1) The last Mauryan ruler, Brihadratha was
nated by hiscommander-in-chief, Pushyamitra
Sunga

2) Thelast SungaKing. Devabhuti was assassinated
by his Brahmana minister Vasudeva Kanva who
usurped to throne.

3) Thelast ruler of the Kanva dynasty was deposed
by the Andhras

Which of these statements i/are correct?

Dland2 2)Only2 3I)Only3 4)1,2,and3
The aim of education as started by the Wood's
dispatch of 1854 was

1) the creation of employment opportunitiesfor native
Indians

2) the spread of western culturein India

3) the promotion of literacy among the people using
English medium of language.

4) 14

4) the introduction of scientific research and rationalism
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inthetraditional Indian education

Who won the title in the finals of French Open
men's singles tennis champonship in the year
20027

1) Albert Costa 2) Juan Carlos Ferrero

3) Andre Agassi 4) Pete Sampras

Consider thefollowing statements:
Thefunction(s) of theFinance Commission is/are
1) to allow the withdrawal of money out of the
Conolidated Fund of India.

2) to dlocate between the States the shares of proceeds
of taxes.

3) to consider applications for grants-in-aid from
states.

4) to supervise and report on whether the Union and
State governmentsis/are correct?

HOnlyl 2)2and3 3)3and4 4)2and4
Which one among the following States has the
highest female literacy rate as per the Census
20017

1) Chattisgarh 2) Madhya Pradesh

3) Orissa 4) Rgjasthan

Which oneamong thefollowing countrieshasthe
lowest GDP per capita?

1) China 2) India

3) Indonesia 4) Sri Lanka
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Consider thefollowing statements:

1) In Macedonia,ethnic Albanians are a minority

2) In Kosovo, Serbians are amagjority

Which of these statementsis/are correct?

1) Only 1 2) Only 2

3) Both1and 2 4) Neither 1 nor2

I srael has common borderswith

1) Lebanon, Syria, Jordan, and Egypt

2) Lebanon, Syria, Turkey and jordan

3) Cyprus, Turkey, Jordan and Egypt

4) Turkey, Syria, Irag and Yemen

What is the correct sequence of the rivers
Godavari, Mahanadi, Narmada and Tapi in
descending order of their lengths?

1) Godavari-Mahanadi-Narmada-Tapi

2) Godavari-Narmada-Mahanadi- Tapi

3) Narmada-Godavari-Tapi-M ahanadi

4) Narmada-Tapi-Godavari-Mahanadi

If the radius of the earth were to shrink by one
percent, itsmassremaining the same, thevalue of
'g' on the earth's surface would

1) increase by 0.5% 2) increase by 2%

3) decrease by 0.5% 3) decrease by 2%

With reference to the entry of European powers
into India, which one of thefollowing statements
isNOT correct?

1) The Portuguese captured Goain 1499

2) The English opened their first factory in South India
at Masulipatam

3) In Eastern India, English Company opened itsfirst
factory in Orissain 1633

4) Under the leadership of Dupleix, the Frech
occupied Madrasin 1746

With referencetolndian freedom struggle, which
one of the following statementsisNOT correct?
1) The Rowllatt Act aroused a wave of popular
indignation and led to the Jallianwala Bagh massacre
2) Subhas Chandra Bose formed the Forward Bloc
3) Bhagat Singh was one of the founders of Hindustan
Republican Socialist Association.

4) iN 1931, the Congress Session at Karachi opposed
Gandhi-Irwin Pact.

Consider thefollowing statements:

1) Inthelast fiveyears, Indian software exports have
increased at a compund annual growth rate of about
60%

2) The Software and services industry in India
registered an overall growth of about 28% in rupee
terms during the year 2001-2002

Which of these Statementsis/are correct ?

1) Only 1 2) Only 2

3) Both1and 2 4) Neither 1 nor2

Which one of the following statements is NOT
correct?

1) Indiaisthe second largest producer of nitrogenous
fertilizersin the world.

2) Indiaisthe ninth largest steel producing country
intheworld.

3) Indiaisthe second largest producer of silk in the
world.
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4) Indiaranksthird in the world in coal production.
Which one of thefollowing statementsiscorrect?
1) Only the Rgjya Sabha and not the Lok Sabhacan
have nominated members

2) Thereisaconstitutional provision for nominating
two members belonging to the Anglo- Indian
community to the Rajya Sabha.

3) There is no constitutional bar for a nominated
member to be appointed as a Union minister

4) A nominated member can vote both in the
Presidential and Vice Presidential elections

With referenceto Government of India'sdecisions
regarding Foreign Direct | nvestment (FDI) during
the year 2001-02, consider the following
statements:

1) Out of the 100% FDI allowed by Indiain teasector,
the foreign firm would have to disinvest 33% of the
equity infavour of anIndian partner within four years.
2) Regarding the FDI in print media in India, the
single largest Indian shareholder should have a
holding higher than 26%

Which of these statements i/are correct?

1)Only1 2)Only2 3)Both1and?2 4) Neitherl
nor 2

Alam Khan one of these who invited Babur to
invade India was

1) an uncle of Ibrahim Lodi and a pretender to the
throne of Delhi

2) acousin of Ibrahim Lodi who wasiill-treated and
expelled from the country

3) thefather of Dilawar Khanto whom cruel treatment
was meted out by |brahim Lobi

4) a high official in Punjab province who was very
much discontented with I brahim Lodi's treatment to
histribe.

The battle of Dharmat was fought between

1) Muhammad Ghori and Jai Chand

2) Babur and the Afghans

3) Aurangzeb and Dara Shikoh

4) Ahmad Shah Durrani and the Marathas

Which one among the following has the largest
shipyard in India?

1) Kolkata 2) Kochi

3) Mumbai 4) Visakhapatnam
Threeflags, each of different colour, areavailable
for amilitary exercise. Using theseflags, different
codes can be generated by waving

A) Singleflag of different colours, or

B) any two flags in a different sequence of colours,
or

C) three flags in a different sequence of colours.
The maximum number of codesthat can be generated
is

1) 6 2)9 3) 15 4) 18
Match List-1 (Organisation) with List-11
(L ocation) and select thecorrect answer usingthe
codes given below thelists:

List | List Il

(Organisation) (L ocation)

A) National Sugar Institute 1) Dehradun
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B) Mishra Dhatu Nigam

Limited 2) Kamptee
C) Institute of Military Law 3) Pune
D) Institute of National
Integration 4) Hyderabad
5) Knapur
Codes A B C D
1. 3 14 2
2 5 14 3
3. 3 45 2
4. 5 42 3
Tim Montgomery set a new world record at the

IAAF Grand Prix final in theyear 2002 in

1) Long Jump 2) 110 Hurdle Race

3) 100 m Dash 4) High Jump

With reference to the work of human kidney,
consider the following statements:

1) After thewasteisremoved in thekidney, thecleaner
blood is sent back through renal artery.

2) From Bowman's capsul e, thefiltered liquid passes
through tiny tubes where much of the glucose is
reabsorbed and sent back to the blood in the renal

vein
Which of the statementsis/are correct?
1) Only 1 2) Only 2

3) Both1and 2 4) Neither 1 nor 2

A bydrogen-inflated polytheme ballon is releaser
from the surface of the earth. Astheballoon rises
to an altitude up in the atmosphere, it will

1) decreasein size

2) flatten into disc-like shape

3) increasein size

4) Maintain the same size and shape

The power to enlarge the jurisdiction of the
SupremeCourt of Indiawith respect toany matter
included in the Union List of Legislative Powers
restswith

1) The President of India

2) The Chief Justice of India

3) The Parliament

4) The Union Ministry of Law, Justice and Company
Affairs

Which one of the following High Courts hasthe
Territorial Jurisdiction over Andaman and
Nicobar Islands?

1) AndhraPradesh 2) Calcutta

3) Madras 4) Orissa

Under which Article of the Indian Constitution
did the President makeareferencetothe Supreme
Court to seek the Court's opinion on the
Constitutional validity of the Election
Commission's decision on deferring the Gujarat
Assembly Elections (inthe year 2002)?

1) Article 142 2) Article 143

3) Article 144 4) Article 145

Consider thefollowing statements:

1) Indialaunched itsfirst full-fledged meterological
satellite (METSAT) in September, 2002

2) For the first time, the space vehicle PSLV-C4
carried a payload of more than 1000 kg into a
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geosynchronous orhit.
Which of these statements i/are correct?
1) Only 1 2) Only 2
3) Both1and 2 4) Neither 1 nor
Nanda Devi peak formsa part of
1) Assam Himalayas 2) Kumaon Himalayas
3) Nepal Himalayas 4) Punjab Himalayas
Consider thefollowing statements
1) Indiaisthe original home of the cotton plant
2) Indiais the first country in the world to develop
hybrid cotton variety leading to increased production.
Which of these statementsis/are correct
1) Only 1 2) Only 2
3) Both1and 2 4) Neither 1 nor 2
Who isthe author of the book 'New Dimensions
of India's Foreign Policy?
1) A.B. Vajpayee 2) Jaswant Singh
3) Both1and 2 4) Neither 1 and 2
How did the Mughal Emperor Jahandarsha's
reign cometo an early end?
1) He was deposed by his Wazir
2) He died due to a dlip while climbing down steps
3) He was defeated by his nephew in abattle
4) He died of sickness due to too much consumption
of wine.
InIndia, amongthefollowinglocations, the Dutch
established their earliest factory at
1) Surat 2) Pulicat
3) Cochin 4) Cassimbazar
Consider thefollowing statements:
1) While members of the Raja Sabha are associated
with Committees on Public Accounts and Public
Undertakings members of Committee on Estimates
aredrawn entirely from Lok Sabha.
2) TheMinistry of Parliamentary Affairsworks under
the overall direction of Cabinet Committee on
parliamentary Affairs.
3) The Minister of Parliamentary Affairs nominates
Members of Parliament on Committees, Councs,
Borards and Commissions etc. setup by the
Government of Indiain the various ministries
Which of these statements are correct?
Dland2 2)2and3 3)land3 4)1,2and3
The Genetic Engineering Approval Committee,
whosepermission isrequired for cultivation of any
genetically modified crop such as Bt-Cotton in
India, isunder the Union Ministry of
1) Agriculture
2) Environment and Forests
2) Commerce and industry
4) Rural Development
Asper Indian Protocol, who among thefollowing
ranks highest in the order of precedence?
1) Deputy Prime Miniser
2) Former Presidnt
3) Governer of a State within his State
4) Speaker of Lok Sabha

Among the following cities, which oneisat the
highest altitude above mean sealevel?
1) Bangaore 2) Delhi
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3) Jodhpur 4) Nagpur

Consider thefollowing statements;;

1) Steam at 100°C and boiling water at 100°C contain
same amount of heat.

2) Latent heat of fusion of iceis equal to the latent
heat of vaporization of water

3) In an air-conditioner, heat is extracted form the
room-air at the evaporator coils and is rejected out
at the condenser coils.

What of these statementsis/are correct?

1)1land?2 2)2and 3

3)land3 4) Only 3

Consider thefollowing Statements:

1) Molasses is a by-product of sugar productions
process

2) bagase obtained in the sugar millsis used asafuel
inthe boilersto generate steam for the sugar factories
3) Sugar can only be produced from sugarcanes the
raw materaia

Which of these statements are correct?

l1and2 2)2and3 3)land3 4)12and3
Consider thefollowing statements:

1) Longitude of Jabalpur'slocation is between those
of Indore and Bhopal

2) Latitude of Aurangabad's|ocationisbetween those
of Vadodaraand Pune.

3) Bangaloreis situated more southward than Chennai
Which of these Statementsis/ are correct ?
1)1and3 2)Only2 3)2and3 4)1,2and3
Which one among the following States is smallest
in area?

1) Andhra Pradesh 2) Gujarat

3) Karnataka 4) Tamil Nadu

Consider thefollowing statements:

Adwheel vehiclemoveingin asharp circular path
at high speed will

1) overturn about its outer wheels

2) over turn about itsinner wheels

3) skid outwards 4) skidinwards

Which of these statements are correct?

)land3 2)2and4 3)2and3 4)land4
TheBasgue peoplewho arefrequently inthe news
for their separatist activity livein

1) France 2) Italy 3) Portugal 4) Spain
Match List-1 (High Officials) with List-11
(Organization and select, the cor rect answer using
the codes given below thelists:

List| List1l

A) C.Pjain 1. Indian Airlines

B) S. Ramadoria 2. NTPC

C) Sunil Arora 3. TCS

D) Vivek Paul 4. Wipro Technologies

Codes A B C D
1 4 13 2
2. 4 31 2
3. 2 31 4
4 2 13 4

Which one of thefollowing statementsiscorrect?
1) Liquid Sodiumisemployed asacoolant in nuclear
reactors
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2) Calcium carbonate is an ingredient of tooth paste
3) Bordeaux mixture consists of Sodium sulphate and
lime

4) Zinc amalgams are used as adental filling.
Consider thefollowing statements:

1) The Cholas defeated Pandya and Cherarulersand
established their domination over peninsular Indiain
the early medieval times

2) The Cholas sent an expedition against Sailendra
empire of South East Asia and conquered some of
the areas.

Which of these statements i/are correct?

1) Only 1 2) Only 2

3) Both1and 2 4) Neither 1 and 2
Diffusion of light in the atmosphere takes place
dueto

1) Carbon Dioxide 2) Dust Particles

3) Helium 4) Water Vapiours
InIndia, thefirst bank of limited liability managed
by Indians and founded in 1881 was

1) Hindustan Commerical Bank

2) Oudh Commercial Bank

3) Punjab National Bank 4) Punjab and Sind Bank
Which one of the following statements is NOT
correct?

1) The Press Council of Indiaisan autonomous quasi-
judicial body established under an Act of Parliament
2) The Press Information Bureau provides
accreditation to media persons so as to have easy
access to information from government sources

3) Among all the States of India, Maharashtra
Publishers the largest number of news papers

4) Press Trust of Indiaisthe largest news agency in
the country

The Government holdingin BPCL is

1) more than 80% 2) between 60% and 70%
3) between 50% and 60%

4) lessthan 50%

Consider the following statements regarding the
relations between India and Pakistan

1) During Shimla Agreement, Indira Gandhi and
Zulfikar Bhutto agreed to maintain the sanctity of
LOC

2) Lahore Summit took place in the year 1997

3) Islamabad Summit was held between Rajiv Gandhi
and Nawa] Sharif

Which of these Statementsis/are correct
1)12and3 2)1and3 3)Only2 4)Onlyl
During the Year 2000-01, which one of the
following industriesrecorded highest growth rate
in India?

1) Cement 2) Coal 3) Electricity4) Steel

An ail tanker ispartially filled with oil and moves
forward on alevel road with uniform acceler ation.
Thefreesurfaceof oil then

1) remains horizontal

2) isinclined to the horizontal with smaller depth at the
rear end

3) isinclined to the horizontal with larger depth at
therear end
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4) assumes parabolic curve

In which one of the following countriesis Rupee
itscurrency?

1) Bhutan 2) Malaysia

3) Maldives 4) Seychelles

Which one of the following countries is land
locked?

1) Bolivia 2) Peru 3) Surinam  4) Uruguay
Which one of the following countries does NOT
border the Caspian Sea?

1) Armenia 2) Azerbaijan 3) Kazakhstan 4)
Turkmenistan

The sportsperson Soma Biswasis assciated with
1) Sailing 2) Hockey 3) Golf 4) Athletics
Which oneof thefollowingisproduced during the
formation of photochemical smog?

1) Hydrocarbons 2) Nitrogen Oxides

3) Ozone 4) Athletics

Consider thefollowing statements:

1) Kitab-i-Nauras, a collection of songs in praise of
Hindu deities and Muslim saints, was written by
Ibrahim Adil Shah II.

2) Amir Khusrau was the originator in India of the
early form of the musical style known as Qawali,
Which of these statementsis/are correct

1)Only1l 2)Only2 3)Both1and24) Neitherl
nor 2

Threebellstall at intervalsof 9,12 and 15 minutes
respectively.All the three begin to toll at 8 A.M.
At what time will they first toll together again?
1) 8.45am. 2) 10.30 am. 3) 11.00 am.
4) 1.30 p.m.

Match List-1 (Distinguished Lady) with List Il
(Organisation/ Industry) and select the correct
answer using the codes given below thelists:

List-I List-II
A) Amrita Patel 1. National Diary
Development Board
B) AnuAga 2) Park Hotels
C) MdlikaSrinivasan  3) Pfizer Limited
D) Priya paul 4) Thermax Limited
5) Tractors and Farm
Equipment Limited
Codes A B C D
1 1 45 2
2. 2 41 5
3. 1 35 2
4. 2 31 5
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Consider thefollowing statements:

In the electoral college for Presidential Election
in India,

1) the value of the vote of an elected Member of
Legidlative Assembly equals

2) The vaue of the vote of an elected Member of
Parliament eugals

3) There were more than 5,000membersin the latest
election

Which of these statementsis/ are correct?
l1and2 2)Only2 3)land3 4)Only3
Which of the following statementsisNOT correct?
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DAIi Mardan Khanintroduced the system of revenue
farming in Bengal

2) MahargjaRanjit Singh set up modern foundriesto
manufacture cannonsat Lahore.

3) Sawai Jai Singh of Amber had Euclid's Elements
of Geometry

trandated into Sanskrit

4) Sultan Tipu of Mysore gave money for the
construction of the idol of Goddess Sarda in the
Shringeri temple.

Which of the following Constitutional
Amendmentsarerelated toraising thenumber of
members of Lok Sabha to be elected from the
States

1) 6th and 22nd 2) 13th and 38 th
3)7thand 31 st 4) 11th and 42nd

How did Sultan Qutab-ud-din Aibak die?

1) He was treacherously stabbed to death by one of
his ambitious nobles

2) He was killed in a battle with Taj-ud-din Yildiz,
the ruler of Ghazni who entered into a contest with
him over the capture of Punjab

3) He sustained injuries while besieging the fortress
of Kalinjar in Bundelkhand and succumbed to them
later

4) He died after afall from his horse while playing
Chaugan

Among the followong which planet takes
maximum time for one revolution around the
Sun?

1) Earth 2) Jupitor  3) Mars 4) Venus
Which one among the following languages has
largest number of speakersin theworld?

1) Bengali 2) French

3) Japanese 4) Portuguese

Which one of the following provisions was NOT
madein the Charter Act of 1833?

1) The trading activities of the East India Company
were to be abolished.

2) The designation of the supreme authority was to
be changed as the Governor-General of Indiain
Council

3) All Law-making powers to be conferred on
Governor-General in Council

4) AnIndian wasto be appointed asalaw Member in
the Governor-General's Council.

With referenceto normal human beings, consider
thefollowing statements::

1) In response to the presence of HCI, secretin is
produced from the duodenum

2) Enterogastrone is produced in the small intestine
in response to the presence of fatty acids

Which of these statementsis/ are correct?

1)Only1l 2)Only2 3)Bothland2 4) Neither 1
nor 2

100. Survey of Indiaisunder the Ministry of

1) Defence
2) Environment and Forests
3) Home Affairs 4) Science and Technology

101. Which among the following countries was the

102.

103.

104.

105.

106.

107.

108.

earliest to give women theright to vote?

1)lceland 2)India  3)NewZedand 4)U.SA

Total timetaken by apersonin goingtoaplaceby

walking and returning on cycle is 5 hours 45

minutes. Hewould havegained 2 hour shy cycling

both ways. The time taken by him to walk both

waysis

1) 6 hours45 minutes  2) 7 hours 45 minutes

3) 8hours 15 minutes 4) 8 hours 30 minutes
Sandeep Pandey, the winner of Raman

Magsaysay Award, ismainly an activist in

1) Prevention of child marriages

2) Promotion of communal harmony

3) environmental protection

4) eductaion and livelihood projects for Dalits

What wasthe main reason for a great civil strife

in Argentina recently?

1) Ethnic conflict between the native Red Indian tribes

and others.

2) Economic crisis due to huge public debt

3) Theissue of using native languages as medium of

instruction in schools

4) Clashses between government troops and

secessionist groups

With referenceto colonial rulein India, what was

sought by thellbert Bill in 18837

1) To bring Indians and Europeans on par as far as

the criminal jurisdiction of courts was concerned

2) To impose severe restrictions on the freedom of

the native press as it was perceived to be hostile to

colonial rulers

3) To encourage the native Indiansto appear for civil

service examinations by conducting themin India.

4) To allow native Indians to possess arms by

amending the Arms Act.

Animportant aspect of the CrippsMission of 1942

was

1) that all Indian Statesshould jointhe Indian Union

as a condition to consider any degree of autonomy

for India

2) the creation of an Indian Union with Dominion

status very soon after the Second World War.

3) the active participation and cooperation of the

Indian people, communities and political partiesin

the British war effort as a condition for granting

independencewith full sovereign statusto Indiaafter

war

4) the framing of a constitution for the entire Indian

Union, with no separate constitution for any province,

and a Union Constitution to be accepted by all

provinces

When Congressleader scondemned the M ontagul-

Chelms ford Report, many moder ates left the

party to form the

1) Swarajya Party 2) Indian Freedom Party

3) Independence Federation of India

4) Indaia Liberal Federation

IntheFIFA World Cup Football event in theyear

2002, the number of the goals scored by Ronaldo

of Brazil was



109.

110.

111.

112.

113.

114.

115.

116.

117.

118.

16 2)7 3)8 4)9

Which oneof thefollowing schedulesof thelndian
Constitution liststhenames of statesand specifies
their territories?

1) First 2) Second 3) Third 4) Fourth
Intheyear 2002, the President of I ndia presented
the nationa award for excellence in public
administration and management sciencesto

1) Kumarmanglam Birla 2) N.R.Narayana Murthy
3) Rahul Bajaj 4) RatanTata

'A" and 'B' aretwo fixed pointsin afield.A cyclist
'C'movessuch that D ACB isalwaysat right angle.
In this context, which one of the following
statementsiscorrect?

1) The path followed by the cyclistisan ellipse

2) The path followed by the cyclist isacircle

3) The path followed by the cyclest isan exponential
curve

4) Thistype of motion is not possible

Thethermal power plant of Bokaroislocated in
1) Bihar 2) Chhattisgarh
3) Jharkhand 4) Orissa

Among the following commaodities imported by
india during the year 2000-01, which onewasthe
highest in terms of Rupee Value?

1) Edible Oil 2) Fertilizers

3) Organic and Inorganic Chemicals

4) Pearls, precious and semi precious stones

With reference to ionic compounds, consider the
following statements:

1) lonic compounds are insolublein alcohol

2) lonic compounds in the solid state are good
conductors of electricity

Which of these statements i/are correct?

1) Only 1 2) Only 2

3) Both 1and 2 4) Neither 1 nor 2

Which one of the following statements is NOT
correct?

1) The presence of NaCl increases the rate of setting
of Plaster of Paris.

2) Gypsum is added to the cement to slow down its
rate of setting

3) dl alkaline earth metals form hydrated salts

4) barium and Strontium are found free in nature
With referenceto I ndia, which oneof thefollowing
statementsisNOT correct?

1) IPCL isIndia'slargest petrochemical company

2) RIL isthelargest private sector company in India.
3) MTNL islisted on NY SE

4) BSNL is thefirst telecom service organization in
Indiato launch anation wide cellular serviceat one
time.

Which amongst the following States has the
highest population density asper Census-2001?
1) Kerda 2) Madhya Pradesh

3) Uttar Pradesh 4) West Bengal

The Ninth Schedule to the Indian constitution
was added by

1) First Amendment
3) Ninth Amendment

2) Eighth Amendment
4) 42 nd Amendment

119.Who headed the Interim Cabinet formed in the

120.

121.

122.

123.

124.

125.

126.

127.

128.

129.

year 1946 ?

1) Rajendra Prasad 2) Jawaharlal Nehru

30 Sardar Vallabhbhai Patel

4) Rajagopoal achari

Thewaterfall 'Victoria' isassociated with theriver
1) Amazon 2) Missiouri

3) St. Lawrence 4) Zambgji

Theleader of the Bardoli Satyagraha (1928) was
1) Sardar Vallabhabhai Patel

2) Mahatma Gandhi

3) Vithalbhai J. Patel 4) Mahadev Desai

The Kellar proposals which were in the news
recently were the

1) recommendations for reformsin the power sector
2) recommendation for tax reforms

3) guidelines for the privatization of public sector
undertakings

4) guidelinesfor reducing vehicular pollution and the
promotion of CNG use

Consider thefollowing statements:

1) The joint sitting of the two houses of the
Parliament in Indiais sanctioned under Article 108
of the constitution

2) The firsrt joint sitting of Lok Sabha and Raya
Sabhawas held in the year 1961

3) Thesecond joint sitting of thetwo Houses of Indian
parliament was held to pass the Banking Service
commission (Repeal) Bill.

Which of these statements are correct ?

l1and2 2)2and3 3)land3 4)1,2,and3
Life expectancy is highest in theworld in

1) Canada 2) Germany 3) Japan 4) Norway
During the colonial periodsin India, what was
the purpose of the Whitley Commission?

1) Toreview thefitnessof Indiafor further political
reforms

2) To report on the existing conditions of Labour
and to make recommendations

3) To draw up aplan for financial reformsfor India.
4) To develop a comprehensive scheme for Civil
Servicesin India.

Octopusis

1) an arthropod 2) an echinoderm

3) ahemichordate 4) amollusc

Consider thefollowing conditionsof asick human
body :

1) Swollenlymp nodes  2) Sweating at night

3) Loss of memory 4) Loss of weight
Which of these arethe symptoms of AIDS?
1)1and?2 2)2,3and 4

3)1,3and 4 4)1,2,3,and 4

Emperor Harsha's southward march wasstopped
on the Narmadariver by

1) Pulakesin-I 2) Pulakesin-I1

2) Vikramaditya| 4) Vikramaditya-||

Under which Article of the Indian Constitution
did the President give hisassent to the ordinance
on electoral reformswhen it was sent back to him
by the Union Cabinet without making any changes



(in the year 2002)?

1) Article 121 2) Article 122

3) Article 123 4) Article 124
130. Dilip Kaur Tiwana iswell known asa

1) literateur 2) musician

3) scientist 4) sportsperson

131. Consider thefollowing statements:
1) The maximum limit of shareholding of Indian
promoters in private sector banks in Indiais 49 per
cent of the paid up capital
2) Foreign Direct Investment upto 49 per cent from
all sourcesispermitted in private sector banksin India
under the automatic route
Which of these statementsis/are correct?
1) Only 1 2) Only 2
3) Both1and 2 4) Neither 1 nor 2

132. Match List-l (Cricketer) with List -11 (Country)
and select thecorrect answer using thecodesgiven

below thelists:

List-1 List-Il

A) Barry Richards 1) England

B) Ted Dexter 2) West Indies

C) Alan Davidson 3) South Africa

D) Charlie Griffith 4) New Zeland

5) Australia

Codes A B C D
1. 3 25 1
2 5 14 2
3. 3 15 2
4. 5 24 1

133. Regarding the atom of a chemical element, the

magnetic quantum number refersto
1) Orientation 2) shape
3) size 4) spin
134. Consider thefollowing statements:
1) The common blue green algae spirogyra and
Ulthrix are found in both fresh water ponds and
oceans
2) The Chameleon can look ahead with one eye and
at the same time look behind with another
Which of these statementsis/ arecorrect?
1) Only 1 2) Only 2
3) Both 1and 2 4) Neither 1 nor 2
135. Which among the following countries has the
largest population?
1) Indonesia2) Japan  3) Pakistan 4) Sudan
Directions : The following fifteen (15) items consist of
two statements. Onelabelled asthe'Assertion(A)' and
the other as 'Reason (R)'. You are to examine these
two statements carefully and select the answers to
these items using the codes given below:
Codes:
1. Both A and R are individualy true and R is the
correct explanation of A
2.Both A and Rareindividualy truebut Ris not the
correct explanation of A
3. Aistruebut Risfase
4. Aisfasebut Ristrue
136. Assertion (A) :Emperor Akbar marched towards
Afghanistan in 1581 with a huge army

Reason (R) :He was on his way to reclaim his
ancestral country of Ferghanain Central Asia.

137. Assertion (A) : During the year 2001-02, the value
of Indiastotal exportsdeclined, registering anegative
growth of 2.17%.

Reason (R) : During the year 2001-02, negative
growth in exports was witnessed in respect of iron
and steel, coffee, textiles and marine products

138. Assertion (A) : The eastern coast of India produces
more rice than the western coast.

Reason (R) : The eastern coast receives more rain
fall than the western coast.

139. Assertion (A) :The new EXIM policy is liberal,
market-oriented and favours global trade.

Reason (R) : GATT has played asignificant rolein
the liberalisation of the economy.

140. Assertion (A) :In the periodic table of chemical
elements, electron affinity isalwaysfound to increase
from top to bottom in a group.

Reason (R) : In agroup, the atomic radii generally
increase from top to bottom.

141. Assertion (A) :Coal-based thermal power stations
contribute to acid-rain.

Reason (R) : Oxidesof carbon are emitted when coal
burns.

142. Assertion (A) : The weight of abody decreaseswith
theincrease of latitude on earth.

Reason (R) : The earth is not a perfect sphere.

143. Assertion (A) :Unsaturated fats are more reactive
compared with the saturated fats.

Reason (R) : Unsaturated fats have only single bonds
intheir structure.

144. Assertion (A) :The amount of moisture in the
atmosphere isrelated to latitude.

Reason (R) : The capacity to hold moisture in the
form of water vapour is related to temperature.

145. Assertion (A) : Unlike temperature forests, the
tropical rain forests, if cleared, can yield productive
farmland that can support intensive agriculture for
several years even without chemical fertilizers.
Reason (R) : The primary productivity of thetropical
rain forest isvery high when compared to that of the
temperate forests.

146. Assertion (A) :1n 1916, MaulanaMohammad Ali and
Abul Kalam Azad resigned from the Legislative
Council.

Reason (R) : The Rowlatt Act was passed bythe
Government in spite of being opposed by al Indian
members of the Legislative Council.

147. Assertion (A) :Shah Alam |1 spent the initial years
as an Emperor far away from his capital.

Reason (R) : There was always alurking danger of
foreigninvasion from the north-west frontier.

148. Assertion (A) :Areas lying within five to eight
degrees | atitude on either side of the equator receive
rainfall throughout the year.

Reason (R) : High temperatures and high humidity
cause convectional rain to fall mostly in the
afternoons near the equator.

149. Assertion (A) : SaluvaNarasimhaput and end to the



old dynasty and assumed the royal title.
Reason (R) : He wanted to save the kingdom from
futher degeneration and disintegration.

150. Assertion (A) : Marathas emerged as the strongest
native power in India after the decline of Mughal
empire.

Reason (R) : Marathas were thefirst to have aclear
concept of aUnited Indian Nation.

ANSWERS

1)2 2)2 3)1 4)3 5) 1 6) 3 772 81 9) 4 4
11)3 12)3  13)4 14)3 15)3  16)3 17)4 18)3  19)3 1
21)4  22)1  23)3 24)3 25)4 26)3 27)4 28)3  29)1 1
31)4  32)4  33)1 34)2 351 36)3 37)3 381 39)2 2
41)1  42)4  43)3  44)1 45)3  46)1 47)3  48)2  49)2 3
51)4 52)3  53)3 54)3 55)3 56)2 57)2 583  59)2 3
61)1 62)3  63)2 64)1 65)2 66)3 67)1 684 691 4
714  72)1  73)4  74)2 751 76)2 77)2 783 791 2
81)4 821 83)1 84)4 85)1 86)2 87)4 88)2 89)2 3
91)3  92)4  93)1 94)3 95)4 96)2 97)1 98)4  99)3 3
101)3  102)2 103)4 104)2 105)1 106)2 107)4 108)3 109) 1 2
111)2  112)3  113)2 114) 1 115)4  116)1 117)4 118)1 119)2 4
121)1  122)2  123)4 124)3 125)2 126)4 127)4 128)2 129)3 1
131)2  132)3  133)1 134)3 135)1 136)3 137)2 138)3 139)3 4
141)2  142)4  143)1 144)4 145)1 146)4 147)3 148)1 149) 1 3




GENERAT.,. STUDTES
CIVIL SERVICES — 2002

1. Consider the following financial institutions of 3. Humanrights 4. Sustainable devel opment

India: 6. Which one of the following statementsisnot cor-
1. Industrial Finance Corporation of India (IFCI) rect ?
2. Industrial Credit & Investment Corporation of In- 1. All echinoderms are viviparous
dia(ICICI) 2. Round worm has no circulatory system
3. Industrial Development Bank of India (IDBI) 3. In bony fishes, swim bladder is usually present
4. National Bank for Agricultureand Rural Develop- 4. In cartilaginous fishes, fertilization isinternal
ment (NABARD) 7. Assume that the moon takes exactly 30 days to
The correct chronological sequence of the establish- completethecycleand also assumethat it risesin
ment of theseinstitutionis the cycleand also assumethat it risesin the East
al234Db2341c3412 d4123 exactly at 6.48 p.m. on thefirst day. On thefourth
During the Indian freedom struggle, the Khudai day, at what time will it raise ?
Kidmatgars, also known as Red shirts, called for 1.8.24 p.m. 2.9.12 p.m.
1. the Union of Pashtan tribal areasin north-west with 3. 10.00 p.m. 4.11.48 p.m.
Afghanisthan 8. MatchList| (Scientists) with List I (Achievement)
2. the adoption of terrorist tactics and methods for and select thecorrect answer usingthecodesgiven
terrorising and finally outsing the colonial rulers below thelists.
3. the adoption of communist revolutionary ideology List-1 List-11
for political and social reform (Scientists) (Achievement)
4. the pathan regional nationalist unity and astruggle A. Arber and Smith 1. Developed transgenic
against colonalism Plants with Agrobacterium
Match List | (Commission) with List Il (Matter T - DNA
of Enquiry) and select the correct answer using B. Feldman 2. Discovered endonucleases
the codes given below thelists. C. Mullis 3. Discovered reversetran
List-1 List- 11 scriptase
(Commission) (Matter of Enquiry) D. Temin and 4. Discovered polymerase
A. Wadhwa 1. The assassination of Baltimore Chain reaction
Commission Rajiv Gandhi Codes:
B. Liberhan 2. Killing of Graham A B C D
Commission Staines 1. 2 1 4 3
C. Sri Krishna 3. Demalition of structure 2. 1 2 4 3
Commission at Ayodhya 3. 2 1 3 4
D.Jain Commission 4. Riotsin Mumbai in 4, 1 2 3 4
1993 9. Berber speaking community, frequently in the
Codes: news, livesin
A B C D 1. Afghanistan 2. Algeria
1 3 2 4 1 3. Argentina 4. Australia
2 2 3 4 1 10. Inthecaseof election totheL oksabha, theamount
3. 3 2 1 4 of Security deposited for general category candi-
4. 2 3 1 4 datesand SC/ST category candidatesrespectively
Consider thefollowing statements: is
1. In equatorial regions, the year is divided into 1. Rs. 5,000 and Rs. 2,500
four main seasons. 2. Rs. 10,000 and Rs. 2,500
2.In Mediterranean region summer receivesmore 3. Rs. 10,000 and Rs. 5,000
rain 4. Rs. 15,000 and Rs. 7,500
3. In Chinatypeclimate, rainfall occursthrough-  11. With referenceto Power Sector in India, consider

out the year

4. Tropical highlands exhibit vertical zonation of
different climates

Which of these statementsare correct ?
1.1,2,3and4 2.1,2and 3
3.1,2and4 4.3and 4

A World Summit with representation from all the
countrieswill beheld in Johannesburgin Septem-
ber 2002 on the subject of

1. AIDS control 2. Global terrorism

the following statements ?

1. Rural Electrification has been treated as a ba-
sic Minimum Service under the PrimeMinister’s
Gramodaya Yojana

2. 100 percent Foreign Direct | nvestment in power
isallowed without upper limit

3. The Union Ministry of power has signed a
Memoranda of Under standing with 14 states
Which of these statementsig/are correct ?



12.

13.

14.

15.

16.

17.

18.

lLlonly 2 land2 3.2and3 4.3only

A country issaid to bein adebt trap if

1. it has to abide by the conditionalities imposed by
theinternational Monetary Fund

2. it hasto borrow to make interest payments on out-
standing loans

3. it hasheen refused loansor aid by creditors abroad
4. theworld Bank charges avery high rateof interest
on outstandings as well as new loans

which one of the following statementsis correct?
1. Prions are the smallest free-living cells

2. Thecell wall of Mycoplasamsis made up of amino
sugars

3. Viroidsconsist of asingle-stranded RNA molecule
4. Rickettsias lack cell wall

Match List | (Country) with List Il (President)
and select thecorrect answer using thecodesgiven
below thelists.

List-1 List- 11
(Country) (President)
A. Congo 1. Levy Mwanawasa
B. Nigeria 2. Joseph kabila
C. Uganda 3. Olusegun Obasanjo
D.Zambia 4. Yoweri Museveni
Codes:

A B C D
1 2 3 4 1
2 3 2 1 4
3. 2 3 1 4
4 3 2 4 1

Consider thefollowing ecosystems:

1. Taiga 2. Tropical evergreen

3. Tropical deciduous 4. tundra

The correct sequence in decreasing order of the
albedo values of these ecosystemsis

1.1,4,32 2.4,1,2,3

3.4,1,32 4.1,4,2,3

Consider thefollowing statements:

Full convertibility of the rupee may mean

1. its free float with other international curren-
cies

2.itsdirect exchangewith any other international
currency at any prescribed place inside and out-
sidethe country

3.itactsjust likeany other international currency
Which of these statementsare correct ?
aland2 b.land3 c.2and3 d.1,2and3
The sea coast of which one of the following states
hasbecomefamousasa nesting place of the gaint
Olive Ridly turtlesfrom South America ?

1. Goa 2. Gujarat 3.Orissa 4. Tamilnadu
With reference to Indian satellites and their
launchers, consider the following statements:

1. All theINSAT-seriesof satelliteswerelaunched
abroad

2. PSLVswereused to launch IRS-series of satel-
lites

3. Indiaused theindigenously built cryogenic en-
ginesfor thefirst timefor poweringthethird stage
of GSLV

19.

20.

21.

22.

23.

24.

25.

26.

4. GSAT, launched in theyear 2001, had pay loads
to demonstrate digital broadcasts and internal
services

Which one of these statements are correct ?

1.1,2,3and 4 2.2,3and 4

3.1,2and 4 4.1and 3

The 93rd Constitutional Amendment deals with
the

1. Continuation of reservation for backward classe
in government employment

2. freeand compulsory education for all children
between the age of 6 and 14 years

3. reservation of 30 per cent posts for women in
gover nment recruitments

4. allocation of more number of parliamentary
seatsfor recently created states

Directions: Thefollowing 10 items consist of two
statements, one labelled as ‘Assertion A’ and the
other labelled as‘Reason R’. You are to examine
these two statements carefully and decide if the
‘assertion A’ and the ‘Reason R’ areindividually
trueand if so, whether the‘Reason R’ isa correct
explanation of the ‘assertion A’. Select your an-
swersto these items using the codes given below
and mark your answer sheet accordingly.
Codes:

1. Both A and R aretrue and R is the correct expla-
nation of A

2. Both A and R are the but R is NOT the correct
explanation of A

3. Aistruebut Risfase

4. Aisfasebut Ristrue

Assertion (A) : Drinking of Whisky increases the
frequency of urination

Reason (R) : Alcohol intake speeds up the secretion
of vasopressin in the body

Assertion (A) : Muhammad bin tuglaq left Delhi,
,and for two yearslived inacamp called Swargaswari
Reason (R) : At that time, Delhi was ravaged by a
form of plague and many people died.

Assertion (A) : Withtheincrease of temperature, the
viscosity of glycerineincreases

Reason (R) : Rise of temperature increases kinetic
energy of molecules.

Assertion (A) : The effect of labour participation in
the Indian nationalist upsurge of the early 1930swas
weak

Reason (R) : Thelabour |eaders considered theide-
ology of Indian national congress as bourgeois and
reactionary

Assertion (A) : Synthetic detergents can lather well
in hard water.

Reason (R) : Synthetic detergents form soluble cal-
cium and magnesium salts with hard water
Assertion (A) : 60°-65° latitudes in both the hemi-
sphereshavealow pressure belt instead of high pres-
sure

Reason (R) : The low pressure areas are permanent
over oceans rather than on land

Assertion (A) : Artificial satellities are always



27.

28.

29.

30.

31

32.

33.

35.

36.

launched from the earth in the east ward direction.
Reason (R) : The earth rotates from west to east and
so the satillite attains the escapr velovity

Assertion (A) : Human diet should compulsorily
contain Glycine, Serine and Tyrosin.

Reason (R) : Essential amino acids cannot be syn-
thesized in the human body

Assertion (A) : Thesurfacewindsspira inwardsupon
the centre of the cyclone.

Reason (R) : Air descends in the centre of the cy-
clone

Assertion (A) : Thesurfacewindsspira inwardsupon
the centre of the cyclone.

Reason (R) : Air descends in the centre of the cy-
clone

A complete cycle of a traffic light takes 60 sec-
onds. During each cycle the light is green for 25
seconds, yellow for 5 seconds, and red for 30 sec-
onds. At arandomly chosen time, the probability
that thelight will not begreen is

1.1/3 2. 14 3.5/12 4.7/12
Thelast oppurtunity to avoid the partition of In-
diawaslost with the regection of

1. Cripps Mission plan

2. Rgjagopalachari Formula

3. Cabinet Mission 4. Wavell Plan

With referenceto India, which one of the follow-
ing statementsisnot correct ?

1. About one-third of the area of the country records
more than 750 millimeters of annual rainfall

2. Thedominant source of irrigation in the country is
wells

3. Alluvia soil isthe predominent type of soil in the
northern plains of the country

4. the mountain areas account for about thrity per-
cent of the surface area of the country

A solid cube just gets completely immersed in
water when a 0.2 kg mass is placed on it. If the
massisremoved, the subeis2cm abovethe water
level. What isthe length of each side of the cube?
1.12cm 2.10cm  3.8cm 4.6cm
Thehistorian Barani refused to consider the state
in India under Delhi Sultansastruly Islamic be-
cause

1. themgjority of the Population did not follow Islam
2. The Muslim theol ogists were often disregarded

3. the sultan supplemented the Muslim law by fram-
ing his own regulations

4. religious freedom was accorded to non Muslims
Who among the following won the men’s single
titleat theworld Badminton Championship in the

year 2001 ?
1. Gopichand 2. Hendrawan
3. Ji Xin Pend 4. Peter Gade

With referencetothelatest developmentsin stem
cell research, consider the following statements:
1. The only source of human stem cells are the
embryosat blastcyst stage

2. The stem cells can be derived without causing
destruction to blastcysts

37.

38.

39.

40.

41.

42.

43,

44,

3. Thestem cellscan regeneratethemselvesin vitro
virtually forever

4. Indian research centres also created a few cell
lines which can be developed into many types of
tissues

Which of these statementsare correct ?
1.1,2,3and4 2.1,2and 3
3.1,2and4 4.3and 4

Intheyear 2001, NASA launched a space cr aft to
mar snamed

1. Mars Climate Orbiter 2. mars Global Oribter

3. Mars Odyssey 4. Mars Polar Lander
Consider the following climatic and geographi-
cal phenomena:

1. Condensation 2. High temperature & humidity

3.0rography 4, Vertical wind
Thunder Cloud development is due to which of
these phenomena ?

l.1land2 2.2,3and4
3.1,3and4 4.1,2,3and 4

A trader fixed thepriceof an articlein such away
that by giving a rebate of 10% in the price fixed
he made a profit of 15%. If the cost of the article
isRs. 72, thepricefixed on it is

1. Rs. 82.80 2. Rs. 90.00 3. Rs. 92.00 4. R. 97.80
Among living or ganisms, which one of thefollow-
ing is the most responsible factor for bringing
about theorigin of a new species ?

1. Isolation 2. Mutation

3. Natural Selection 4. Sexual Reproduction
For short-term climatic predictions, which one of
the following events, detected in the last decade,
isassociated with occasional weak monsoon rains
in the Indian subcontinent ?

1. LaNina 2. Movement of Jet Streams
3. Ei Nino and Southern Oscillations

4. Green house effect on global level

In the map given below, four islands of Indian
Oceanregion,i.e., (A) Seychellas, (B) Chagos, (C)
Mauritius and (D) Socotra are marked as 1, 2, 3
and 4. Match them and select the correct answer
from the codes given below.

Codes:

A B C D
1. 1 3 4 2
2. 3 1 2 4
3. 1 3 2 4
4, 3 1 4 2

“World Development Report” isan annual publi-
cation of

1. United Nations Devel opment Programme

2. International Bank of Reconstruction and Devel-
opment

3. World Trade Organisation

4. International Monetary Fund

Match List I (Ancient site) with List 1l
(Archaelogical finding) and select the correct an-
swer using the codes given below thelists.

List-1 List-11

(Ancient site) (Archaelogical finding)



45,

46.

47,

A. Lothal 1. Ploughed field

B. Kalibangan 2. Dockyard
C. Dholavira 3. Terracottareplicaof aplough
D. Banawali 4. Aninscription comprising
ten largesized signsof the
Harappan script
Codes:
A B C D
1 1 2 3 4
2 2 1 4 3
3. 1 2 4 3
4 2 1 3 4

Which one of the following statementsis not cor -

rect ?

1. The statue of Gomateshwara at Sravanabelagola

represents the last Tirthankara of Jains

2. India's largest Buddist monastery isin Arunachal

Pradesh

3. The Khajuraho templeswere built under Chandela

kings

4. The Hoysalesvaratempleis dedicated to Siva

Open stunted forests with bushes and small trees

having long roots and shar p thornsor spinesare

commonly found in

1. Eastern Orissa 2. North-Eastern Tamil Nadu

3. Siwaliks and Terai regions

4. Western Andhra Pradesh

Match List | (Articleof Indian Constitution) with

List Il (Provisions) and select the correct answer

using the codes given below thelists.

List-1 List-11

(Articleof Indian  (Provisions)

Constitution)
A.Art. 16 (2) 1. No person shall be depri-
ved of his property save
by the authority of law.

2. No person can bedis
criminated against in the
matter of public appoint
ment on the ground of

race, religion or caste.

3. All minoritieswhether
based on religion or lang
uage shall havethefunda
mental right to establish
and administer educatio
nal institutions of their
choice.

4. No citizen shall bedenied
admision into any educa
tional institution main
tained by the State, or re
ceiving State aid, on
ground of religion, race,

caste, language or any of
them

B. Art. 29 (2)

C. Art. 30 (1)

D. Art. 31 (1)

Codes:

A B
1 2 4
3 1

N WO
|_\

48.

49,

50.

51.

52.

53.

55.

3. 2 1 3 4
4, 3 4 2 1
In ancient Indian Buddhist monasteries, a
cermony called pavarana used to be held. It was
the

1. occasion to elect the Sanghaparinayaka and two
speakers one on Dhamma and the other on Vinaya
2. confession by monks of their offences committed
during their stay in the monasteries during the rainy
Season

3. ceremony of initiation of new personinto the Bud-
dhist Sangha in which the head is shaved and when
yellow robes are offered

4. gathering of Buddhist monks on the next day to
the full-moon day of Ashadha when they take up a
fixed adobe for the next four months of rainy season
Consider the volumes of the following :

1. A parallelopiped of length 5 cm, breath 3 cm
and height 4 cm

2. A cubeof each side4 cm

3. acylinder of radius 3 cm and length 3cm

4. asphereof radius3 cm

Thevolumes of thesein the decreasing order is
1.1,3,2,42.4,2313.1,234 4.4, 321
Consider thefollowing statements:

1. Indian Electricity Act, 1910

2. Electricity (Supply) Act, 1948

3. Electricity Regulatory Commission Act, 1998
4, State Electricity Boards

Which of these statementsare correct ?
1.1,2and32.2,3and43.1,2and4 4.1,3and 4
Consider thefollowing Statements:

1. TheWorld Intellectual Property Organisation
(WIPO) is a specialized agency of UN system of
organisations

2. WIPO hasitsheadquartersat Rome

3. TheTradeRelated Aspectsof I ntellectual Prop-
erty Rights (TRIPS) Agreement is binding on all
WTO members

4. Least developed country membersof WTO are
not required to apply the provisions of TRIPS
Agreement for a period of 20 yearsfrom the gen-
eral date of application of the Agreement

Which of these statementsare correct ?
1.1,2,3and4 2.2, 3and 4
3.1,2and4 4.1and3

India has the maximum volume of foreign trade
with

1. USA 2.Jagpan  3.Germany 4. UAE
Which one of the following isnot alagoon ?
1. Ashtamudi lake 2.Chilikalake

3. Periyar lake 4. Pulicat lake
Ticksand mitesareactually

1. Arachnids 2. Crustaceans

3. Insects 4. Myraapods

With reference to the blood in a normal person,
which one of the following statementsis correct?
1. Compared to arteries, veins areless numerous and
hold less of the body’s blood at any given time

2. Blood cells constitute about 70 percent of thetotal



56.

57.

58.

59.

60.

61.

volume of the blood

3. White Blood Cdll (WBC) are made by lymph nodes
only

4. The blood has more platelets than WBC

Which one of the following statementsis correct
with reference to our solar system ?

1. The Earth is the densest of al the planets in our
solar system

2. The predominent element in the composition of
earthissilicon

3. The sun contains 75 pecent of the mass of the solar
system

4. The diameter of the sun is 190 times that of the
Earth

Which one of the following statementsis not cor -
rect ?

1. The boiling point of an ageous solution is higher
than that of pure water

2. Addition of solutesto asolution causesan increase
initswater potential

3. The vapour pressure of the water in a solution is
lower than that of pure water

4. When asolution is seperated from water by asemi-
permeable membrane, water movement can be pre-
vented by applying pressure to the solution

With reference to Indian agriculture, which one
of thefollowing statementsiscorrect ?

1. About 90 percent of the area under pulsesin India
israined

2. The share of pulsesin the gross cropped are at the
national level has doubled in the last two decades

3. India accounts for about 15 percent of the total
areaunder ricein theworld

4. Riceoccupiesabout 34 percent of the gross cropped
areaof India

With reference to Sufism in Indian history, con-
sider thefollowing statements::

1. Shaikh Ahmad Sarhandi was a contemporary
of Ibrahim L odi.

2. Shaikh Nasiruddin Chirg-Dehlavi wasadesciple
of Shaikh Nizamuddin Auliya

3. Aurangzeb wasa contempor ary of Shaikh Salim
Chisti

4, The Qadiri order of Sufiswasfirst introduced
in India by Shaikh Niamtullah and Makgdum
Muhammad Jilani

Which of these statementss are correct ?
l.l1and2 2 1and3 3.2and3 4.2and4
The salaries and allowances of the judges of the
High court are charged to the

1. Consolidated fund of India

2. Consolidated Fund of the State

3. Consolidated fund of India

4. Contigency Fund of the State

Consider thefollowing plants:

1. Bougainvillea 2. Carnations

3. Cocoa 4. Grapes
Which of theseplantsarepropagated by stem cut-
tings ?

1.1and 2 2.2,3and 4
3.1,3and 4 4.1,2,3and 4

62.

63.

65.

66.

67.

68.

69.

Themember sof the Constituent Assembly which
drafted the Constitution of Indiawere

1. nominated by British Parliament

2. nominated by Governor General

3. elected by L egidative Assemblies of various prov-
inces

4, Elected by the Indian Congressand Muslim League
Atrain of length 150 metres, moving at a speed of
90 km/hr can crossa 200 metre bridgein

1. 8 seconds 2. 14 seconds

3. 6 seconds 4. 15 seconds

The ancient Indian play Mudrarakshasa of
Visakhadutt hasits subject on

1. aconflict between Gods and Demons of ancient
Hindu lore

2. aromantic story of an Aryan prince and a tribal
woman

3. the story of the power struggle between two Aryan
tribes

4. the court intrigues at the time of chandragupta
Maurya

India’s external debt increased from US $ 98,158
million asat theend of March 2000to US$ 100,225
million asat theend of March 2001 duetoincrease
in

1. multilateral and bilateral debt

2. rupee debt

3. commercial borrowings and NRI deposits

4. borrowings from International Monetary Fund
With reference to the Indian economy, consider
the following activities:

1. Agriculture, Forestry & Fishing

2. Manufacturing

3. Trade, Hotels, Transport and Communication
4. Financing, I nsurance, Real Estateand Business
services

Thedecreasing order of the contribution of these
sectors to the Gross domestic Product (GDP) at
factor cost at constant prices (2000-01) is
1.3,1,24 2.1,3,4,2

3.3,412 4.1,3,2,4

Who among the following set a new national
record in thewomen’s Pole-valut event in the 7th
edition of Senior Federation Cup held in
Karnatakain theyear 2001 ?

1. G.G. Pramila 2. Joythna Deka

3. Karamjeet kaur 4. ManishaDey

The main reason for unrest and violncein Zim-
babwe in recent yearsisdueto

1. conflict between different native ethnic groups

2. prolonged crisis over land reforms

3. economic crisisdue to continuous drought and fam-
ine

4. power struggle between political groups of white
European settlers and native black community
Match List | (Artist) with List I1 (Art) and select
the correct answer using the codes given below
thelists.
List-1
(Artist)

List - 11
(Art)



70.

71.

72.

73.

74.

75.

76.

A. Hiren Bhattacharya 1. Bharatnatyam dance
B. Malini Rajurkar 2. Hindustani vocal music
C. PratibhaPrahlad 3. Kuchipudi dance

D. Vempati China Satyam 4. Puppetry

Codes:

A B C D
1 4 2 1 3
2 3 1 2 4
3. 4 1 2 3
4 3 2 1 4

Consider thefollowing natural phenomena :
1Terrestrial heating 2. Reflection of light

3. Refraction of light 4. Diffraction of light
Due to which of these phenomena is mirage
formed?

l.1land2 2.2,3and4

3.1land3 4. 4 only

HINDALCO, an aluminium factory located at
Renukut owes itssite basically to

1. proximity of raw materials

2. abundant supply of power

3. efficient transport network

4, proximity to the market

Inthecontext of organic evolution, thelossof limbs
of snakesisexplained by the phenomenon of

1. use and disuse of organs

2. adaptation of living in burrows

3. natural selection

4. inheritance of acquired characters
Thepurposeof theinclusion of DirectivePrinciples
of State Policy in the Indian Constitution isto es-
tablish

1. Political democracy 2. Social democracy

3. Gandhian democracy

4. Social and economic democracy

Consider thefollowing statements:

The objective of the National Renewal Fund set
up in February 1992 were

1. to give training and counselling for workers
affected by retrenchment or VRS

2. redelopyment of workers

Which of these statementsig/are correct ?

1. Neither 1 nor 2 2.Bothland 2

3.1lonly 4.2 only

Consider thefollowing statements:

1. Ocean currentsarethe slow-surface movement
of water in the ocean

2.Ocean currentsassist in maintainingtheEarth'’s
heat balance

3. Ocean currents are set in motion primarly by
prevailing winds

4. Ocean currents are affected by the configura-
tion of the ocean

Which of these statementsare correct ?
l.1and?2 2.2,3and 4
3.1,3and4 4.1,2,3and4

Which country among the following has been in-
volved in twotiesin Test cricket ?

1. Austradlia 2. India

3. West Indies 4. England

7.

78.

79.

80.

Match List | (Organisation) with List Il (Head-
guarters) and select the correct answer using the
codes given below thelists.

List-1 List-11
(Organisation) (Headquarters)
A. International Atomic Energy Agency 1. Brussels
B. International Tdecommunication Union 2. Geneva

C. Council of the European Union 3. Paris
D. Organisation for Economic 4. Vienna
Cooperation and development

Codes:

A B C D
1 1 2 4 3
2 4 3 1 2
3. 1 3 4 2
4 4 2 1 3

With referencetothe Public Sector Undertakings

in India, consider thefollowing statements:

1. Mineralsand Metals Trading Coropor ation of

India Limited is the largest non-oil importer of

the country

2. Project and Equipment Corporation of India

limited isunder the Ministry of Industry

3. Oneof the objectives of export Credit guar ntee

Corporation of India Limited isto enforce qual-

ity control and compulsory preshipment inspec-

tion of various exortable commidities

Which of these statementsis/are correct ?

lLlonly 2 land2 3.2and3 4.3only

Match List | (Book) with List Il (Author) and se-

lect the correct answer using the codes given be-

low thelists.

List-1

(Book)

A. Aurobiography of
an Unknown Indian

B. India: A wounded
Civilization

List- 11
(Author)
1. Mulk Raj Anand

2.Nirad C. Chaudhari

C. Confessionsof aLover 3. R.K.Narayan
D. The English teacher 4. V.S. Naipaul
Codes:

A B C D
1 1 3 2 4
2. 2 4 1 3
3. 1 4 2 3
4 2 3 1 4

With referencetothelndian Public Finance, con-
sider thefollowing statements::

1. External liabilitiesreported in the Union Bud-
get are based on historical exchangerates

2. Thecontinued high borrowing haskept thereal
interest rates hgh in the economy
3.theupwardtrendintheratio of Fiscal deficit to
GDPin recent year s has an adver se effect on pri-
vateinvestments

4. Interest paymentsis the single largest compo-
nent of the non-plan revenue expenditure of the
Union Gover nment

Which of these statements are correct ?
1.1,,2and 3 2.1and 4



81.

82.

83.

85.

86.

87.

88.

3.2,3and4 4.1,2,3and 4

With referenceto Indian Polity, which one of the
following statementsiscorrect ?

1. Planning commission is accountable to parliament
2. President can make ordinance only when either of
the two houses of Parliament is not in session

3. Theminimum age prescribed for appointment asa
judge of the Supreme Court is 40 years

4. Nationa development Council is constituted of
Union Finance Minister and the Chief Ministers of
all the States

The correct sequence of theeastwar d flowing riv-
ersof the peninsular Indiafrom north to south is
1. Subranarekha, Mahanadi, Godavari, Krishna,
Cauvery and Vagai

2. Subranarekha, Mahanadi, Krishna, Godavari,
Cauvery and Vagai

3. Mahanadi, Subranarekha, Godavari, Krishna,
Cauvery, Pennar and Vagai

4. Mahanadi, Subranarekha, Krishna, Godavari,
Cauvery,Vagai and Pennar

TheWorld's highest ground based telescopic ob-
servatory islocated in

1. Colombia 2. India

3. Nepa 4. Switzerland

Two ladies simultaneously leave cities A and B
connected by a straight road and travel towards
each other. The first lady travels 2km/hr faster
than second lady and reaches B one hour before
the second lady reachesA.Thetwo citiesA and B
ar 24 km apart. How many kilometer s does each
lady travel in one hour ?

1.5km. 3km 2. 7km,5km

3.8km, 6 km 4. 16 km, 14 km

Consider the following names::

1. Archobishop Desmond Tutu 2. Lech Walesa
3. Shimon Peres 4. Yasser Arafat
Who among these won the Noble Peace Prize ?
l.1and?2 2.1,3and 4

3.2,3and 4 4.1,2,3and4

With which one of the following mountain tribes
did the British first come into contact with after
the grant of Diwani in theyear 1765 ?

1. Garos 2.Khasis 3.Kukis 4. tipperahs
with reference to Indian transport systems, con-
sider thefollowing statements::

1. Indianrailway system isthelargest in theworld
2. National Highways cater to 45 percent of the
total road transport demand

3. Among the states, Kerela has the highest den-
sity of surface road

4. National Highway No. 7 is the longest in the

country

Which of these statementsarecorrect ?
1.1land2 2.1and3

3.2and 3 4,2and 4

Match List I (Name of the Lady) with List Il

(Achievement) and select the correct answer us-
ing the codes given below thelists.
List-1 List-11

89.

90.

91.

92.

93.

94.

95.

(Nameof theLady) (Achievement)

A. ChinnaPillai 1. Winner of NeerjaBhanot
Award

B. Kaveri Thakur 2. Recipient of Sree Shakti
Puraskar

3. Becamethefastest swvimm
er in Asiaat ageof 16years

D. Yasoda Ekambaram4. Recipient of the Golden

Lion at Venice Film festival

C. Mira Nair

Codes:

A B C D
1 3 2 1 4
2 2 3 4 1
3. 3 2 4 1
4 2 3 1 4

With reference to the government’s welfare
schemes, consider thefollowing statements::

1. Under the Antyodaya Anna Yojana, the food
grainsareavailabletothe poorest of thepoor fami-
liesar Rs. 2 per kg for wheat and Rs. 3 per kg for
rice

2. Under the National Old Age Pension Scheme,
theold and destituteareprovided Rs. 75 per month
ascentral pension, in addition totheamount pro-
vided by most State Gover nments

3. Government of India has allocated 25 kg food
grains per below poverty line family per month,
at lessthan half the economic cost.

Which of these statements are correct ?
l.1land2 2.1and3 3.2and3 4.1,2and3
Consider thefollowing countries:

1.Brazil 2. Indonesia 3.Japan 4.Russia
What is the descending order of the size of the
following countries population - wise ?

1.1,2,4and 3 2.2,3,1and 4
3.2,1,4and 3 4.1,2,3and 4
Consider thefollowing countries:

1. Angola 2. Colombia
3. Congo 4. Sudan

Which of these countries has/have been suffering
from civil war ?

1L1lonly 22and3 3.4only 4.1,2,3and4
Whoamongthefollowingwasthefir st Bhakti saint
touse Hindi for the propagation of his message ?
1. Dadu 2. Kabir

3. Ramananda 4. Tulsidas

Inabisexual flower, if androecium and gynaecium
mature at different times the phenomenon is
known as

1. Dichogamy 2. herkogamy

3. Heterogamy 4. Monogamy
Theaverageannual temper atur e of ameteorologi-
cal station is 26°C, its average annual rainfall is
63 cm and theannual range of temperatureis9°C.
the station in question is

1. Allahabad 2. Chennai

3. Cherrapunji 4. Kolkata

With referenceto the period of extremist nation-
alist movement in Indiawith itsspirit of Swadeshi,
which one of the following statementsis not cor-



96.

97.

98.

99.

100.

101.

102.

103.

rect ?

1. Liakhat Hossian led the Muslim peasants of Barisal
intheir agitations

2. In 1898, the Scheme of national education was
formulated by Satish Chandra Mukherjee

3. The Bengal national college was founded in 1906
with Aurobindo asthe Principle

4. Tagore preached the cult of Atmasakti, the main
plank of which was social and economic regenera-
tion of the villages

In the Indian Constitution, the Right to equality
isgranted by fivearticles. They are

1. Article 16 to Article 20

2. Article 15to Article 19

3. Article 14 to Article 18

4. Article 13 to Article 17

Amit started a business by investing Rs. 30,000.
Rahul joined the business after sometimeand in-
vested Rs. 20,000. At the end of the year profit
was divided in theratio of 2: 1 After how many
monthsdid Rahul join the business ?

1.2 2.3 3.4 4.5

When the time in the wall-clock in 3.25 p.m. the
acuteangle between thehourshand and themin-
utes- handis

1. 60° 2.52v7 347" 3.4
Which one of the following amendaments to the
Indian Constitution empowers the President to
send back any mattar for reconsideration by the
Council of Ministers?

1. 39th 2. 40th 3. 42nd 4. 44th
Recently, several hundred South African soldiers
wer e sent to Burundi

1. to sidewith Tutsi tribe in the country’s civil war
2. to side with the Hutu tribe in the ongoing ethnic
conflict

3. as apart of United Nations special force to keep
control on the ethnic groups revoulting against the
government

4. as South Africa’s protection force to help mediate
and agreement between warring groups of civil war
Chapachar kut isafestival celebrated in the state
of

1. Arunachal Pradesh 2. Assam

3. Mizoram 4. Sikkim

Consider thefollowing statements:

1. NTPC isthelargest power utility in India

2. ONGC accounts for half of the LPG produc-
tionin India

3. Indian Oil Corporation operates all the il re-
fineriesin India

4. The Indian Ordinance Factory is the largest
departmentaly run industrial under takingin the

country

Which of these statementsis/are correct
1. 1only 2.2and 3
3.2,3and 4 4, 1and 4

Match List | (Oxidation number) with List 11 (The
element) and select the correct answer using the
codes given below thelists.

104.

105.

106.

107.

108.

100.

List -1 List - 11
(Oxidation (Theelement)
number)
A.2 1. Oxidation number of Mnin MnO,
B.3 2. Oxidation number of Sin H,S,0,
C.4 3. Oxidation number of Cain CaO,
D.6 4. Oxidation number of Al in NaAIH,
Codes:

A B C D
1 3 4 1 2
2 4 3 1 2
3. 3 4 2 1
4 4 3 2 1

With reference to the Indian freedom struggle,
which one of the following statementsis not cor-
rect ?

1. Hakim gimal Khan wasone of theleadersto start a
nationalist and militant Ahrar movement

2. When the Indian National Congress was formed,
Sayyid Ahmad Khan opposed it

3. The All-India Muslim League which was formed
in 1906 vehemently opposed the partition of Bengal
and seperate electorates

4. Maulana Barkatullah and Maulana Obeidullah
Sindhi were among those who formed a Provisional
Government of Indiain Kabul

The Asia-Pacific Economic Co-operation Forum
was held in theyear 2001 in

1. Bangkok 2. Hongkong

3. Jakarta 4, Shanghai

Match List | (ethnic Community) with List |1
(Country) and select the correct answer usingthe
codes given below thelists.

List-1 List-11
(ethnic Community) (Country)
A. Apatani 1. China
B. Dayak 2. India
C.Dinka 3. ldonesia
D. Uighur 4. Sudan
Codes:

A B C D
1 2 3 4 1
2. 3 2 4 1
3. 2 3 1 4
4. 3 2 1 4
Theterm of the Lok Sabha

1. Cannot be extended under any circumstances

2. Can be extended by six months at atime

3. Can be extended by one year at atime during the
proclamation of emergency

4. Can be extended for two years at atime during the
proclamation of emergency

In the year 2001, Germany approved a $ 32 mil-
lion credit to India

1. To promote primary education in selected States
2. For Tehri dam project

3. Toassistin the devel opment of nuclear power gen-
eration projects

4. For oceanographic research

Consider thefollowing :



110.

111.

112.

113.

114.

115.

116.

1. Curency with the public

2. Demand depositswith banks

3. timedepositswith banks

Which of theseareincluded in Broad M oney (M 3)
inIndia?

l.1land2 2.1and3 3.2and3 4.1,2and3
Who among the following won six gold medalsin
the 9th FINA-World Swimming championship
held in Fukuoka, Japan in the year 2001 ?

1. Grant hackett 2. lan Thrope

3. Michael Phelps 4. Roman Sloudnow

Foot-and-Mouth disease in animals, a current
wpidemicin some partsof theworld, iscaused by
1. bacterium 2. Fungus

3. Protozoan 4, Virus

Intheyear 2001, India offered agrant of fivemil-
lion dollarsto Tajikistan to

1. tackle the drought situation

2. set up a Software Technology park

3. promote mineral exploration

4. procure defence equipment

Consider thefollowing countries:

1. Albania 2. Bosnia Her zegovina
3. Croatia 4. macedonia

Which of these countries has’have Adriatic Sea
asaboundary ?

l.land2 2 1,2and33.4only 4.3and4

A hollow sphereof radiusR, ahollow cube of side
R and athin circular plate of radius R, made up
of thesamematerial, areall heated to 20°C above
room temperature. When left to cool in theroom,
which of them will reach the room temperature
first ?

1. Circular plate
3. Sphere

4. al of them will reach the room temperature at the
sametime

Which one of the following committees recom-
mended the abolition of reservation of items for
the small scale sector inindustry ?

1. Abid Hussian Committee

2. Narasimhan Committee

3. Nayak Committee

4. Rakesh Mohan Committee

India’'s population growth during the 20th cen-
tury can be classified into four distinct phases.
Match List | (Period) with List Il (Phase) and se-
lect the correct answer using the codes given be-
low thelists.

2. Cube

List-1 List-11
(Period) (Phase)
A. 1901-1921 1. Seady growth
B. 1921-1951 2. Rapid high growth
C. 1951-1981 3. Sagment growth
D. 1981-2001 4. High growth with definite
signs of slowdown

Codes:

A B C D
1 3 1 4 2
2. 1 3 2 4

117.

118.

119.

120.

121.

122.

3. 3 1 2 4
4, 1 3 4 2
Who was the first Indian lady actress to receive
the padma shri Award ?

1. Smita patil 2. Nargis Duitt

3. Meena Kumari 4. Madhubala

With reference to medival Indian rulers, which
one of the following statementsiscorrect ?

1. Alauddin khalji first set up a seperate ariz's de-
partment

2. Balban introduced the branding system of horses
of hismilitary

3. Muhammad hin tughlaq was succeded by hisuncle
to the Delhi throne

4, Firuz Tughlag set up aseperate department of slaves
Match List | (Indian Wildlife Species) with List 11
(Scientific names) and select the correct answer
using the codes given below thelists.

List-1 List-11
(Indian Wildlife Species) (Scientific names)
A.AsiaticWild ass 1. Boselaphustragocamelus
B. Barasingha 2. Cervusduvauceli

C. Chinkara 3. Equushemionus
D. Nilgai 4, Gazella gazella
Codes:

A B C D
1 2 3 1 4
2 3 2 4 1
3. 2 3 4 1
4 3 2 1 4

Themotivebehind Shah Jahan’sBalkh campaign
wasto

1. secure a friendly ruler in Balkh and Badakshan
which bordered Kabul

2. conquer Samargand and Farghana, the Mughal
homelands

3. Fix theMughal frontier onthe‘ Scientificline', the
Amu Daria

4. expand the Mughal Empire beyond the sub-conti-
nent

Consider the following high yielding varities of
cropsin India:

1. Arjun 2 Jaya 3.Padma 4. Sonalika
Which of these are wheat ?

l.l1and2 2.2and3 3.1and4 4.3and4
which one of the following submitted in 1875 a
petition to the House of Commons demanding
India’s direct representation in the British Par-
liament ?

1. The Deccan Association

2. The Indian Association

3. The Madras Mahajan Sabha

4. The Poona Sarvajanika Sabha

123. The real intention of the British to include the

princely statesin the federal Union proposed by
the India Act of 1935 wasto:

1. exercise more and direct political and administra-
tive control over the princely states

2. involve the princes actively in the administration
of the colony



124.

125.

126.

127.

128.

129.

3. finally effect the complete political and adminis-
trativetake-over of all the princely states by the Brit-
ish

4. use the princes to counter - balance the

anitiimperialist doctrines of the nationalist |leaders

When one gene controls two or more different

characters simultaneously, the phenomenon is

called

1. Apomixis 2. Pleiotropy

3. Polyploidy 4. Polyteny

Sun’s halo is produced by the refraction of light

in

1. water vapour in stratus clouds

2.icecrystals Cirro-Cumulas clouds

3.icecrystalsin Cirrus clouds

4. dust particlesin Stratus clouds

Which one of the following Articles of the Direc-

tive Principles of State Policy dealswith the pro-

motion of international peace and security ?

1.51 2. 48A 3. 43A 4.41

Which one of the following rights was described

by Dr. B.R.Ambedkar astheheart and soul of the

constitution ?

1. Right to freedom of religion

2. Right to Property

3. Right to equality

4. Right to Constitutional Remedies

With reference to the Wholesale Price Index

(WPI), consider thefollowing statements:

1. the new WPI series with base 1993-94 = 100

became effective from April 1998

2. In the new WPI series, the weight for primary

articles has gone down by 10 percentage points

3. The weight for electricity hasincreased in the

new WPI series

Which of these statementsare correct ?

1.1,2and3 2.2and 3

3.1and3 4.1and 2

Match List | (Actsof Colonial Gover nment of In-

dia) with List Il (Provisions) and select the cor-

rect answer using the codes given below thelists.

List-1 List- 1l

(Actsof Colonial Go- (Provisions)

vernment of India)

A. Charter Act, 18131. Set up aBoard of Control
inBritian tofully regulate
the East India Company’s
affairsin India

2. Company’strade mono
poly in India was ended

3. The power to govern was
transferred from the East
India Company tothe
Britian Crown

4. TheCompany’sdirectors
were asked to present to
theBritish government all
correspondence and docu
ments pertraining to the
administration of the

B. Regulating Act

C. Act of 1858

D. Pitt'sIndiaAct

130.

131.

Company

Codes:

A B C D
1 2 4 3 1
2 1 3 4 2
3. 2 3 4 1
4. 1 4 3 2
Match List | (Mangrove) with List || (Sate) and

select the correct answer using the codesgiven be-
low thelists.

List-1 List-11
(Mangrove) (State)
A. AchraRatnagiri 1. Karnataka
B. Coondapur 2. Kerela
C. Pichavaram 3. Andhra Pradesh
D. Vembanad 4. Maharastra
5. Tamil Nadu

Codes:

A B C D
1 2 1 5 4
2. 4 5 3 2
3. 2 5 3 4
4 4 1 5 2

Which one of the following Act of British India
strengthened the Viceroy’s authority over hisex-
ecutive council by substituting “ Portfolio” or de-
partmental system for cor porate functioning ?
1. Indian Council Act, 1861

2. Government of IndiaAct, 1858

3. Indian Councils Act, 1892

4. Indian Councils Act, 1909

132. The age of a man is three times the sum of the

ages of histwo sons, Fiveyearshence, hisagewill
be double of the sum of the ages of his sons. The
father’s present ageis
1. 40 years
3. 50 years

2.45years
4. 55 years

133. Thelength of thelongest polethat can be placed

in aroom 12m long and 9m wide and 8m high is
1.12m 2.14m 3.17m 4.21m

134. With reference to the human body, consider the

following statements::

1. The production of somatotropin goes up when
a per son exer cises

2. Men'stests produce progesterone

3. Women'sadrenal glands secrete testosterone
4. Sress causes the adrenalsto release very lesss
amount of cortisol than usual

Which of these statementsare correct ?
1.1,2,3and4 2.1,2and 3

3.2,3and 4 4.1and 4

135. In theyear 2001, the Prime Minister announced

afiveyear excise duty holiday for industriesin
1. Cyclone prone coastal Andhra Pradesh

2. Border states of North-East

3. Earthquake revaged Kutch district

4. Recently formed states of Chhattisgarh and
Jharkhand

136. Consider the following statementswith reference

tolndia:



137.

138.

130.

140.

141.

142.

143.

1. The Chief Election Commissioner and other Elec-
tion Commissioners enjoy equal power but receive
unequal salaries

2. The Chief Election Commissioner isentitled to the
same saary asisprovided to ajudge of the Supreme
Court

3. The Chief Election Commissioner shall not be re-
moved from his office except in like manner and on
like grounds as a judge of the Supreme Court

4. The term of office of the Election Commissioner
is five years from the date he assumes his office or
till the day he attains the age of 62 years, which ever
isearlier.

Which of these statements are correct ?

l.1and?2 2.2and 3

3.1land4 4.2and 4

In acompany 60% of the employees are men. Of
these 40% aredrawing morethan Rs. 50,000 per
year. If 36% of the total employees of the com-
pany draw morethan Rs. 50,000 per year what is
the percentage among women who are drawing
lessthan Rs. 50,000 per year ?

1.70 2.60 3.40 4.30
Consider thefollowing statements:

1. Light the longer wavelength is scattered much
morethan thelight of shorter wavelength

2. The speed of visiblelight in water is0.95 times
the speed in vaccum

3. Radio waves are produced by rapidly oscillat-
ing electrical currents

4. To detect the over speeding vehicles, police use
the Droppler effect of reflected short radio waves
Which of these statementsare correct ?
l.l1and2 2 1and3 3.2and4 4.3and4
Global capital-flows to developing countries in-
creased significantly during the nineties. In view
of the East Asian Financial Crisis and Latin
American experience. Which typeof inflowisgood
for the host country ?

1. Commercia loans

2. Foreign Direct Investment

3. Foreign Portfolio Investment

4. External Commercial Borrowings

In terms of value, which one of the following
commiditiesaccounted for thelargest agricultural
exportsby Indiaduringthethreeyear period from
1997-1998 to 1999-2000 ?

1. Cereds 2. Marine Products

3. Spices 4. Tea

In the year 2001, in which one of the following
events of Women'’s Singles did Venus Williams
defeat Serena Williamsto win thetitle ?

1. Australian Open 2001 2. French Open 2001

3. Wimbelden 2001 4. US Open 2001

The Consultative Committee of Membersof Par-
liament for Railway Zonesis contituted by the

1. President of India 2. Ministry of Railways

3. Ministry of Parliamentary Affairs

4. Ministry of Transport

Which one of the following is monogamous ?

1. wolf 2. Wdrus 3. Sed 4. Deer
144. Fiveyear Plan in Indiaisfinally approved by
1. Union Cabinet
2. President on the advice of Prime Minister
3. Planning Commission
4. National Development Council
145. Consider thefollowing countries of South Asia ?

1. Bangladesh 2. India

3. Pakistan 4. Sri Lanka

The descending order of literacy status of these
countriesis:

1.4,2,,1and3 2.2,4,3and 1
3.4,2,3and 1 4.2,4,1and 3

146. Among the following major stock exchanges of
India, the exchange which recorded highest turn-
over during theyear 2000-01 is
1. Bombay Stock Exchange
2. Calcutta Stock Exchange
3. Delhi Stock Exchange
4. National Stock Exchange

147. A busismovingwith a speed of 30 km/hr ahead of
a car with a speed of 50 km/hr. How many kilo-
metersapart arethey if it takes 15 minutesfor the
car to catch up with the bus ?
1.5km 2.75km 3.125km 4.15km

148. The President of Indian National Congressat the
time of partition of Indiawas
1. C. Rgjagopaachari 2. J.B. Kripalani
3. Jawaharla Nehru
4. Maulana Abul Kalam Azad

149. Which one of the following authorities recom-
mendsthe principles gover ning the grants-in-aid
of the revenues to the states out of the Consoli-
dated Fund of India?

1. Finance Commission 2. Inter-State Council
3. Union Ministry of Finance
4. Public Accounts Committee

150. With reference to Colonial Period of Indian his-
tory. Match List | (Person) with List 11 (Event)
and select thecorrect answer using thecodesgiven
below thelists.

List-1 List-11
(Person) (Event)
A. Macdonald 1. Doctrine of Lapse
B. Linlithgo 2. Communal Award
C. Dalhouie 3. August Offer
D. Chelmsford 4. Dyarchy
Codes:

A B C D
1 3 2 1 4
2. 3 2 4 1
3. 2 3 1 4
4. 2 3 4 1
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GENERAT.,. STUDTES
CIVIL. SE:R\?IC]ES — 2001

1. Consider thefollowing states:
1. Gujrat 2. Karnataka 5.
3. Maharastra 4. Tamil Nadu
The descending order of these states with refer-
encetotheir level of percapita Net State Domestic
Product is:

11,342 2.3,1,24 6.
3.1,324 4.3,1,4,2

2. Consider the following statements regarding the
political partiesin India: 7.

1. TheRepresentation of the PeopleAct, 1951 pro-
videsfor theregistration of Political parties
2. Regitration of Political partiesiscarried out by
the Election Commission
3. A national level political party isone which is
recognised in four or more Sates 8.
4. During the 1999 general elections, there were
six national and 48 State - level partiesrecognised
by the Election Commission. 0.
Which of these Satements are correct ?
11,2and4 2.1and3
3.2and 4 4.1,2,3and 4

3. Match List | with List Il and select the correct
answer using the codes given below thelists.
List-1 List-11

(Institute) (L ocation) 10.

A. Central Instituteof 1. Chanigarh
Medicinal and
Aromatic Plants
B. Centrefor DNA 2. Hyderabad
Finger Printing
and Diagnostics
C. Instituteof Micro 3. New Delhi
bial Technology
D. National Institute of 4. Lucknow
of Immunology

Codes::
A B C D
1 2 4 1 3
2 4 2 1 3
3. 2 4 3 1
4, 4 2 3 1
4. Match List | with List Il and select the correct

answer using the codes given below thelists.

List-1 List-11
(Bone) (Name)
A. Breast - bone 1. Clavicle 11.
B. Collar - bone 2. Patella
C. Knee-cap 3. Scapula
D. Shoulder blade 4. Sternum
Codes::

A B C D
1. 4 1 3 2
2. 1 4 3 2
3. 1 4 2 3

4 1
WhICh oneof thefollowing anlmalswas NOT rep-
resented on the seals and terracotta art of the
Harappan culture ?

1. Cow 2. Elephant

3. Rhinoceros 4. Tiger

Therange of Agni - Il missileisaround

1. 500 km 2. 2000 km

3. 3500 km 4. 5000 km
Figure

A circleof Im radiusisdrawn inside a square as

shown in thefigure given above. What isthearea

of the shaded portionin m2?

1L.@4-m) 2 (1-n2) 3.(U4-m/4)4. (1-1/d)

The approximate age of the Aravallisrangeis

1. 370 million years 2. 470 million years

3. 570 million years 4. 670 million years

Consider thefollow :

1. Market borrowing 2. Treasury hills

3. Special securitiesissued to RBI

Which of these is’are component(s) of internal

debt?

1. 1only 2.1land 2

3.2o0nly 4.1,2and 3

Match List | with List Il and select the correct

answer using the codes given below thelists.

List-1 List-11

(Article of the (Content)

Constitution)

A.Article54 1. Election of thePresident of India

B. Article75 2. Appointment of thePrimeMinis
ter and Council of Ministers

C.Article 155 3. Appointment of the Gover nor of

astate

D. Article 164 4. Appointment of the Chief Minis

ter and Council of Ministers of

a State
5. Composition of L egidative Ass-

emblies

Codes:

A B C D
1 1 2 3 4
2 1 2 4 5
3. 2 1 3 5
4, 2 1 4 3

Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List-11
(Important day) (Date)
A. World Enviromnet Day 1. March 20
B. World Forestry Day 2. June5
C.World Habitat Day 3. September 16
D.World OzoneDay 4. October 3

5. December 10



12.

13.

14.

15.

16.

17.

18.

Codes:

A B C D
1 2 1 4 5
2 1 2 4 3
3. 1 2 3 4
4 2 1 4 3

Consider thefollowing statements:

1. Tapeworm isa her maphrodite

2. Round-worm has seper ate sexes

3. Filiariais caused by a nematode

4. Guinea - worm isan annelid

Which of these are correct ?

l.1land2 2.1,2and 3

3.3and 4 4.2,3and 4

Hoysala monumnetsarefound in

1. Hampi and Hospet 2. Halebid and Belur

3. Mysore and Bangalore4. Sringeri and Dharwar
Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
(Characteristic) (particle)
A.Zeromass 1. Positron

B. Fractional change?2. Neutrino

C. Fractional spin 3. Quark
D. Integral spin 4. Phonon
Codes:

A B C D
1 2 3 1 4
2 3 2 4 1
3. 2 3 4 1
4 3 2 1 4

Consider the following statementsregarding Re-
serve Bank of India

1. It isabankar to the Central Government

2. It formulatesand administersmonetary policy
3. It actsan agent of the Gover nment in respect of
India’smembership of IMF

4. It handles the borrowing programme of Gov-
ernment of India

Which of the Satements are correct

l.1and?2 2.2,3and 4
3.1,2,3and 4 4.3and4

Consider thefollowing statements:

1. Most magmasarea combination of liquid, solid
and gas

2. Water vapour and carbon dioxidearetheprin-
cipal gasesdissolved in amagma

3. Basaltic magma ishottor than silicic magma
4. The magma solidified between sedimentary
rocksin a horizontal position isknown asdike
Which of these statementsare correct ?
al2and3b.2,3and4c.1land4 d.1,2and4
Consider the following schemes launched by the
Union Government :

1. Antyodaya Anna 2. Gram Sadak Yojana
3.Sarvapriya 4.Jawahar Gram Samridhi Yojana
Which of thesewereannounced in theyear 20007
l.1and?2 2.2and 4

3.3and 4 4.1,2and 3

Match List | with List 11 and select the correct

19.

20.

21.

22.

23.

answer using the codes given below thelists.
List-1 List-11

(Books) (Author)

A. TheSrugglein My lifel. Lech Mandela

B. TheStruggleand 2. Nelson Mandela

the Triumph
C.Friendsand Foes 3. Leonid Brezhnev
D. Rebirth 4, Zulfikar Ali Bhutto
5. Sheikh Mujibur Reh man

Codes:

A B C D
1 1 2 5 3
2 2 1 5 3
3. 1 2 3 4
4 2 1 3 4

Which oneof thefollowingisthe correct sequence
in increasing order of molecular weights if the
hydro carbons ?

1. Methane, ethane, propane and butane

2. Propane, Butane, ethane and methane

3. Butane, ethane, propane and methane

4. Butane, propane, ethane and methane

Which organelle in the cell, other than nucleus,
contains DNA ?

1. Contriole 2. Golgi apparatus

3. Lysosome 4. Mitochondrion

Map

Theshaded areain the above map showsthe em-
pireof :

1. Ala-ud-din Khilji 2. Mohammad Tughlag

3. Shahjahan 4. Aurangzeb

Consider the following statements regarding the
earthquakes:

1. The intensity of earthquake is measured on
Mercallis Scale

2. The magnitude of earthquakeisa measure of
energy released

3. Earthquake magnitudes are based on direct
measur ements of the amplitude of seismic waves
4. In the Richter-Scale, each whole number dem-
onstratesa hundredfold increasein theamount of

energy released

Which of these statementsare correct ?
1.1,2and3 2.2,3and 4
3.1and 4 4, 1and 3

Match List | with List Il and select the correct
answer using the codes given below thelists.

List-1 List-11
(Achievement in Genetics) (Scientists)
A. Discoveries of transduction 1. Khurana
and conjugation in bacteria
B. Establishing the sex-linked 2.Kornberg
inheritance
C. Isolation of DNA Polyme- 3. Lederberg
rasefrom E. Coli
D. Establishing the complete 4. Morgan
genetic code 5. Ochoa
Codes:
A B C D
1 4 3 2 1



24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

2. 3 4 1 2
3. 4 3 1 5
4, 3 4 2 1

Which article of the Constitution providesthat it
shall be the endeavour of every Sate to provide
adequate facility for instruction in the mother
tongue at the primary state of education ?

1. Article 349 2. Article 350
3. Article340 A 4, Article 351
‘Athlete’'s Foot’ is a disease caused by :
1. Bacteria 2. Fungus

3. Protozoan 4, Nematode

Intheeyedonation, which part of theeyeistrans-
planted from the donar ?
1. Cornea 2.Lens
3. Retina 4. Thewhole eye
Who among the following Indian rulers estab-
lished embassiesin foreign countries on modern
lines?
1. Haider Ali 2. Mir Qasim
3. Shah Alam 1 4. Tipus Sultan
A great landside caused by an earthquake killed
hundreds of peoplein january 2001 near
1. San Salvador 2. Sanjose
3. Managua 4. Guatemala City
Most guitaristsarebearded malse. If A represents
all males, B representsbearded malesand C rep-
resents all male guitarists, then the correct dia-
gram for their relation (shaded portion) is
1

figures

Map

Intheabove map, the black marksshowsthedis-
tribution of

1. Asbestos 2. Gypsum

3. Limestone 4. Mica

Consider the following factors regarding an in-
dustry :

1. Capital investment 2. Businessturnover
3. Labour force 4. Power consumption
Which of the following pairsis NOT correctly
matched ?
1. India'sfirst technicolour film - Jhansi Ki Rani
2. India’sfirst 3-D film - My dear Kuttichathan
3. India’sfirst insured film - Taal
4. India’sfirst actresstowinthe Bharat Ratna- Meena
Kumar
Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List- 1l
(Dancer) (Dance)
A. Kalamandalam Kshemavaty 1. Kathakali
B. Kottakkal Sivaraman 2. Manipuri
C. Lakshmi Viswanathan 3. Moniniattam
D. N. Madhabi Devi 4, Bharatnatyam
Codes:

A B C D

34.

35.

36.

37.

38.

39.

40.

41.

1 1 3 2 4
2 3 1 4 2
3. 1 3 4 2
4, 3 1 2 4

A man whoseblood group isnot known meetswith
a serious accident and needs blood transfusion
immediately. Which oneof theblood groups men-
tioned below and readily availablein the hospital
will be safefor transsfusion ?

1.O,Rh 2.0,Rh* 3.AB,Rh 4.AB,Rh*
Match List | with List 11 and select the correct
answer using the codes given below thelists.

List -1 List - 11
(Bhakti Saint) (Profession)
A. Namdev 1. Barber
B. Kabir 2. Weaver
C. Ravidas 3. Tailor
D. Sena 4, Cobbler
Codes:

A B C D
1 2 3 1 4
2 3 2 4 1
3. 3 2 1 4
4 2 3 4 1

Cloudy nights are warmer compared to clear

cloudless nights, because clouds::

1. Prevent cold waves from the sky from descending

on earth

2. Reflect back the heat given off by earth

3. Produce heat and radiate it towards earth

4. Absorb heat from the atmosphere and send it to-

wards earth

Which one of the following weather conditionsis

indicated by a sudden fall in barometer reading?

1. Stormy weather 2. Calm weather

3. Cold and dry weather 4. Hot and sunny weather
Figure

In the above figure, ABCD is a cyclic quadrilat-
eral, AB=BCand ~BAC =70°then ADCis
1. 40° 2.80° 3.110° 4. 140°

The most approximate measure of a country’s
economic growth isits:

1. Gross Domestic Product

2. Net Domestic Product

3. Net National Product

4. Per capita Real Income

The Supreme Court of Indiatender advicetothe
President on a matter of law or fact :

1. Onitsownintiative

2. Only if he seeks such advice

3. Only if thematter relatesto the Fundamenta Rights
of citizens

4. Only if the issue poses a threat to the unity and
integrity of the country

Falun Gongis:

1. An ethnic minority in Eastern China

2. Aninsurgency ouitfit in western China

3. A pro-democracy movement in China

4. A spiritual movement in China



42.

43.

45,

46.

47.

48.

49,

‘Metastasis’ isthe process by which :

1. Cellsdivide rapidly under the influence of drugs
2. Cancer cells spread through the blood or lymphatic
system to other sites or organs

3. Thechromosomesin cell nuclieare attached to the
spindle before moving to the anaphase poles

4. Cancer cells are successfully inhabited to divide
any further

TheHunter Commission was appointed after the
1. Balch-holeincident

2. Jallian wal abagh massacre

3. Uprising of 1857

4. Partition of Bengal

Who is the Scientist in whose honour the
‘Chandra’ X-ray telescope has been named ?

1. Chandrasekhar Venkat Raman

2. Jagadish Chandra Bose

3. Prafulla Chandra Roy

4. Subramanyam Chandrasekhar

The mass of a body on earth is 100 kg (acceler a-
tion due to gravity, ge = 10m/s?). If acceleration
due to gravity on the moon is : (ge/6), then the
mass of the body on themoon is

1.10/6kg 2.60kg 3.100kg 4.600kg
Who amongst the following was the first to state
that earth was spherical ?

1. Aristotle 2. Copernicus

3. Ptolemy 4, Strabo

Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
(Term) (Explanation)
A. Fiscal deficit 1. Excess of Total Expendi

ture over Total Receipts
2. Excess of Revenue Expen
ditureover Revenue Recaipts

3. Excess of Total Expendi

ture over Total Receipts

4. Excess of Total Expendi

turelessborrowingsand

B. Budget deficit
C. Revenue deficit

D. Primary deficit

Payments
Codes:
A B C D
1 3 1 2 4
2 4 3 2 1
3. 1 3 2 4
4 3 1 4 2

Consider the following organisations:

1. International Bank for Reconstruction and De-
velopment

2. International Finance Corporation

3. International Fund for Agricultural Develop-
ment

4. International Monetary Fund

Which of these are agencies of the UN ?

l.1and?2 2. 2and3

3.3and 4 4.1,2,3and4

Inan atom, theorder of fillingup of theorbitalsif
governed by :

1. Aufbau principle

50.

51.

52.

53.

2. Heisenberg's uncertainity principle

3. Hund'srule

4. Pauli’sexclusion principle

Match List | with List 11 and select the correct

answer using the codes given below thelists.

List-1 List- 1l

(Persons) (Achievement)

A. Deep Sen Gupta 1. India’syoungest Interna
tional Master in the Sangli
I nternational Chess Tour
nament, 2000

2. Thefirst Indian ever to
win agold in discussin
the World Junior Athetic
Championship in
Santiago, 2000

B. P. Harikrishna

C. Seema Antil 3. Won thetitlein theAsian
Junior Chess Tourna
ment in Mumbai, 2000
D. TgasBakre 4. Won theunder-12titlein
theworld youth Chess
Festival in Oropesa, 2000
Codes:
A B C D
1. 4 3 2 1
2. 2 4 1 3
3. 4 1 2 3
4 2 1 3 4

Under the Permanent Settlement, 1793, the
zamindars were required to issue pattas to the
farmers which were not issued by many of the
zamindars. Thereason was:

1. The zamindars were trusted by the farmers

2. Therewas no official check upon the zamindars
3. It wastheresponsibility of the British government
4. The farmers were not interested in getting pattas
If the starsare seen torise perperndicular to the
horizon by an observer, heislocated on the:

1. Equator 2. Tropic of Cancer

3. Southe Pole 4. North Pole

Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11

(Person) (Distinguished as)
A. Santhosh Yadav 1. T.V. host

B. Oprah Winfrey 2. Journalist

C. Oscar Wilde 3. Mountaineer
D. P. Sainath 4, Dramatist and Author
Codes:

A B C D
1. 3 1 4 2
2. 1 3 2 4
3. 3 1 2 4
4, 1 3 4 2

Map
In the shaded area of the above map, the mean
temperaturefor themonth of july variesbetween:
1. 22.5°C-25.0°C 2. 25.0°C-27.5°C
3. 27.5°C-30.0°C 4. 30.0°C-32.5°C



55.

56.

57.

58.

59.

60.

61.

62.

63.

The Union Budget 2000 awarded a Tax Holiday
for the North-Eastern Region to promote
industrialisation for :

1.5years 2. 7years 3.9years
Consider thefollowing statements:
1. Arya Samaj was founded in 1835
2. Lal Lajpat Rai opposed the appeal of Arya
Samaj to the authority of Vedasin support of its
social reform programmes

3. Under Keshab Chandra Sen, theBrahma Samaj
campaigned for women’s education

4. Vinoba Bhave founded the Sarvodaya Samaj
to work among refugees

Which of these statements are correct

l.1land2 2.2and3 3.2and4 4.3and4
An aqueous solution of copper suplhateisacidic
in nature because the salt undergoes:

1. Dialysis 2. Electrolysis

3. Hydrolysis 4., Photolysis

Consider the following taxes:

1. Corporation tax 2. Customsduty

4. 10 years

3. Wealth tax 4. Excise duty
Which of theseig/areindirect taxes ?
1. 1only 2.2and 4
3.1and3 4.2 and 3

TheMongolsunder ChengisKhan invaded India
duringthereign of :

1. Baban 2. Feroz Tuglag

3. llltutmish 4. Muhammad hin Tuglag
Consider thefollowing Statements:

1. The accelaration is zero when the bob passes
through the mean position

2. In each cyclethe bab attains a given velocity
trice

3. Both acceleration and velocity of the bob are
zero when it reaches its extreme position during
itsoscillation

4. The amplitude of oscillation of the simple pen-
dulum decrease with time

which of these statementsare correct ?

l.1and?2 2.3and 4

3.1,2and4 4.2,3and 4

Anand must be a vegetarian because heisa Bud-
dhist

Theargument assumesthat :

1. Most Buddhists are Vegetarians

2. All Buddhists are vegetarians

3. Only Buddhists are vegetarians

4. Most vegertarians are Buddhists

The high density of population in Nile Valley and
Island of Javaisprimarily dueto:

1. Intensive agriculture 2. Industrialisation

3. Urbanisation 4. Topographic constraints
The largest share of Foreign Direct Investment
(1997 - 2000) went to :

1. Food and food-product sector

2. Engineering sector

3. Electronics and electrical equipment sector

4. Services sector

Which one of the following duties is NOT per-

65.

66.

67.

68.

69.

formed by the Comptroller and Auditor General
of India?

1. To audit and report on all expenditure from the
Consolidated Fund of India

2. To audit and report on all expenditure from the
Contingency Funds and Public Accounts

3. To audit and report on all trading, manufacturing,
profit and loss accounts

4. To control the receipt and issue of public money,
and to ensure that the public revenueislodged inthe
exchequer

Consider thefollowing statementswith reference
to the Periodic Table of chemical elements:

1. lonisation potential gradually decreases along
aperiod

2. In a group of elements, electron affinity de-
creases as the atomic weight increases

3. In a given period, electronegativity decreases
asthe atomic number increases

Which of these statements(s) iSare correct ?
lLlonly 22only 3 l1land3 4.2and3
Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List-11

(Sunstance) (Physiological role)
A. Ptyalin 1. Convertsangiotensinogen

in blood into angiotensin
B. Pepsin 2. Digest starch
C. Renin 3. Digestsproteins
D. Oxytocin 4. Hydrolysesfats

5. Induces contraction of

smooth muscles

Codes:
A B C D

1 2 3 1 5
2. 3 4 2 5
3. 2 3 5 1
4. 3 1 2 4

Which one of the following pairs is incorrectly
matched ?

1. Harappan Civilization - Painted Grey Ware

2. The Kushans - Gandhara School of Art

3. The Mughals - Ajanta Paintings

4. The Marathas - Pahari School of Painting

A radioactive substance hass a half-life of four
months. Three-fourth of the substance would de-

cay in
1. 3 months 2. 4 months
3. 8 months 4. 12 months

Thefollowing table shows the per centage change
in the consumption of electricity by five townsP,
Q,R, S, T from 1986 - 1988

Percent change

Town From From
1986t0 1987  1987t0 1988

P +8 -18

Q -15 +11

R +6 +9

S -7 -5

T +13 -6



70.

71.

72.

73.

If town T consumed 500,000 unitsin 1986, how

much did it consumein 1988 ?

1. 371,000 units 2. 531,100 units

3. 551,100 units 4. 571,100 units

Consider thefollowing statementsmade about the

Sedimentary rocks:

1. Sedimentary rocks are formed at earth’s sur-

face by the hydrological system

2. Theformation of sedimentary rocks involves

the weathering of pre-existing rocks

3. Sedimentary rocks contain fossils

4. Sedimentary rockstypically occur in layers

Which of these statements are correct ?

l.1land2 2.1and 4

3.2,3and4 4.1,2,3and 4

Match List | with List 11 and select the correct

answer using the codes given below thelists.

List-1 List-11

(Publisher) (Publication)

A.Ministry of Industry 1. Report on Currency
and Finance

B. Central Stastical 2. Economic Survey

Organisation
C. ReserveBank of India 3. Wholesale Price
I ndex
D. Ministry of Finance 4. National Accounts
Statistics
Codes:
A B C D
1 4 3 2 1
2 3 4 1 2
3. 4 3 1 2
4 3 4 2 1

Which of thefollowing distance- timegraph (x-t)
representsone-dimensional uniform motion ?

1.Figures

Match List | with List Il and select the correct
answer using the codes given below thelists.

List-1 List-11
(Award/Prize) (Receipient)
A. Indira Gandhi Prizefor peace, 1.Archibiship
Disarnament and Development ~ Desmond Tutu
B. Jamnalal Bajaj Award 2. Dr. Gurudev
Khush
C. International Gandhi 3.Dr.M.S.
Peace prize Swaminathan
D. Wolf Prize 4. Nelson
Mandela
Codes:
A B C D
1 1 3 4 2
2 3 1 4 2
3. 1 3 2 4
4 3 1 2 4

74. Which one of the following statements correctly

describesthe Fourth Scheduleof the Constitution
of India?
1. It liststhedistribution of powersbetween theUnion

75.

76.

77.

78.

79.

80.

81.

82.

and the States

2. It contains the languages listed in the Constitution
3. It contains the provisions regarding the adminis-
tration of tribal areas

4. It alocates seats in the Council of States
Epiphytesareplantswhich depend on other plants
for

1. Food 2. Mechanical support

3. Shade 4. Weater

Which among thefollowing portswas called Babul
Makka (Gate of Makka) during the Mughal pe-
riod ?

1. Cdlicut 2. Broach

3. Cambay 4. Surat
Apersontravelsfrom X toY at aspeed of 40 kmph
and returns by increasing hisspeed by 50% .What
ishisaverage speed for both thetrips?

1. 36 kmph 2. 45 kmph

3. 48 kmph 4. 50 kmph

Volcanic eruptions do not occur in the

1. Baltic Sea 2. Black Sea

3. Caribbean Sea 4, Caspian Sea

Who among the following leaders proposed to
adopt complete Independence as the goal of the
Congressin the Ahmedabad session of 1920 ?

1. Abul Kalam Azad 2. Hasrat Mohani

3. Jawahar Lal Nehru

4. Mohandas Karamchand Gandhi

Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List- 1l

(Sportswomen) (Sport)

A. Anjali Vedpathak 1. Athletics

B. Mouma Das 2. Gymnastics
C. Neelam Singh 3. Rifle Shooting
D. Tumpa Debnath 4. Table Tennis
5. Chess

Codes:

A B C D
1 3 4 2 5
2. 4 3 1 2
3. 4 3 2 5
4 3 4 1 2

A class of animalsknown asMar supilasisachar-
acteristic featureof :

1. Africa 2. Augtrdlia

3. South America 4. South-east-Asia
Thelocation of the space or ganisation units have
been marked in the given map as 1, 2, 3 and 4.
Match these units with the list given below and
select the correct answer using the codes given
below the list

List:
Map

A.1.SR.O B.I.I.R.S
C.N.R.SA. D.SA.C
Codes:

A B C D
1. 4 1 2 3
2. 1 4 3 2



83.

85.

86.

87.

88.

89.

90.

91.

92.

93.

3. 1 4 2 3
4, 4 1 3 2
Which of thefollowing pair siscorrectly matched?
1. Dewan-i-bandagani - Firoz Tuglaq

2. Dewan-i-Mustakhrgj - Balban

3. Dewan-i-kohi - Allauddin Khilji

4. Dewan-i-Arz - Muhammad Tuglaq
Quartziteismetamor phosed from :

1. Limestone 2. Obsidian
3. Sandstone 4, Shdle
Theearlier name of WTO was:

1. UNCTAD 2.GATT
3. UNIDO 4. OECD

In what way doesthe Indian Parliament exercise
control over theadministration ?

1. Through Parliamentary Committees

2. Through Consul ative Committees of various min-
istries

3. By making the administrators send periodic re-
ports

4. By compelling the executive to issue writs
Antigen isa substance which :

1. Destroys harmful bacteria

2. Isused to treat poisoning

3. Lowers body - temperature

4, Stimulates formation of antibody

Who among the following organised the famous
Chittagong armoury raid ?

1. Laxmi Sehgal 2. Surya Sen

3. Batukeshwar Datta 4. J.M.Sengupta
Solvethe given equations.

X2+y2=34

X4 - y4 =544

Thevalues of xand y are

1.+4,+3 2.+45+3 3.+3,+5 4.+3,+4
Consider the decadal census data given below :
Decadal population (in millions)

Year Population
1961 10.7
1971 14.3
1981 16.2
1991 18.9

Theabovedatarefer towhich oneof the‘popula-
tion by religion’ groups ?

1. Sikhs 2. Jains

3. Christians 4. Buddhists

Which of thefollowing committees examined and
suggested Financial Sectr reforms ?

1. Abid Hussain Committee

2. Bhagwati Committee 3. Chelliah Committee

4. Narasimham Committee

In which one of the following cities is the
Linggggaraja Temple located ?

1. Bhubaneswar 2. Bijapur

3. Kolkata 4. Shravanabelagola

A worker reaches hisfactory 3 minuteslateif his
speed from his houseto the factory is5 km/hr. I
he walks at a speed of 6 km/hr, then he reaches
the factory 7 minutes early. The distance of the
factory from hishouseis:

94,

95,

96.

97.

98.

99.

100.

101.

102.

103.

1. 4km 2. 5km 3. 6km 4. 7km

A London branch of the All IndiaMuslim L eague

was established in 1908 under the presidency of :

1. AgaKhan 2. Ameer Ali

3. Liaquat Ali Khan 4. M.A. Jinnah

Which of the following features of DNA makes it

uniquely suited to store and transmit genetic in-

formation from generation to generation ?

1.Complementarity of the two strands

2. Double helix

3. Number of base-pairs per turn

4. Sugar - phosphate backbone

Two wires have their lengths, diameters and

resistivities, all in theratioof 1: 2. If theresis-

tanceof thethinner wireis10 ohmss, theresistance

of thethicker wireis:

1.500hms 2.100hms 3.20cohms 4. 40 ohms
Map

The above map isthe Union Territory of :

1. Chandigarh 2. Daman and Diu

3. Dadraand Nagar Haveli 4. Pondicherry

Identify the correct order of the processes of soil-

erosion from thefollowing :

1. Splah erosion, sheet erosion, Rill erosion, Gully

erosion

2. Sheet erosion, Splash erosion, Gully erosion, Rill

erosion

3. Rill erosion, gully erosion, Sheet erosion, Splash

erosion

4. Gully erosion, Rill erosion, Sheet erosion, Splash

erosion

The new series of wholesale price index (WPI)

released by the Government of Indiaiswith ref-

erence to the base prices of

1.1981-82 2.1990-91
3.1993-94 4. 1994-95

The chess player Alexi Shirov represents
1. Albania 2. Kazakhstan

3. Russia 4. Spain

Consider the following organisations:

a. Atomic Minerals Directorate for Research and
Exploration

b. Heavy Water Board

¢. Indian Rare EarthsLimited

d. Uranium Corporation of India

Which of these is/are under the department of
Atomic Energy ?

1. aonly 2.aandd

3.b,candd 4.a,b,candd

Who among the following, was the President of
theAll-India States ‘ Peoples’ conferencein 1939?
1. Jaya Prakash Narayan 2. Jawahar Lal Nehru

3. Sheikh Abdullah 4. Sardar Vallabhai patel
Consider the following statements about the mi-
noritiesin India:

a. TheGovernment of Indiahasnotified five com-
munitiesnamely, Mudlims, Sikkhs, Christians, Bud-
dhistsand Zoroastrainsas Minorities.

b. The National Commission for minorities was
given statutory statusin 1933



104.

105.

106.

107.

108.

100.

110.

c. Thesmallest religiousminority in Indiaarethe
Zorastrians
d. The constitution of India recognizes and pro-
tectsreligiousand linguistic minorities
Which of these statements are correct ?
l.bandc 2.aandd
3.b,candd 4.a,bandd
The temperature and rainfall of meteorological
station are given below :

J F M A M J
Temperature(®’C) 9.4 10.6 11.712.2 13.3 13.9
Rainfall(CM) 12291 79 25 18 03

J A S O N D
Temperature(®’C) 13.9 14.4 15.615.0 13.3 10.6
Rainfall(CM) - - 08 25 6.1 117
Average Temperature : 12.8°C
Average Rainfall : 54.9 cm per annum
| dentify the region having the avove climatic pattern
from amongst the following :
1. Mediterranean 2. Monsoon region
3. Steppe region 4. N.W. European region
Thethemeof theWor Id Development Report, 2001
is:
1. From plan to market
2. knowledge for devel opment
3. Attacking poverty
4. The statein the changing world
Which of the following cell organ elles play the
most significant rolein protein synthesis ?
1. Lysosome and Centrosome
2. Endoplasmic reticulum and Ribosome
3. Golgi apparatus and Mitochodria
4. Lysosome and Mitichondria
In which one of thefollowing areas doesthe state
government NOT have control over itslocal bod-
ies?
1. Citizen'sgrievances 2. Financia matters
3. Legidation 4. Personnel matters
A conveyyer belt deliversbaggage at therateof 3
tonsin 5 minutes, and a second conveyer belt de-
livers baggage at the rate of 1 ton in 2 minutes.
How much time will it take to get 33 tons of bag-
gage delivered using both the conveyer belts ?
1. 25 minutes and 30 seconds
2. 30 minutes 3. 35 minutes
4. 40 minutes and 45 seconds
Who amongst the following Englishmen, first
translated Bhagavad Gitainto English ?
1. William Jones 2. Charles Wilkins
3. Alexander Cunningham 4. John Marshall
Consider the following statements regarding the
High courtsin India:
a. There are eighteen High courtsin the country
b. Threeof them havejurisdiction over morethan
one state
c. Nounion territory hasa High Court of itsown
d. Judgesof theHigh Court hold officetill theage
of 62
Which of these statementsig/are correct ?
l.abandd 2.bandc

111.

112.

113.

114.

115.

3.aandd 4.donly

Theterm National incomerepresents:

1. Gross national product at market prices minus de-
preciation

2. Gross national product at market prices minus de-
preciation plus net factor income from abroad

3. Gross national product at market prices minus de-
preciation and indirect taxes plus subsidies

4. Gross national product at market prices minus net
factor income from abroad

Match list | with list Il and select the correct an-
swer using th codes given below thelists:

Listl List 1l
(L ocal Wind) (Region)
A. Fohn 1. Argentina
B. Samun 2. Kurdistan
C. SantaAna 3. California
D. Zonda 4. Alps
Codes:

A B C D
1 2 4 1 3
2 4 2 3 1
3. 2 4 3 1
4 4 2 1 3

Thegiven map showsfour townsof Central Asian
region marked as 1, 2, 3 and 4. Indentify these
from the following list and select the correct an-
swer using the codes given below :

Towns: A.Bishkek B. Ashkhabad

C. Tashkent D. Dushanbe
Codes:

A B C D
1 3 1 2 4
2 3 1 4 2
3. 1 3 2 4
4 1 3 4 2

Mekong Ganga co-operation project is:

1. Anirrigation project involving Indiaand Myanmar

2. A joint tourism intiative of some Asian countries

3. A hydroelectric power project involving India,

Bangladesh and Myanmar

4. A defence and security agreement of Indiawithits

eastern neighbours

Match list | with list Il and select the correct an-

swer using th codes given below thelists:

Listl List 1l

(Amendmentstothe  (Contents)

Constitution)

A. The Constitution
(Sixty-ninth amend-
ament) Act, 1991

B. The Constitution
(Seventy-fifth amend

ament) Act, 1994

C. The Constitution

(Eightieth amend
ment) Act, 2000

D. The Constitution
(Eighty-third-amend
ament) Act, 2000

1. Establishment of state
level rent tribunals

2.Noreservationsfor sch
edule castesin Panchayats
in Arunachal Pradesh

3. Constitution of Pancha
yatsin villages or at
other local levels

4. Accordingthestatusof
National Capital Terri
tory of Delhi



Codes:

wN R
B oR o>
U~ 0l m
AwwhQO

D
2
4
. 4
4, 2
116. Water isfilled in a container in such a manner
that its volume doubles after every five minutes.
If it takes 30 minutesfor the container to befull,
in how much timewill it be one-fourth full ?
1. 7 minutes and 30 seconds 2. 10 minutes
3. 20 minutes 4. 25 minutes
117. Thelargest number of Buddhist isfound in :
1. Bihar 2. Karnataka
3. Maharastra 4, Uttar pradesh
118. Who amongst the following was the Chair man of
[.S.R.O. when INSAT-3B was launched ?
1. Anil Kakadkar 2. Abdul Kalam
3. K.Kasturirangam 4. U.R.Rao
Directions: Thefollowing 12 (tewlve) items con-
sist of two statements, one labelled asthe * Asser -
tion A’ and other as‘Reason R’. You areto exam-
ine these two statements carefully and decide if
the'Assertion A’ and the‘Reason R’ areindividu-
ally true and if so, whether the ‘Reason R’ isthe
correct explanation for the given ‘Assertion A'.
Select your answer sto theseitemsusing the codes
given below and mark your answer sheet accord-
ingly :
Codes:
1. 1. Both A and R aretrueand R is the correct
explanation of A
2. Both A and R areindividually trur but R is
NOT the correct explanation of A
3. Aistruebut Risfalse
4. Aisfalsebut Ristrue
119. Assertion (A) : The Battle of Khanua was certainly
more decisive and significant than the first Battle of
Panipat
Reason (R) : Rana Sanga, the Rajput hero, was cer-
tainly amoreformidable adversary than I brahim L odi
120. Assertion (A) : Anticyclonic conditions are formed
in winter season when atmospheric pressure is high
and air temperatures are low
Reason (R) : Winter rainfall in Northern Indiacauses
development of anticylonic conditionswith low tem-
peratures
121. Assertion (A) : Harshavardhanaconvened the Prayag
Assembly
Reason (R) : He wanted to popularise only the
Mahayanaform of Buddism
122. Assertion (A) : A stick isdipped inwater in aslant-
ing position. If observed sideways, the stick appears
short and bent at the surface of water
Reason (R) : Thelight coming from the stick under-
goes scattering from water mol ecules giving the stick
ashort and bent appearences
123. Assertion (A) : There was an increase in industrial
production during 1999-2000
Reason (R) : The period witnessed astable exchange

rate and improved busi ness sentiments

124. Assertion (A) : A piece of copper and a piece of
glass are heated to the same temperature. When
touched, thereafter, the copper piece appears hoter
than the glass piece
Reason (R) : Thedensity of copper ismore than that
of glass

125. Assertion (A) : India ssoftware exportsincreased at
an average growth rate of 50% since 1995-96
Reason (R) : Indian software companies were cost
effective and maintained international quality

126. Assertion (A) : A chemical reaction becomes faster
at higher temperatures
Reason (R) : At higher temperatures, molecular
motion becomes more rapid

127. Assertion (A) : Ceiling on foreign exchange for a
host of current account transaction heads was low-
ered in the year 2000.

Reason (R) : There was a fall in foreign currency
assetsalso

128. Assertion (A) : Theboiling point of water decreases
asthe dtitude increases
Reason (R) : Theatmospheric pressureincreaseswith
atitude

129. Assertion (A) : Scinetists can cut apart and paste to-
gether DNA moleculesat will, regardless of the source
of the molecules.

Reason (R) : DNA fragments can be manipulated
using restriction endonucleases and DNA ligases.

130. Assertion (A) : During the Neap Tides, the high tide
islower and the low tide is higher than usual
Reason (R) : The Neap Tide, unlike the spring tide,
occurson t he new moon instead of on thefull moon.

131. The prices at which the government purchases
food grains for maintaining the public distribu-
tion system and for building up buffer stocksis
known as:

1. Minimum support prices
2. Procurement prices 3. Issue Prices
4. Ceiling prices

132. Thetheme of Indian science congress, 2001 was:

1. ‘Food nutrition and environmental security’
2. 'Arrest declaining interest in pure sciences
3. ‘Make Indiaenergy self-sufficient’

4. ‘Make Indial.T. superpower’

133. A city has a population of 3,00,000 out of which
1,80,000 are males. 50% of the populationisliter-
ate. If 70% of the males are literate, the number
of literatefemalesis:

1.24,000 2.30,000 3.54,000 4.60,000

134. Consider the following statements regar ding en-
vironmental issue of India:

A. Gulf of Mannar isoneof thebiospherereserves
B. The Ganga action plan, phase Il has been
merged with the National River Conservatgion
plan

C. The National Museum of Natural History at
New Delhi impartsnon-formal education in envi-
ronment and conservation

D. Environmental information system (ENVIS)



135.

136.

137.

138.

139.

140.

141.

142.

actsasdecentralised information network for en-
vironmental infor mation
Which of these statementsare correct ?

1.1,2and3 2.1,2,3and 4

3.2and 3 4.1,3and 4

Which one of the following isNOT radio active?
1. Astatine 2. Francium

3. Tritium 4. Ziroconium

The American multinational company M onsanto
has produced an insect-resistant cotton variety
that is undergoing field - trailsin India. A toxin
gene from which ONE of the following bacteria
has been transferred to thistransgenic cotton ?
1. Bacillus subtilis 2. Bacillusthurigiensis

3. Bacillusamyloliquifanciens

4. Bacillus globlii

Which oneof the Cholakingsconquerred Ceylon?
1. Adityal 2. Rgjargjal

3. Rgendra 4. Vijayaaya

When lightwaves passfrom air to glass, the vari-
able affected are:

1. Wavelength, frequency and velocity

2. Velocity and frequency

3. Wavelength and frequency

4. Wavelength and Vel ocity

In a survey, it was found that 80% of those sur-
veyed owned a car while 60% of those surveyed
owned a mobile phone. If 55% owned both a car
and a mobile phone, what surveyed owned a car
or amobile phone or both ?

1. 65% 2. 80% 3. 85% 4.97.5%
Consider the following statements regarding the
Armed forces:

1. First batch of women pilots was commissioned
in Indian Air Forcein 1996

2. Officer’s Training Academy is located in
Nagpur.

3. Southern Command of Indian Navy has its
headquartersat Chennai

4. One of the Regional Headquarters of Coast
Guard islocated at Port Blair

which of these statementsare correct ?
1.1,2,3and4 2.2,3and 4

3.3only 4. 4 only

Consider the following statements regarding
power sector in India:

a. The installed capacity of power generation is
around 95000 MW

b. Nuclear plants contribute nearly 40% of total
power generation

c. Hydroelectricity plants contribute nearly 40%
of total power generation

d. Thermal plants at present account for nearly
80% of total power generation

Which of these statementsig/are correct ?
l.aonly 2 bandc 3.candd 4.aandd

If anew state of theIndian Unionisto becreated,
which one of the following schedules of the Con-
stitution must be amended ?

1. First 2. Second

143.

144.

145.

146.

147.

148.

149.

150.

3. Third 4. Fifth

When water is heated from 0°C to 10°C, its vol-
ume :

1. Increases

3. Does not change
4. First decreases and then increases

Thecelluar and molecular control of programmed
cell death isknown as:

1. Apoptosis 2. Ageing

3. Degeneration 4. Necrosis

Natioanl Agricultural Insurance Scheme replac-
ing Comprehensive Crop I nsurance Scheme was
introduced in the year :

1. 1997 2. 1998 3. 1999 4. 2000
Who among thefollowing presided over the Bud-
dhist Council held during thereign of Kanishka
at Kashmir ?

1. Parsva 2. Nagarjuna

3. Sudraka 4. Vasumitra

Consider thefollowing statements:

In a nuclear rector, self-sustained chain reaction
ispossible, because

a. More neutrons are released in each of the fis-
sion reactions

b. The neutronsimmediately take part in the fis-
sion process

c. Thefast neutrons are slowed down by Graph-
ite

d. Every neutron released in the fission reaction
intiatesfurther fission.

Which of these statementsare correct ?
l.abandc 2.aandc

3.bandd 4.b,candd

In 1930, a per son’sagewas 8 timesthat of hisson.
In 1938, the father’sage becameten timesthat of
his son’s age in 1930. The ages of the son and fa-
ther in 1940 were, respectively

1. 16 years, 58 years 2. 15years, 50 years

3. 14 years, 42 years 4. 13 years, 34 years
Match List | with List 11 and select the correct
answer using the codes given below thelists.

2. Decreases

List-1 List-11
(Country) (President)
a. Columbia 1. Vicente Fox
b. Philippines 2. Hugo Chavez
c. Mexico 3.GloriaMacapagal Arroya
d. Venezuela 4. Andres Pastranak
Codes:

A B C D
1 4 3 2 1
2. 3 4 2 1
3. 4 3 1 2
4. 3 4 1 2

figure

Theannual agricultural production of a product
for the period 1991-92 to 1998-99 is shown in the
figure given above. Which one of the followingis
the product in questions ?

1. Pulses 2. Wheat

3. Oilseeds 4. Rice
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GENERAT.,. STUDTES
CIVIL SERVICES — 2000

1. Match List | (books) with List Il (authors) and

select the correct answer using the codesgiven be-
low thelists.

List -1 List - 11
A. My Music 1. Laxman Gaikwad
B. Adha Gaon 2. Rahi Masoom Raza
C. Radha 3. Ramakanta Rath
D. ThePilferer 4, Ravi Shankar
Codes:

A B C D
1 3 2 4 1
2 4 2 3 1
3. 4 1 3 2
4 3 1 4 2

Examinethefollowingrelationshipsamong mem-
bersof afamily of six personsA, B, C,D,Eand F.
1. Thenumber of males equalsthat of females
2.Aand E aresonsof F
3. D isthemother of two, one boy and onegirl
4. B istheson of A
5. Thereisonly onemarried couplein the family
at present
Which one of the following inferences can be
drawn from the above ?
a A, B and C are the females
b. A isthe husband of D
c. Eand F are children of D
d. D isthe grand daughter of F
Which one of thefollowing isknown asthe* Cof-
fee port” of theworld ?
1. Sao Paulo 2. Santos
3. Rio de Janeiro 4. Buenos Aires
Resurgent India bonds were issued in US dollar,
Pound Sterling and
1. Japanese Yen 2. Deutsche Mark
3. Euro 4. French Franc
Thegiven diagram showsthenumber of students
who failed in an examination comprising papers
in English, Hindi and M athematics. Thetotal num-
ber of students who took thetest is 500. What is
the percentage of students who failed in atleast
two subjects ?

Figure

1.68 2.7.8 3.3 4.39
At which one of the citieslabelled as A, B, C and
D on the given map of Europe was the historic
treaty between NATO and War saw Pact countries
signed in 1998 ?

Map

LA 2.B 3.C 4.D

Match List | (Power generation plant) with List
Il (feed material) and select the correct answer
using the codes given below thelists.

10.

12.

13.

List -1l
1. Rice husk

List -1

A. M/s Gowthami
Solvents Oil Limited

B. M/sK.M. Sugar 2. Slaughter house
Mills, UttarPradesh = Waste

C. M/s Satia Paper 3. Digtillery spent

Mills, Pubjab Wash
D. M/s Alkabeer 4. Black liquor

ExportsLimited

Andhra Pradesh
Codes:
A B C D

1 3 1 2 4
2 3 1 4 2
3. 1 3 4 2
4 1 3 2 4

Inacertain code, MARCH iswritten asOCTEJ,
how isRETURN written in that code ?

1. TFUVSM 2. QGSTQM

3. TGVWTP 4. TGRVSO

Thegiven map refersto the kingdom of
Map

1. Akbar at the time of capture of Khandesh in 1601
2. Akbar at the time of his death in 1605

3. Aurangzeb at the time of capture of Hyderabad

4. Aurangzeb at the time of hisdeath in 1707

The sensation of fatigue in the muscles after pro-
longed strenuous physical work is caused by

1. A decrease in the supply of oxygen

2. Minor wear and tear of muscle fibres

3. The depletion of glucose

4. The accumalation of lactic acid

Consider thefollowing events:

1. Reign of Krishna Deva Raya of Vijayanagar

2. Construction of Qutab Minar

3. Arrival of Portugesein India

4. Theaccumulation of lactic acid

Thecorrect chronological sequenceof theseevents
is:

1.2,431 2.2,4,1,3

3.4,2,1,3 4.4,2,3,1

A, B, C, D, E and F not necessarily in that order
aresittingin six chairsregularly placed around a
round table. It isobserved that :

A isbetween D and F

CisoppositeD

D and E arenot on neighbouring chair swhich one
of thefollowing must betrue?

1. A isopposite B 2. D isopposite E

3. C and B are neighbours

4. B and E are neighbours

Thegiven map showslocationsof air portslabelled
asl, 2,3, 4and 5. What isthecorrect sequence of
theairportsin which thehijacked Indian Airlanes
plane|C-814 landed after itsinitial take off from



14.

15.

16.

17.

18.

Kathmandu in December 1999 ?

Map
1.31,24 2.2,4,1,3
3.54,2,3 4.5,1,3,2

Consider thefollowing statements:

The Minsterial meeting of WTO held in Decem-
ber 1999 was unsuccessful because it attempted
tolink tradewith

1. labour related issues

2. environment related issues

3.terriosim related issues

4, debt related issues

which of these statements are correct answer the
using the codes given below thelists.
1.1,3and4 2.1land 2

3.2and 3 4.2and 4

Match List | with List Il and select the correct
answer using the codes given below thelists.

List -1 List - 11

(Artists) (Mediums of Music delivery)
A.Balamurali Krishna 1. Hinustani vocal

B. Mita Pandit 2. Ghatam

C. Kanyakumari 3. Sitar

D. Nikhil Bannerjee 4. Violin

5. Carnatic vocal

Codes:

A B C D
1 5 1 2 3
2 4 3 1 2
3. 3 1 5 2
4 5 4 1 3

Aluminium surfaces are often ‘anodised’, This
means the deposition of a layer of

1. Chronium oxide 2. Aluminium oxide

3. Nickel oxide 4. Zinc oxide

Match List | with List Il and select the correct
answer using the codes given below thelists.

List-1 List-11
A.lqgta 1. Marathas
B. Jagir 2. Delhi Sultans
C.Amaram 3. Mughals
D. Mokasa 4. Vijayanagara
Codes:

A B C D
1 3 2 1 4
2 2 3 4 1
3. 2 3 1 4
4. 3 2 4 1
Consider the following statements about the

‘Roaring Forties'.

1. They blow uninterrupted in the northern and
southern hemispheres

2. They blow with great strength and constancy
3. Their direction is generally from north-west to
east in the southern hemisphere

4. Overcast skies, rain and raw weather are gen-
erally associated with them

Which of these statementsare correct ?

1.1, 2and3 2.2,3and 4

19.

20.

21.

22.

23.

25.

26.

3.1,3and4 4.1,2and 4

In aclassthere are 18 boys who are over 160 cm
tall. If these boys constitute three fourths of the
boys and thetotal number of boysistwo-third of
the number of girlsin the class ?

1.6 2.12 3.18 4.24

A college student desires to get elected to the
Municiple Council of hiscity. The validity of his
nomination would depend on theimportant con-
dition, among others, that

1. He obtains permission from the Principle of his
college

2. Heis member of apolitical party

3. Hisnamefiguresin the voter’slist

4. Hefilesadeclaration owing allegianceto the Con-
stitution of India

Consider the following provinces of former
Yogoslavia

1. Bosnia 2. Croatia

3. Slovenia 4. Yogoslavia

TheCorrect sequence of these provincesfrom the

east tothewest is:

1.4,1,32 2.4,1,2,3

3.1,4,32 4.1,4, 2,3

Consider thefollowing statements:

Hard water isnot suitable for

1. Drinking 2. Washing clothes with soap

3.usein baoilers 4. Irrigating crops

which of these statementsare correct ?

l.1and3 2.2and 3

3.1,2and4 4.1,2,3and 4

Which one of the following Muslim rulers was

hailed asthe‘Jagadguru’ by hisMuslim subjects

because of hisbelief in secularism ?

1. Hussian Shah 2. Zain-ul-Abidin

3. lbrahim Adil Shah 4. Magmud |1

Match List | with List 11 and select the correct

answer using the codes given below thelists.

List-1 List-11

(L ocal bodies) (Statesasin 1999)

A. ZillaParishadsat 1. Andhra Pradesh
Subdivision level

B. Mandal Praja 2. Assam
Parishad
C. Tribal Councils 3. Mizoram

D. Absence of village4. M eghalaya

Panchayats
Codes:
A B C D
1 2 1 4 3
2 1 2 4 3
3. 3 2 1 4
4 2 1 3 4

A small pouch containing silica gel is often found
in bottles of medicine in tablet or powder form
because silica gel
1. Kills bacteria

3. Absorbs moisture
4. Absorbs all gases present inside the bottle
Which one of the following statements is incor-

2. Kills germs and spores



27.

28.

29.

30.

31.

32.

33.

rect ?

1. Goa attained full statehood in 1987

2. Diuisanisland in the Gulf of Khambhat

3. Daman and Diu were seperated from Goa by the
56th Amendament of the Constitution of India

4. Dadra and Nagar Haveli were under French colo-
nial ruletill 1954

Canola refersto special type of oil seed mustard
varities bred for human consumption. The main
characteristic of these varitiesisthat the

1. Seeds have very high oil content

2. Qil isrich in unsaturated fatty acids

3. Oil haslong shelf-life

4. Oil has very low Erucic acid content

Which one of the following lakes forms an inter -
national boundary between Tanzia and Uganda?
1. Chad 2. Maawi

3. Victoria 4. Zambezi

A regular piece of iron sheet measuring 50 cm by
100 cmisrolled into a cylinder of height 50 cm. I f
the cost of painting the cylinder is Rs. 50/- per
square meter, then what will be the cost of paint-
ing the outer surface of the cylinder ?

1. Rs. 25.00 2. Rs. 37.50

3. Rs. 75.00 4. Rs. 87.50

Thegrowth rate of per capita at current pricesis
higher than that of per capitaincome at constant
prices, because the latter takes into account the
rate of

1. growth of population

2.increasein pricelevel

3. growth of money supply

4. increase in the wage rate

“In this instance we could not play off the Mo-
hammedansagainst Hindus.” Towhich oneof the
following events did thisremark of Aitchison re-
late?

1. Revolt of 1857

2. Champaran Satyagraha (1917)

3. Khilafat and Non-Cooperation Movement (1919-
22)

4. August Movement of 1942

A noiselevel of 100 decibels, would cor respond to
1. Just audible sound

2. Ordinary conversation

3. Sound from anoisy street

4. Noise from amachine - shop

The following news item appeared in a national
daily dated 1-12-1999 :

“.... Paliament today rgj ected aBill to grant women
the right to vote and stand for office in parlia-
mentary elections, by a margin of 32 to 30. The
National Assembly wassplit between liberal, Pro-
gover nment and ShiiteM uslim deputieswhowere
in favour of women’srights, while the opposition
camp grouped Sunni Muslim fundamentalistsand
tribal MPs.

A total of 64 MPs and ministers were present, of
whom two abstained”. The Paliament referred to
in thisquotation isthat of

35.

36.

37.

38.

39.

40.

41.

1. Kuwait 2. Iran
3. Bahrain 4. Saudi Arabia
Which oneof thefollowing statementsisnot true?
1. Ghaggra's water is utilised in the Indira Gandhi
Cand
2. Narmada rises from Amarkantak region
3. Nizam Sagar is situated on the Manjrariver
4. Pengangais atributary of the Godavari
TheUpper part of thegiven graph isa hypotheti-
cal movement in the BSE Sensex over afew months
and the lower part isthe fluctuation in the aver-
age value of automobile shares in the same pe-
riod (actual Values bot given) which one of the
following inferences can be drawn from the
graphs?

Figure

1. The automobile share market has been as unstable
as BSE Sensex in that period

2. There has been a magjor political change in June/
July

3. Automobile shares have shown a steady improve-
ment in price, unaffected by largefluctuationsin BSE
Sensex

4. None of the above

A ‘black hole’ isa body in space which does not
allow any radiation to come out. Thisproperty is
duetoits

1. Very small size 2. Very large size

3. Very high density 4. Very low density
Thefirst Indian stateto haveitsHuman Develop-
ment Report prepared and released by Amartya
Kumar Sen in Delhiis

1. West Bengal 2. Kerela

3. Madhya Pradesh 4. Andhra Pradesh

In an examination, every candidate took physics
or mathematics or both. 65.8% took physics and
59.2% took mathematics. The total number of
candidates was 2000. How many candidates took
both physicsand mathematics ?

1.750 2.500 3. 250 4. 125
Consider the following statements about the
megacities of India.

1. Population of each megacity ismorethan 5 mil-
lion

2. All the megacities areimportant sea ports

3. Megacities are either national or state capitals
Which of these statementsare correct ?
1.1,2and 3 2.1and 2

3.2and 3 4.1and3

Thememory of acomputer iscommonly expressed
intermsof kilobytesor megabytes. A byteismade
up of

1. Eight binary digits 2. Eight decimal digits

3. Two binary digits 4. Two decimal digits
The Parliament can make any law for the whole
or any part of India for implementing interna-
tional treaties

1. With the consent of al the States

2. With the consent of the mgjority of the States



42.

43.

45,

46.

47,

48.

49,

50.

3. With the consent of the States concerned

4. Without the consent of any State

A bag contains 20 balls. 8 balls are green, 7 are
whiteand 5 arered. What is the minimum num-
ber of balls that must be picked up from the bag
blindfolded (without replacing any of it) to be as-
sured of picking atleast one ball of each colour ?
1.4 2.7 3.11 4.16

In an open economy, the national income (Y) of
the economy is:

(C,1,G, X, M stand for consumption, investment,
Govt. expenditure, total exportsand total imports
respectively)

LY=C+I1+G+X 2Y=C+I+G-X+M
3Y=C+I|+G+(X-M)
4.Y=C+|-G+X-M

which oneof thefollowingisNOT afeatureof the
Government of India Act of 1935 ?

1. Diarchy at the Centre as well asin the provinces
2. A bicameral legislature

3. Provicia autonomy

4. Anal - Indiafederation

The correct sequence in the decreasing irder of
thefour sugarcane producing statesin Indiais

1. Maharastra, U.P, Tamil Nadu, Andhra Pradesh
2. U.P, Maharastra, Tamil Nadu, Andhra Pradesh
3. Maharastra, U.P,, Andhra Pradesh, Tamil Nadu
4. U.P, Maharastra, Andhra Pradesh, Tamil Nadu
Which one of the following statements about a
money bill isnot correct ?

1. A money hill can betabled in either House of Par-
liament

2. The Speaker of Lok Sabhaisthefina authority to
decide whether a bill isamoney hill or not

3. The Rgjya Sabha must return amoney bill passed
by the Lok Sabhaand sent it for consideration within
14 days

4. The President cannot return a money bill to the
Lok Sabhafor reconsideration

Consider the following features of newer models
of motor cars:

1. Radial tyres 2. Streamlined body

3. Multipoint fuel injection

4. Catalytic converter with exhaust

which of thesefeaturesmakethenewer models of
motor carsmore fuel efficient ?

l.1and?2 2.2and 3

3.2, 3and4 4.1, 3and4
ThelIndian National Army (I.N.A) cameinto ex-
istencein 1943in

1. Japan 2. Then Burma

3. Singapore 4. Then Maaya

Which one of the following has a greater perim-
eter than therest ?

1. A square with an area of 36 sg.cm

2. An equilateral triangle with aside of 9cm

3. A rectangle with 10 cm as length and 40 sg.cm as
area

4. A circlewith aradius of 4cm

Match thecitieslabelled as 1, 2, 3, 4 and 5in the

51.

52.

53.

55.

56.

57.

given map with thenamesof theinstituteslocated
in these cities and select the correct answer using
the codes given below the names of theinstitutes.

Map

Name of I nstitutes

A. Central Marine Fisheries Research Institute
B. Central Sheep Breeding Institutes

D. National Institute of Agricultural Extension

M anagement
Codes:

A B C D
1 5 1 3 2
2 5 2 1 4
3. 4 2 1 3
4 1 2 3 4

Arisein ‘SENSEX’ means

1. Arisein prices of shares of all companies regis-
tered with Bombay Stock Exchange

2. A risein prices of shares of all companies regis-
tered with National Stock Exchange

3. And Overal rise in prices of shares of group of
companies registered with Bombay Stock Exhange
4. Arisein prices of sharesof all companies belong-
ing to agroup of companies registered with Bombay
Stock Exchange

Thenew GDP seriesreleased by the CSO in Feb.,
1999 iswith reference to base price of

1. 1991-92 2. 1992-93
3. 1993-94 4. 1994-95
In the given figure OQP=90°and ORP=
20° QORisequal to
Figure
1.100° 2.120° 3. 130° 4. 140°

Consider thefollowing statements:

1. Maharastra has the highest acreage under
jawar in India

2. Gujeat isthelargest producer of groundnut in
India

3. Rajasthan has the largest area of cultivable
wastelandsin India

4. Andhra Pradesh has the highest per hectare
yield of maizein India

Which of these statementsare correct ?
l.1and4 2.2and 3

3.1and 3 4.2and 4

A club has 108 members. Two-thirds of them are
men and the rest are women. All members are
married except for 9 women. How many married
woman aretherein theclub ?

1.20 2.24 3.27 4.30
Thelast major extension of British Indian terri-
tory took place during the time of

1. Dufferin 2. Dahousie

3. Lytton 4. Curzon

Fluroscent tubes are fitted with a choke. The
Choke coil

1. Steps up the line voltage

2. Steps down the line Voltage



58.

59.

60.

61.

62.

63.

3. Reduces current in the circuit

4. Chokeslow frequency currents

Which one of the following pair is not correctly
matched ?

1. Baki Itihas : Badal Sarkar

2. Sita Swayamvar : Vishnu Das Bhav
3. Yayati : Girish Karnad

4. Giddha : Jabbar Patel

The following figure represents time learning
curves of two students, Q and R for learning a
mathematicslesson :

figure

Which one of the following inferences can be
drawn from the graph ?

1. R started slowly in the beginning got a head of Q
to complete learning the lesson

2. Q started slowly and finished learning the lesson
earlier than R

3. R was always faster than Q in learning the math-
ematics

4. Q was awaysfaster than R in learning mathemat-
ics

Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
A. Atlas Cycle Company Ltd. 1.Bangalore
B. Bharat Earth MoversLtd 2.Bhubaneswar
C.Indian FarmersFertilizers 3. Kalol
Co-operative Ltd.
D. National Aluminium 4. Sonepat
Company Ltd.
Codes:
A B C D
1 1 4 2 3
2 1 4 3 2
3. 4 1 2 3
4 4 1 3 2

For reproducing sound, a CD (Comapct Disc) au-
dio player usesa

1. Quartz crystal 2. Titanium needle

3. Laser beam 4. Barium titanate ceramic
The 73rd Constitutional Amendament Act, 1992
referstothe

1. Generation of gainful employment for the unem-
ployed, under - employed and women in rural area
2. Generation of employment for the able bodied
adultswho are in need and desirous

3. Laying the foundation for strong and vibrant
Panchayat Raj Institutionsin the country

4. Guarantee of right to life liberty and security of
person, equality beforelaw and equal protection with-
out discrimination

A goat istied totwo polesPand Q with ropesthat
15 metres long. P and Q are 20 metres apart as
shown in the given diagram :

Figure

which one of the following shaded portionsindi-
catesthetotal area over which thegoat can graze?

64.

65.

66.

67.

68.

69.

70.

Figures

match the locations of ports labelled as A, B, C
and D in the given map with the names of those
portsand select thecorrect answer using the codes
given below the names of the ports:

Map

Name of ports
1. Kakinada 2. Karwar
3. Mangalore 4, Tuticorin
5. Veraval
Codes:

A B C D
1 4 2 3 5
2. 5 2 4 1
3. 1 3 4 2
4 5 3 2 1

When aCD (Compact discused in audio and video
systems) is seen in sunlight, rainbow like colours
are seen. Thiscan beexplained on thebasisof the
Phenomenon of

1. Reflection and diffraction

2. Reflection andt transmission

3. Diffraction and transmission

4. Refraction, diffraction and transmission

As an alternative to the partition of India,
Gandhiji suggested to M ountbatten that he

1. Postpone granting of independence

2. Invite Jinnah to form the government

3. Invite Nehru and Jinnah to form the government
together

4. Invite the army to take over for sometime

A person startsfrom a point A and travels 3 km
eastwar dsto B and then turnsleft and travelsfive
times tha distance he covered between A and B
and reaches his destination D. The shortest dis-
tance between the starting point and the destina-
tionis

1.18km 2.16km 3.15km  4.12km
Which oneof thefollowing portsof India handles
the highest tonnage of import cargo ?

1. Cdlcutta 2. Kandla

3. Mumbai 4. Visakhapatnam

The native state of Tripurainvolved in the Free-
dom movement early in the 20th century because
1. The kings of Tripurawere always anti-British

2. The Bengal revolutionariestook shelter in Tripura
3. Thetribes of the state were firecely freedom lov-
ing

4. There were already some groups fighting against,
the kingship and its protector, the British

Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11

A. Cracking 1. Rubber

B. Smelting 2. Petroleum
C. Hydrogenation 3. Copper

D. Vulcanization 4. Ediblefats

Codes:



71.

72.

73.

74.

A B C D
1 3 2 1 4
2 2 3 4 1
3. 2 3 1 4
4 3 2 4 1

Within biological communities some species are
important in determining the ability of a large
number of other speciesto persist in the commu-
nity. Such speciesare called

1. Keystone 2. Allopartic species

3. Sympatric species 4. Threataled species
Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11

A. Boom 1. Business activity at high
level with increasing inc-
ome, output a nd employ-
ment at macro level

B. Recession 2. Gradual fall of income,

output and employment
with business activity in
alow gear

3. Unprecedented level of
underemployment and
unemployment, drastic
fall inincome, output and
employment

C. Depression

D. Recovery 4. Steady risein thegeneral
level of prices, income,
output and employment

Codes:

A B C D

1 1 2 3 4

2 1 2 4 3

3. 2 1 4 3

4 2 1 3 4

The distribution of 1,00,000 tourists who visited
India during a particular year is shown in the
given charts. Based on this, the number of Japa-
nesetouristsbelow theage of 39 whovisited I ndia
in theyear concerned is

figures

1.10,000 2.8,000 3.6,000 4. 4,000
Match the different ports of the Union Territory
of Pondicherry labelled as A, B, C and D in the
given map with their respective names and select
the correct answer using the codes given below
thelist of ports:

Map

List (Ports of Pondicherry)
1. Karaikal 2. Mahe
3. Ponhicherry 4. Yanam
Codes:

A B C D
1 2 1 3 4
2. 1 2 3 4
3. 2 1 4 3
4, 1 2 4 3

75.

76.

7.

78.

79.

80.

81.

82.

That theper capitaincomein IndiawasRs20/-in
1867-68, was ascertained for thefirst time by

1. M.G. Ranade 2. Sir W. Hunter

3.R.C. Dutta 4. Dadabhai Nauroji
Which oneof thefollowing pairsof primitivetribes
and places of their inhabitation isNOT correctly
matched ?

1.Buksa :Pauri-Garhwa
2. Kal : Jabalpur
3.Munda : Chhotanagpur
4. Korba : Kodagu

What isthe maximum number of piecesof 5cm x
5cm 10 cm cakethat can becut from a big cake of
5cmx30cmx30cmsize?

1.10 2.15 3.18 4.30

Which one of the following statementsistrue ac-
cording to 1991 censusdata ?

1. U.P hasthe highest density of population in India
2. Himachal Pradesh has the highest female to male
sex ratio in India

3. West Bengal has the highest female to male sex
ratioin India

4. Bihar hasthe lowest literacy ratein India
Directions: Thenext two itemsare based on thefol-
lowing table. Study the same carefully and attempt
thetwo itemsthat follow it.

Indicators of development for some Asian countries:

Countries Life Infant Adult
exppectancymortality literacy
at birth rate(per rate
(years) 1000 births) (percent)
1995 1996 1995

India 62.4 72 52

China 69.2 38 82

Indonesia 64.0 47 84

Malaysia 71.4 11 84

Thailand 69.5 31 9

Korea 717 6 98

Philippiness 67.4 32 95

Which one of the following statementsisfalse ?
1. All countries other than India have over 80% lit-
eracy

2. Malaysia and Korea have life expectancy higher
than all other countries

3. Higher the adult literacy lower istheinfant mortal-
ity

4. The life expectancy at birth in Indiais amost the
same asthat of Indonesia

The best performancein terms of Human devel-
opment among the Asian countriesis by

1. China 2. Maaysia

3. Korea 4. Philippiness

After returning from South Africa, Gandhiji
launched hisfirst successful Stayagrahain

1. Chauri-Chaura 2. Dandi

3. Champaran 4. Bardoli

Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List-11

A. Chittagong 1. Kalpana Dutt



83.

85.

86.

87.

Armoury Raid

B. Abinav Bharat 2. Guru Ram Singh

C. Anushilan Samiti 3. Vikram Damodar
Savarkar

D. Kuka Movement 4. Aurobindo Ghosh

Codes:

A B C D

1 1 3 4 2
2 1 3 2 4
3. 3 1 2 4
4, 3 1 4 2
Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List-11
A. Land alloted to big feudal 1. Jagirdari

Landlords
B. Land allotted to revenue 2. Ryotwari

farmersor rent collectors System
C.Land allotted to each 3. Mahalwari

peasent with theright to

sublet, mortgage, transfer,

gift or sell
D. Revenue settlements 4. Zaminda-

made at village level ri system
Codes:

A B C D

1 1 3 2 4
2 1 4 2 3
3. 3 4 1 2
4 2 1 3 4

Which oneof thefollowing countriesoccupiesthe
first placein the ‘Global Competitive Report’ of
World Economic Forum ?

1.USA 2 Singapore 3. Hongkong 4. France
Directions : The following 16 items of two state-
ments, one labelled as ‘Assertion A" and the other
labelled as*Reason R’. You are to examine these two
statements carefully and decide if the ‘assertion A’
and the ‘Reason R’ are individually true and if so,
whether the ‘Reason R’ is a correct explanation of
the ‘assertion A’. Select your answers to these items
using the codes given below and mark your answer
sheet accordingly.

Codes:

1. Both A and R aretrue and R is the correct expla-
nation of A

2. Both A and R are the but R is NOT the correct
explanation of A

3. Aistruebut Risfase

4. Aisfasebut Ristrue

Assertion (A) : Lord Linlithgo described the August
Movement of 1942 as the most serious revolt after
the Sepoy Mutiny

Reason (R) : Peasentsjoined the movement in large
numbers in some places

Assertion (A) : A man standing on acompletely fric-
tionless surface can propel himself by whistling
Reason (R) : If no external force actson asystemits
momentum cannot change

Assertion (A) : The Aham and Puram poems of the

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

Padien Kilukanakku group formed a continuation of
the Sangam composition

Reason (R) : They were included under the Post
Sangam works as against the Sangam works proper
Assertion (A) : In Australia, cattle rearing is done
more far meat than for milk

Reason (R) : Australians are traditionally non-veg-
etarians

Assertion (A) : In human beings the females play a
major role in determining the sex of the offspring.
Reason (R) : Women have two ‘X’ chromosomes.
Assertion (A) : Large cold storage plants use ammo-
nia as refrigerant while domestic refrigerators use
chlorofluoro carbons.

Reason (R) : Ammonia can be liquified at ambient
temperatures at low pressures

Assertion (A) : The frequency of floods in North
Indian plains hasincreased during the last couple of
decades.

Reason (R) : There has been reduction in the depth
of river valleys due to deposition of dlit

Assertion (A) : Therate of growth of India sexports
has shown an appreciable increase after 1991
Reason (R) : The Government of India has resorted
to devaluation.

Assertion (A) : “DNA Finger printing hasbecomea
powerful tool to establish paternity and identity of
criminalsin rape and assult cases.

Reason (R) : Trace evidences such as hairs saliva
and dried semen are adequate for DNA analysis
Assertion (A) : Gangaplainisthemost densely popu-
lated part of India

Reason (R) : Gangais the most harnessed river of
India

Assertion (A) : Theemphasisof jainism on non-vio-
lence (ahimsa) prevented agriculturalists from em-
bracing Jainism.

Reason (R) : Cultivation involved killing of insects
and pests.

Assertion (A) : The origin of feudal system in an-
cient Indian can be traced to military campaigns
Reason (R) : There was considerable expansion of
the feudal system during the Gupta period
Assertion (A) : Ashoka annexed Kalinga to the
Mauryan empire

Reason (R) : Kalinga controlled the land and sea
routesto South India.

Assertion (A) : The basic weakness of the early na-
tionalist movement lay inits narrow social base.
Reason (R) : It fought for the narrow interests of teh
social groups which joined it.

Assertion (A) : Inamotion picture usually 24 frames
are projected every second over the whole length of
thefilm.

Reason (R) : Animage formed on the retina of eye
persists for about 0.1s after the removal of stimulus

100. Assertion (A) : Small glass beads fixed on traffic

signalsglow rightly when light falls upon them
Reason (R) : Light istotally reflected when theangle
of incidence exceedsacertain critical valueand light



travelling in adenser mediumisreflected from ararer

medium

Match List | with List 11 and select the correct

answer using the codes given below thelists.

List-1 List- 11

A. Development 1. UN IndiaHuman Develo-
Programme pment Report

B. National Council 2.India Development Re-
of Applied Econo-  port
mic Research

C. Indira Gandhi
Institute of Deve-
lopment Research

101.

3. World Development Re-
port

D. World Bank 4. Human Development
Report

Codes:

A B C D
1 4 1 2 3
2. 4 2 1 3
3. 2 3 4 1
4. 2 1 4 3

102.“...... instill into the vast millions of workers, men
and women, who actually do the job, a sense of
patner ship and of cooper ative performance.....”
The above passagerelatesto
1. Planned development
2. Community developmet
3. Panchayati Rgj System
4. Integrated Devel opment Programme
The ‘Stones’ formed in human kidney consist
mostly of
1. Cadcium oxalate 2. Sodium acetate
3. Magnesium suplate 4. Calcium
104. The Speakercan ask a member of the House to
stop speaking and let another member speak. This
phenomenon isknown as
1. Decorum 2. Crossing the floor
3. Interpellation 4. Yielding the floor
105. While delivering the presidential address, the
Congress President who advocated the introduc-
tion of Roman script for Hindi language was
1. Mahatma Gandhi 2. Jawarar Lal Nehru
3. Abul Kalam Azad 4. Subhash Chandra Bose
106. Most of the explosionsin mines occur dueto the
mixing of
1. Hydrogen with oxygen
2. Oxygen with acetylene
3. Methane with air
4. Carbon dioxide with ethane
107. Consider the following statements about the At-
torney General of India:
1. Heis appointed by the President of India
2. He must have the same qualifications as are re-
quired for a Judge of the Supreme Court
3. He must be a member of either House of Parlia-
ment
4. He can be removed by impeachment by Parliament
108. A rectangular water tank measures15m x 6 m at
top and is10 m deep. It isfull of water. |f water is
drawn out loweringthelevel by 1 meter, how much

103.

109.

110.

111.

112.

113.

114.

115.

116.

117.

of water has been drawn out ?

1. 90,000 litres 2. 45,000 litres

3. 4,500 litres 4. 900 litres

Along which one of the following meridians did
India experience the first light of the sunrise of
the new millennium ?

1.2°30'W 2.82°30'E 3.92°30'W 4.92°30 E
Which one of the following or ganisms can serve
asabiofertilizer for ricecrop ?

1. Blue-green algae 2. Rhizobium sp

3. Mycorrhizal fungi 4. Azotobacter sp

The standing committee of State Finance Minis-
tersrecommended in January, 2000 uniform rate
acrossthe statesin respect of

1. Vaue added tax 2. Salestax

3. Stamp duty and registration fees

4. Agriculture income tax

At thetime of partition of India, which one of the
following provincesof British India cameforward
with a plan for a united and independent
existance?

1. Punjab 2. Assam

3. Bengal 4. Bihar

Consider thefollowing functionaries:

1. Cabinet Secretary

2. Chief Election Commissioner

3. Union Cabinet Ministers

4. Chief Justice of India

Their correct sequence, intheorder of precedence
is

1.3421 2.4,3,1,2

3.4,3,21 4.3, 4,1,2
THeprimary function of the Finance Commission
inIndiaisto

1. Distribute revenue between the Centre and the
States

2. Prepare the Annual Budget

3. Advisethe President on financial matter

4. Allocate funds to various ministries of the Union
and State Governments

The state which hasthe largest number of seats
reserved for the Scheduled Tribes in the Lok

Sabhais
1. Bihar 2. Gujarat
3. Uttar Pradesh 4. Madhya Pradesh

An accurate clock shows8 O’ Clock in the morn-
ing. Through how many degreeswill thehour hand
rotate when the clock shows?2 O’ Clock in the af-
ternoon ?

1. 150° 2.144° 3. 168°
Consider thefollowing statements:
1. Tides are of great help in navigation and fish-
ing

2. Hightideenableshig shipstoenter or leavethe
harbour safely

3. Tide preventssiltation in the harbours

4. Kandla and Diamond Harbour aretidal ports
Which of these statementsar correct ?

l.1and4 2.2,3and 4
3.1,2and3 4.1,2,3and 4

4.180°



118.

119.

120.

121.

122.

123.

124.

At which stagein itslife cycle doesthe silk worm
yield the fibre of commerce ?

1. Egg 2.Larva 3. Pupa 4. Imago
Indian Human Development Report doesnot give
for each samplevillage ?

1. Infrastructure and Amenities Index

2. Education Related Index

3. Health Related Index

4. Unemployment Related Index

Themonthly income of komal and Ashaareinthe
ratioof 4: 3

Their monthly expenses arein theratio of 3: 2
However, both save Rs. 600/- per month. What os
their total monthly income ?

1. Rs 8,400/- 2. Rs 5,600/-

3. Rs 4,200/- 4. Rs 2,800/-

Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List- 11

A. Aleutian 1. Indian Ocean
B. Kermadec 2. North Pacific Ocean
C. Sunda 3. South Pacific Ocean
D. S. Sandwich 4, South Atlantic Ocean
Codes:

A B C D
1. 2 4 1 3
2. 2 3 1 4
3. 1 3 2 4
4 1 4 2 3

The Balkan Plan for fragmentation of India was
the brainchild of

1. W. Churchil 2. M.A. Jinnah

3. Lord Mountbatten 4. V.PMenon

Match List | with List Il and select the correct
answer using the codes given below thelists.

List-1 List-11
A. Green silver 1. Tin
B. Solder 2. Nickel
C. Bleaching powder 3. Sodium
D. Hypo 4. Chlorine
Codes:

A B C D
1 1 2 4 3
2. 4 2 1 3
3. 2 3 4 1
4 2 1 4 3

Match List | with List Il and select the correct
answer using the codes given below thelists.

List-1 List-11
(Institutes) (L ocations)
A. Central Instituteof Higher 1. Hyderabad
Tibetan Sudies
B. Indira Gandhi I nstitute of 2. Mumbai
Development Research
C. National Institute of Mental 3. Banglore
Health and Neuro-sciences
D. Central Institute of English 4. Dharamshal
and Foreign Languages 5. Varanasi
Codes:
A B C D

125.

126.

127.

128.

129.

130.

131.

1. 5 3 4 1
2. 5 2 3 1
3. 3 2 4 5
4, 4 5 2 1
Match List | with List Il and select the correct

answer using the codes given below thelists.
List-1 List-11
A. Haemophilia 1. Deficiency disease

B. Diabetes 2. Genetic disease
C. Rickets 3. Hormonal disorder
D. Ringworm 4. Fungal infection
Codes:

A B C D
1 2 3 4 1
2 2 3 1 4
3. 3 2 1 4
4 3 2 4 1

Economic liberalisation in India started with

1. Substantial changesin industrial licensing policy

2. The convertanilty of Indian rupee

3. Doing away with procedural formalities for for-
eign direct investment

4. Significant reduction in tax rates

Theblood glucoselevel iscommonly expressed as
1. mm. of Hg 2. Milligram per decilitre

3.Parts per million 4, Grammes per litre

The practice of military governorship was first
introduced in India by the

1. Greeks 2. Shakas

3. Parthians 4. Mughals

If X =-2, then

X3-X2-X-1lisequal to

11 2.-3 3.-11 4.-15

Consider the following statements about the In-
dian National Congress

1. Sarojini Naidu was the first woman to be the
President of the Congress

2. C.R.Daswas in prison when he functioned as
the President of the Congress

3. Thefirst Britisher to become the President of
the Congress wasAlan Octavian Hume

4. Alfred Webb wasthe President of the Congress
in 1894

Which of these statementsare correct ?

1.1and 3 2.2and 4
3.2,3and 4 4,1,2,3and 4
Match List | with List Il and select the correct

answer using the codes given below thelists.

Map
Names of drainage basins

1. Ganga-Brahmaputra 2. Indus
3. Parana 4. Zambezi
Codes:

A B C D
1 3 1 2 4
2 1 3 4 2
3. 1 3 2 4
4 3 1 4 2

132. Phytotron isa facility to



133.

134.

135.

136.

137.

138.

1. Grow plants under disease - free conditions

2. Conserve endangered species of plants

3. Grow plants under controlled conditions

4. Induce multations

The Ragawhich issung early in themorningis
1. Todi 2. Darbari

3. Bhopali 4. Bhimpalasi
Inthegivenfigure, all line segmentsof theshaded
portion are of thesamelength and at right angles
to each other. The same can be cut out of aboard
of side 10 cm. What osthe area of the shaded por-
tion ?

Figure
1.36cm? 2.48cm? 3.52cnm?  4.64cnv?
Gilt-edged mar ket means
1. Bullion market
2. Market of government securities
3. Market of guns
4. Market of pure metals
Match List | (endocrineglands) with List I1 (hor-
mones secr eted) and select the correct answer us-
ing the codes given below thelists.

List-1 List-11
A. Gonads 1. Insulin
B. Pituitary 2. Progesterone
C. Pancreas 3. Growth hormones
D. Adrenal 4, Cortisone
Codes:

A B C D
1 3 2 4 1
2 2 3 4 1
3. 2 3 1 4
4, 3 2 1 4
Which one of the following dynasties was ruling
over north India at thetime of Alexandar’sinva-
sion ?
1. Nanda 2. Maurya
3. Sunga 4. Kanva

Match teh international eventslisted below with
their respective places labelled as 1, 2, 3, 4 and 5
in the given map and select the correct answer
usingthecodesgiven below thelists. I nter national
events.

1. Venue of Common wealth Conference held in
1999

2. Venue of World Trade Organisation meeting
held in 1999

3. Placeof Israel - Syria Peacetalksheld in Janu-
ary, 2000

4. Place of military action by Russian troopsin
January, 2000

Map
Codes:
A B C D
1. 2 1 5 3
2. 3 4 2 1
3. 4 1 2 3
4, 4 3 5 2

139.

140.

141.

142.

143.

144.

145.

146.

Which oneof thefollowing materialsisvery hard
and very ductile ?

1. Carborndum 2. Tungsten

3. Castiron 4. Nichrome

To reach the final of the first grand slam of the
year 2000, Martin Hingis defeated

1. Lindsay Davenport 2. Jenifer Capriati

3. SarenaWilliam 4. ConchitaMartinez

I nsect-resistant cotton plantshavebeen genetically
engineered by inserting a gene from a/an

1. Virus 2. bacterium3. insect 4. plant

The Swarna Jayanti Shahari Rozgar Yojana
which came into operation from 1-12-1997 aims
to provide gainful employment to the urban un-
employed or underemployed poor but does not
include

1. Nehru Rozgar Yojana

2. Urban Basic Services Programme

3. Prime Minister’s Integrated Urban Poverty Eradi-
cation Programme

4. Prime minister's Rozgar yojana

Soft drinkssuch ascolascontain significant quan-
tities of

1. caffeine 2. nicotine
3. tannin 4. renin
Consider the following statements regarding the

Chakiarkoothu form of dance

1. It isperformed by the Chakiar caste

2. It cannot be traditionally witnessed by the
higher caste Hindus

3. Mizhavu isthe accompanying instrument

4. Itstheatre form iscalled Koothan - balam
Which of these statementsare correct ?

1.1,3and4 2.1,2and 3
3.2,3and 4 4.1,2and 4
Consider thefollowing pictures of adice
figure
What isthe number opposite ?
1.1 2.4 3.5 4. Datainsufficient
Match List | with List 11 and select the correct

answer using the codes given below thelists.

List-1 List- 1l
(Minerals) (Major Producers)
A. Mineral Oil 1. Zambia
B. Copper 2. Guyana
C. Manganese 3. Venezuela
D. Bauxite 4. Gabon
Codes:

A B C D
1 3 1 4 2
2. 3 1 2 4
3. 1 3 2 4
4 1 3 4 2

147. Which oneof thefollowing doesa TV remote con-

trol unit usetooperatea TV set ?
1. Light waves 2. Sound waves
3. Micro waves 4. Radio waves

148. Consider thefollowing statements:

Thelndian rupeeisfully convertible
1. In respect of Current Account of Balance of



149.

150.

Payment
2. In respect of Capital Account of Balance of

Payment

3.intogold

Which of these statementsis/arecorrect ?

1. 1aone 2.3 done

3.1land?2 4.1,2and 3

Who among the following streamlined the

Maratha administration after Sambhaji ?

1. RgjaRam 2. Balgji Viswanath

3. Ganga Bai 4. Nangji Deshmukh
Hybridoma technology is a new biotechnological
approach for commercial production of

1. monoclonial 2. interferon

3. antibiotics 4. acohol

ANSWERS

1) 2 22 32 42 52  6)4
1)1 12)4 13)3 14)2 15)1  16)2
21) 2 22)4  23)3 24) 4 25) 3 26)4
31) 1 32)4  33)1 34)1 351  36)3
41) 4 42)4  43)3  44)1 45)2  46)1
51) 3 52)3  53)1 54)2 55)3  56) 1
61) 3 62)3  63)3 64)2 65)1  66)2
73 721 73)1  74)1 75)4  76)4
81) 3 82)2 83)2 84)2 851  86)1
o) 1 92)1  93)1 94)2 95)1  96)3
101) 1 102)2  103)1 104)4 105)3 106) 3
111) 2 112)1  113)3 114) 1 115)4  116)4
121) 2 122)3  123)4 124)2 125)2  126) 1
131)4 132)3  133)1 134)3 135)2 136)3
141) 2 142)4  143)1 144) 1 145)2  146) 1
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If it is 10.00 a.m. |.S.T., then what would be the
local time at shillong on 92° E longitude ?
1.9.38am. 2.10.38 am.

3.10.22 am. 4.9.22 am.

The constitution of India recognises

1. Only Religious minorities

2. Only Linguistic minorities

3. Religious and Linguistic minorities

4. Religiuos, Linguistic and ethnic minorities

In the sequence of numbers5, 8, 13, x, 34, 55, 89,
thevalueof ‘X' is

1.20 2.21 3.23 4.29
‘Thekingwasfreed from hispeopleand they from
their king'. On whose death did Badauni comment
thus?

1. Balban 2. Alauddin Khilji

3. Muhammad-bin-Tughlag

4. Ferozeshah Tughlaq

Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
A. Adrenalin 1. Anger, fear, danger
B. Estrogen 2. Attracting partners
through sense of smell

C.Insulin 3. Females
D. Pheromones 4. Glucose
Codes:

A B C D
1 3 1 4 2
2 1 3 2 4
3. 1 3 4 2
4 3 1 2 4

In the new Panchayati Raj bill enacted in 1993,
there are several fresh provisions deviating from
the past. Which one of the following is not one
such provision ?

1. A number of added responsibilities in the area of
agriculture, rural development, primary education and
social forestry among others

2. Elections being made mandatory for all posts at
thetimethey are due

3. A statutory representation for women in the
panchayats, up to athird of the strength

4. Regular remuneration to the panchayat members,
so asto ensure their punctuality and accountability
A ship sailing from the eastern extermity of the
Aleutian Islands to Dutch harbour crosses 180°
meridian at 23.30 hrson January 1, 1999. What
time and date will be recorded by the captain of
the ship in hisdairy after one-hour journey from
the point of crossing the meridian ?

1. January 1, 0030 hrs 2. January 2, 0030 hrs

3. January 3,0030 hrs 4. January 4, 0030 hrs
Neem tree has acquired industrial importance as
a sour ce of

10.

12.

13.

14.

15.

1. Biopesticide and antifertility compound

2. Anti fetility compund, biofertilizer and anti-can-
cer drug

3. Biofertilizer, bio pesticide and antifertility com-
pound

4. Anti-cancer drug, biopesticide and biofertilizer
On another planet, thelocal terminology for earth,
water, light, air and sky are ‘sky’, ‘light’, ‘air’,
‘water’ and ‘earth’ respectively. If some-one is
thirsty there, what would hedrink ?
1. Sky 2. Water 3. Air
Consider thefollowing statements:
An amendament to the constitution of India can
beinitiated by the

1. Lok Sabha 2. Rajya Sabha

3. Sate legidlatures 4. President

Which of the above statementsis/are correct ?

1. aonly 2.a,bandc

3.b,candd 4.aandb

The first venture of Gandhi in all-India politics
wasthe

1. Non co-operation movement 2. Rowlatt Stayagraha
3. Champaran movement 4. Dandi March
Match List | (Drugs/ chemicals) with List 1 (their
uses) and select the correct answer using the codes
given below thelists.

4. Light

List-1 List-11
A. Altropine 1. Local anaesthesia
B. Ether 2. Heart trouble
C. Nitroglycerine 3. Dilation of pupil
D. Pyrethrin 4. Mosquito control
Codes:

A B C D
1 1 3 2 4
2 1 3 4 2
3. 3 1 4 2
4, 3 1 2 4
Personsbelow the poverty linein Indiaareclassi-
fied as such based on whether

1. They are entitled to a minimum prescribed food
basket

2. They get work for a prescribed minimum number
of daysinayear

3. Thebelong to agricultural labourer household and
the schedul ed caste/tribe socia group

4. Their daily wages fall below the prescribed mini-
mum wages

Which oneof thefollowing scholar ssuggested the
earth’sorigin from gases and dust particles?

1. James Jeans 2. H. Alfven

3. F. Hoyle 4. O. Schmidt

In a business concern, there are four functions,
namely, production (PR), Finance (FN), Person-
nel (PS) and Marketing (MK), the customer (C)
may also play arolein the prosperity of the con-



16.

17.

18.

19.

cern. Match list | with List Il and select the cor-
rect answer using the codes given below thelists.

List | List Il
Pie Diagram Statement
A. 1. Customer isthe controlling factor
B. 2. Marketing isan integrating factor
while customer isthe controlling
factor
C. 3. Markrtingisthecontrolling factor
D. 4, Marketing ismoreimportant than
others
5. Marketing isas equal function as
theothers
Codes:
A B C D
1 4 3 1 2
2 5 4 1 2
3. 4 3 2 5
4 5 4 2 1

Theterm ‘Aryan’ denotes

1. An ethnic group 2. A nomadic people

3. A speech group 4. A superior race

Match List | with List 11 and select the correct
answer using the codes given below thelists.

List -1 List - 11
A. Diamond 1. Calcium
B. Marble 2. Silicon
C. Sand 3. Aluminium
D. Ruby 4. Carbon
Codes:

A B C D
1 3 1 2 4
2 4 2 1 3
3. 2 1 3 4
4 4 1 2 3

Consider thefollowing statements:

Regional dispartiesin India are high and have
been rising in recent years because

a. Thereispersistent investment over timeonly in
select locales

b. Someareasareagro-climatically lessconducive
to development

c. Some areas continue to face little or no agrar-
ian transformation and the consequent lack of
social and economic oppurtunities

d. Some areas have faced continuous palitical in-

stability

Which of these statementsarecorrect ?
l.abandc 2.a,bandd
3.a,candd 4.b,candd

Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List-11

(Volcanic mountain) (Country)

A. Mt. Rainier 1. Italy

B. Etna 2. Italy

C. Paricutin 3. Philippines
D. Taal 4.USA.
Codes:

A B C D

20.

21.

22.

23.

24.

25.

1 4 2 1 3
2 4 1 2 3
3. 2 1 4 3
4, 4 3 2 1

Indian Farmers are unhappy over the introduc-
tion of “ Terminator Seed Technology” becausethe
seedsproduced by thistechnology areexpected to
1. Show poor germination

2. Form low-yielding plants despite the high quality
3. Giveriseto sexually sterile plants

4. Giveriseto the plantsincapable of forming viable
seeds

Consider the following statements about the re-
cent amendmentsto the Election Law by therep-
resentation of the People (amendament) Act 1996:
1. Any conviction for the offence of insulting the
Indian National Flag or the Constitution of India
shall entail disqualification for contesting elections
to the Parliament and the State legislature for six
years from the date of conviction

2. Thereisanincreasein thesecurity deposit which
a candidate hasto maketo contest the election to
the Loksabha

3.A candidate cannot now stand for election from
mor e than one Parliamentary constituency

4. No election will now be countermanded on the
death of contesting candidate

Which of the above statementsare correct ?
1.2and3 2.1,2and4

3.1and3 4.1,2,3and 4

The average speed of atrain in the onward jour-
ney in 25% morethan that of thereturn journey.
Thetrain haltsfor one hour on reaching the des-
tination. Thetotal timetaken for the completeto
and frojourney is17 hourscovering a distance Of
800 km. Thespeed of thetrain in theonward jour-
ney is

1. 45.00 km per hour 2. 47.06 km per hour
3.50.00 km per hour 4. 56.25 km per hour
Consider thefollowing statements:

Thestriking feature of the Jama Magjid in Kash-
mir completed by Zain-ul-Abidin include(s)

1. Turret 2. Similarity with Buddhist pagodas
3. Persian style

Which of the above statement(s) isare correct ?
1.1aone 2.1,2and 3

3.2and 3 4.1and3
TheRavvaoffshoreblock, with great potential for
oil, is located in the

1. Krishna- Godavari basin

2. Cauvery basin 3. Mahanandi basin

4. Palar - Pennar basin

Consider the following statements regarding a
motor car battery :

1. TheVoltageisusually 12v

2. Electrolyte used ishydrochloric acid

3. Electrodes are lead and copper

4. Capacity isexpressed isampere- hour

Which of the above statementsare correct ?
l.1land2 2.2and3 3.3and4 4.1and4



26.

27.

28.

29.

30.

31.

32.

Inthegiven map, which one of thefollowing pairs
of ocean currentsis shown ?

Figure
1. Beguelaand Fakland 2. Canary and Humbol dt
3. Agulhasand Guinea 4. Benguelaand Guinea
In a town, 25% families own a phone and 15%
own acar and 65% familiessown neither aphone
nor acar. 2000 familiesown both acar and aphone
Consider thefollowing statementsin thisregard :
1. 10% families own both a car and a phone
2. 35% families own either a car and a phone
3. 40,000 familieslivein thetown
Which of the above statementsare correct ?
l.land2 2. 1and3 3.2and3 4.2and3
Which one of the following statementsregar ding
thelevying, collecting and distribution of income
tax iscorrect ?
1. The Union levis, collects and distributes the pro-
ceeds of income tax between itself and the states
2. The union levies, collects and keeps all the pro-
ceeds of income tax with itself
3. The union levies and collects the tax but al the
proceeds are distributed among the states
4. Only the surcharge levied on incometax is shared
between the union and the states
Thecongresspolicy of pray and petition ultimately
cameto an end under the guidance of
1. Aurobindo Ghosh 2. Bal Gangadhar Tilak
3. Laalgpat Rai 4. Mahatma Gandhi
Match List | (quantity) with List Il (Units) and
select the correct answer using the codesgiven be-
low thelists.

List-1 List-11
A. High Speed 1. Mach
B. Wave length 2. Angstrom
C. Pressure 3. Pascal
D. Energy 4. Joule
Codes:

A B C D
1 2 1 3 4
2. 1 2 4 3
3. 1 2 3 4
4 2 1 4 3

Consider thefollowing statements:
Industrial development in India, to anextent, is
constrained by
1. Lack of adequate entrepreneurship and lead-
ership in business
2. Lack of savingsto invest
3. Lack of technology, skillsand infrastructure
4. Limited purchasing power among the larger
masses
Which of the above statementsare correct ?
1.1,2and 3 2.1,3and 4
3.2,3and 4 4.2,2and 4
At which one of the following positions shown in
the diagram the height of the ocean tide will be
maximum ?
Map

3 M 4. M

2 3 4

1M, 2.M
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Which one of thefollowing genetic diseaseis sex-
linked ?
1. Royal haemophilia 2. Tay-Sachs disease
3. Cysticfibrosis 4. Hypertension
The yield versus fertilizer input is shown in the
following graph :

Graph
Consider the following statements based on this
graph :
l.Yieldrateiszeroat Band C
2. Thereisnoyield with no fetilizer input
3. Theyield isminimum at D
4. Theyield isneither minimum nor maximum at
C
Which of the above statementsare correct ?
1.1,2and4 2.3and 4
3.2and 3 4.1,3and 4
Among which one of the following sets of social/
religiousgroups, theextent of poverty isthehigh-
est asper Government statisticsfor the nineties?
1. MuslimsisKerela, Gujrat and A.P
2. Tribasin Bihar, Orrisa, M.P and Maharastra
3. Scheduled castesin Pubjab, Western UP, Northern
Rajasthan and Tamil Nadu
4. Christiansin Gujarat, Maharastraand Assam
Which oneof thefollowing portshandled thenorth
Indian trade during the Gupta period ?
1. Tamralipti 2. Broach
3. Kalyan 4, Cambray
For which one of the following, capillarity is not
the only reason ?
1. Blotting of ink
2. Rising of underground water
3. Spread of water drop on a cotton cloth
4. Rising of water from theroots of aplant toitsfoli-
age
Tourismindustry in Indiaisquitesmall compared
tomany other countriesin termsof India’spoten-
tial and size. Which one of thefollowing statements
iscorrect in thisregard ?
1. Distances in India are too far apart and its luxury
hotels are too expensive for the western tourists
2. For most of the months, Indiais too hot for the
western touriststo feel comfortable
3. Most of the picturesgue resortsin Indiasuch asin
the North-East and Kashmir are, for al practical pur-
poses, out of bounds
4. In India, the infrastructure required for attracting
touristsisinadequate
Which one of the areas marked asA, B, C and D
in the given figure of the cyclone witnesses heavy
torrential short-duration rainfall accompained by
Thunderstorms?

Figure

LA 2.B 3.C 4.D

In a code language, ‘SOLID’ is written as
‘WPSLPIMFHA’. What does the code word
‘ATEXXQIBVO' refer to ?

1. EAGER 2. WAFER 3.WAGER 4. WATER
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Which oneof thefollowing statementsiscorrect ?
1. Kacchativu and Tin Bigha were the terrtories ac-
quired by the Indian Republic from the French

2. Kacchativu and Tin Bighaare theterritorieshanded
over to Sri Lankaand Bangladesi sovereignty respec-
tively by the Government of India

3. Kacchativu and Tin Bighaarethose areasthat were
annexed by the Chinesein the 1962 Sino Indian War.
4, Kacchativu and Tin Bighaarethose enclaveswhich
weretramsferred to Indiaby |ease arrangementswith
Sri Lankaand Pakistan respectively.

Which one of the following pairsis not correctly
matched ?

1. Jahangir - William Hawkins
2. Akbar - Sir Thomas Roe
3. Shahjahan - Travernier

4. Aurangzeb - Manucci

Consider thefollowing statements:

1. If aperson looksat a coin which isin a bucket
of water, the coin will appear to be closer than it
really is

2. If a person under water looks at a coin above
the water surface, the coin will appear to be at a
higher level thanitrally is

Which of the above statementsis/are correct ?
l.1and?2 2. 1done

3.2done 4. Neither 1 nor 2

The employment assurance scheme envisages fi-
nancial asistance to rural areas for guarnteeing
employment to alteast

1. 50 Percent of the men and women seeking jobsin
therural areas

2. 50 percent of the men seeking jobs in the rural
areas

3. One man and one woman in arura family living
below the poverty line

4. One person in a rural landless household living
below the poverty line

Consider the following temperature and rainfall
data:

Month Temperature Rainfall
(°C) (cm)
January 6.7 14.0
February 6.7 13.2
March 7.2 14
April 8.9 9.4
May 11.1 81
June 13.9 8.1
July 15.0 9.6
August 15.0 12.2
Spetember 13.9 104
October 111 14.4
November 8.9 14.0
December 7.8 16.8

Theclimateto which thisdata pertain is

1. St. Lawrencetype 2. Chinatype

3. West European type 4. Mediterranean type
Lathyrism iscaused by excessive consumption of
1. Kesari dal 2. Mustard oil

3. Polished rice 4. Mushroom
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Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List-11

(Persons) (Journals)

A. Shyamji KrishnaVarma 1. Bande Matram
B. MadameBhikaji Cama 2. Indian Sociologist
C. Annie Besant 3. The Talwar

D. Aurobindo Ghosh 4. Common wealth

Codes:

A B C D
1 2 3 4 1
2 3 2 1 4
3. 2 3 1 4
4 3 2 4 1

A company manufacturing air-conditioners has
set amonthly target. Thetarget and the realised
values are showm in the bar chart.

Graph
Consider the following statements based on the
chart :
1. Thetargeted saleson amonthly basishavebeen
achieved
2. The overall target value has been exceeded by
7.5%
3. Thesalesdepartment deservesa pat on theback
Which of the above statementsisare correct ?
1.14done 2.2 done
3.1and2 4.2and 3
A British citizen stayingin Indiacannot claim right
to
1. Freedom of trade and profession
2. Equality before the law
3. Protection of life and personal liberty
4. Freedom of religion
Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
(Timber) (Country)
A. Ceder 1. Mynmar
B. Douglas Fir 2.Canada
C. Mahogany 3. Mexico
D. Teak 4. Honduras
Codes:

A B C D
1 3 2 1 4
2. 3 2 4 1
3. 2 3 4 1
4 2 3 1 4

In a group of five people, K, L and M are ambi-
tious, M, N and R arehonest, L, M and N arein-
telligent and K, N and R are industrious. Among
these, neither industriousnor ambitiousper son(s)
would include

1. K aone 2.LandR

3.MandN 4. Nonein the group

Teh first writer to use Urdu asthe medium of po-
etic expression was

1. Amir Khusrau 2. MirzaGhdlib

3. Bahadur Shah Zafar 4. Faiz

Barium in a suitable form isadministered to pa-
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tients before an X-ray examination of the stom-

ach, because

1. Barium allows X-raysto passthrough the stomach

on account of its transparency to X-rays

2. Barium compund, like magnesium sulphate, helps

in cleaning the stomach before X-ray examination

3. Barium is good absorber of X-rays and this helps

the stomach to appear clearly in constrast with-the

other regionsin the picture

4. Barium salts are white in colour and this helpsthe

stomach to appear clearly in contrast with other re-

gionsinthe picture

Consider the following statements regarding the

National Human Rights Commission of India:

1. Its Chairman must be retired chief justice of

India

2. 1t has formations in eachstate as state human

rightscommissions

3. itspowersare only recommedatory in nature

4.1t ismandatory to appoint awoman asamem-

ber of commission

Which of the above statementsare correct ?

1.1,2,3and4 2.2and 4

3.2and3 4.1and3

Match List | with List 11 and select the correct

answer using the codes given below thelists.

List-1 List-11

A. Cotton 1. Rainfall 12000-1500mm,
Temperature 40° - 60° C

2. Rainfall 1500-2000mm,
Temerature25°- 35°C

C. Sugarbeet 3. Rainfall 600-800 mm,

Temperature5°-18°C

B. Flax

D. Jute 4, Rainfall 500-1000 mm,
Temperature 18°-22°C
5. Rainfall 500-600 mm,
Temperature 18°-22°C
Codes:
A B C D
1 1 3 4 2
2. 2 3 5 4
3. 4 5 2 1
4 4 3 5 2

Theminimum land area recommended for forest
cover to maintain proper ecological balance in
Indiais

1. 25% 2.33% 3.43% 4. 53%

A man isstanding on the 8m long shadow of a 6m
lonepole. If thelength of hisshadow is2.4m, what
isthe height of theman ?

1.1.4m 2.1.6m 3.1.8m 4.2.0m

The paintings of Abanindranath Tagore are clas-
sified as

1. Realistic 2. Socilastic
3. Revivalistic 4. Impressionalistic

Iftheanglesof atrianglearein theratioof 4: 3:
2, then thetraingle

1. Isobtuse

2. Has one angle greater than 80°

3. Isaright triangle
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4. |sacute

From thethird century AD when theHun invation

ended the Roman Empire, the Indian merchants

relied moreand moreon the

1. African trade 2. West-European trade

3. South-East Asian trade

4. Middle- Eastern trade

Endoscopy, a technique used to explorethe stom-

ach or other inner parts of the body, isbased on

the phenomenon of

1. Total internal reflection 2. Interference

3. Diffraction 4. Polarisation

The planning process in the industrial sector in

India hasassumed arelatively lessimportant po-

sition in the nineties as compared to that in the

earlier period. Which one of the following is not

truein thisregard ?

1. Withthe advent of liberalisation, industrial invest-

ments/devel opments have largely been placed within

the domain of private and multi national sectors

2. With markets assuming a central place, therole of

central planning in many sectors has been rendered

redunbant

3. The focus of planning has shifted to sectors like

human resource development, infrstructure, popula-

tion control and welfare

4. The nation’s priorities have shifted away fromin-

dustrial development to rural development

Which one of thefollowing port citiesin venezula

has been developed as an oil port ?

1. Caracas 2. Maracaibo

3. Maracay 4. Carupano

Match list | with list Il and select the correct an-

swer using the codes given below thelists:

List | List Il

A. Pandit Vishnu 1. Introduced thescheme
Digambar Paluskar

of Raga classification
2. Proponent of Carnatic
music

3. Proponent of theK hyal
form of Hindustani
music

4.Wrotethemusicfor the
song ‘ Vande Mataram’

B. Venkatamahi

C. Shama Shastri

D. Amir Khusrau

Codes:

A B C D
1. 4 1 3 2
2. 4 1 2 3
3. 1 4 3 2
4 1 4 2 3

The surface area of spherical dome-shape-droof
of acylindrical water tank shown in thefigureis
figure

1.60mm? 2.109tm? 3.120mm? 4. 300mm?
Therewasno independent development of indus-
triesin India during the British rule because of
the

1. Absence of heavy industries
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2. Scarcity of foreign capital
3. Scarcity of natural resources
4. Preferences of therich toinvest inland
Srips of two metals A and B are firmly joined
together as shown in thefigure.
figure

on heating, A expands more than B does. If this
joined strip isheated, then it will appear as

1. figures

Consider thefollowing statements:
Small - scaleindustriesare, in most cases, n ot as
efficient and competitive as the lar ge-scale ones.
Yet the Government provides preferential treat-
ment and reservation in a range of productst ro
the small firmsbecause small scaleindustries
1. Provide higher employment on a per unit capi-
tal deployment basis
2. Promotearegional dispersion of industriesand
economic activities
3. Have performed better in export of manufac-
tured productsthan the the lar ge scale ones
4. Provides jobs to low - skilled workers, who
other-wise may not find employment avenueselse
- where
Which of the above statementsare correct ?
l.1land2 2 1and4 3. 2and3 4.3and4
Match the citieslabelled as A, B, C and D in the
given map with the names of cities and select the
correct answer using the codes given below the
names of cities

Map

Names of cities

1. Darwin 2. Kualalumpur 3. Lagos
4. Nairobi 5. Singapore
Codes:

A B C D
1 1 2 4 3
2. 2 1 4 3
3. 1 4 5 2
4. 4 3 5 2
Thefirst feature film (talkie) produced in India
was
1. Hatimtai 2. Alam Ara
3. Pundalik 4. RajaHarishchandra

Which one of thefollowing agricultural practices
iseco- friendly ?

1. Organic farming 2. Shifting cultivation

3. Cultivation of high yielding varities

4. Growing plantsin glass - houses

If X +2Y =2X +Y, the X?/Y2isequal to

1.0 2.1 3.2 4.4

A hemispherical bowl isfilled to the brim with a
bevarage. The contentsof thebowl aretransferred
intoacylindrical vessel whoseradiusis50% more
than its height. If the diameter is same for both
the bowl and the cylinder, then the volume of the
beveragein the cylindrical vessel will be
1.662/3% 2.78 /2% 3.100%

74.
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4. More than 100% (that is, some liquid will still be
left in the bowl)

A hunter aimshisgun at a point between the eye-
brows of amonkey sitting on thebranch of atree.
Just ashefires, the monky jumpsdown. The bul-
let will

1. Hit the monkey at the point aimed

2. Hit the monkey below the point aimed

3. Hit the monkey above the point aimed

4 . Missthe monkey altogether
Theeconomiccrisisin thelater half of 1990smost
seriously affected Indonesia, Thailand, Malaysia
and South Korea. The cause of the Crisiswas

1. Mismanagement of the financial resources and fi-
nancial sector, in general

2. The prolonged over-valuation of local curriencies
vis-a-visthewestern currencies

3. The downswing and recession oin the western
economies which earlier provided export market to
these export oriented countries

4. None of the above

A person of mixed European and Indian blood in
Latin Americaiscalled a

1. Mulatto 2. Mestizo

3. Miji 4. Mau Mau

Match list | with list Il and select the correct an-
swer using the codes given below thelists:

Listl List 1l

(Libraries) ( Locations)

A. Saraswati Mahal 1. patna
Library

B. Library of Tibetan 2. Dharamsala
Worksand Archives

C.Razalibrary 3. Thanjavur
D. Khuda Baksh 4. Rampur

Oriental Public

Library
Codes:

A B C D

1 3 2 4 1
2. 3 2 1 4
3. 2 3 1 4
4 2 3 4 1

In an office, the distribution of work hoursis as
shown in the following table:
No. of Staff Members No. of Hours Wor ked

5 0-19

12 20-24
25 25-29
40 30-34
15 35-39
8 40 - 45

Consider thefollowinginferencesdrawn from the
table:

1. Theaveragenumber of hoursworked by a staff
member isabout 30

2. The percentage of thosewho worked 35 or more
hoursislessthan 25

3. At least 5 staff membersworked morethan 44
hours
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Which of these inferencesigarevalid ?
1.14done 2.2 done
3.1&2 4.1,2& 3
The following persons cameto India at one time
or another :
1. Fa-Hien 2.1-Tsing
3. Megasthenese 4. Hieun-Tsang
When antsbite, they inject
1. Glacid aceticacid 2. Methanol
3. Formic acid 4. Stearic acid
Thefarmers are provided credit from a number
of sourcesfor their short and long-term needs. The
main sour ces of credit to thefarmersinclude
1. The Primary Agricultural Cooperative Socities,
commercial banks, RRBsand Private money lenders
2. The NABARD, RBI, commercial banks and pri-
vate money lenders
3. TheDistrict Central Cooperative Banks (DCCB),
the lead Banks . IRDP and JRY
4. The Large Scale Multi-purpose Adivasis
Programme, DCCB, ,IFFCO and commercial banks
which oneof thecountrieslabelled as1, 2, 3and 4
on the given map was granted member ship of G-
15initsVII Summit at Kuala Lumpur ?

Map

11 2.2 3.3 4.4

In a factory, quality assurances test is
conductucted on varioussamplesfor a spefic char-
acteristics value of the product. The values and
the number of samplesareasgiven in the follow-

ingtable:

Characteristic Value (X) No. of Samples
10 3
1 7
12 10
13 15
14 28
15 33
16 24
17 11
18 10
19 6
20 3

Consider the following statements based on the
table:

1. The probability that X<15is0.64

2. Theprobability that 13<x < 17 isgreater than
0.64

3. The probability that X = 15islessthan 0.22
Which oneof theabove statementsis/arenot true?
1.14done 21&2

3.2&3 4.1,2& 3

Transchart isthe

1. Chartering wing of the Ministry of Surface Trans-
port

2. Container service established by the Indian Rail-
ways

3. Training Institute of Maritime Studies a nd Re-
search
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4. Passenger Insurance Scheme of the Indian Rail-
ways
To Which Lodi Sultan does the given map relate
and what town doesthesitemarked A on themap
represent ?

Map

1. Behlol Lodi, Jaunpur 2. Sikandar Lodi, Aligarh
3. Ibrahim Lodi, Jaunpur 4. Ibrahim Lodi, Aligarh
“India hasthelargest population of the Asian X.
Today, there are just about 20,000 to 25,000 X in
their natural habitat speading acrosstheevergreen
forests, dry thorn forests, swvampsand grasslands.
Their prime habitats are, however, the moist de-
ciduousforests. The X population in Indiaranges
from North -West India where they arefound in
the forest divisions of Dehradun, Bijnor and
Nainital districts of UP to the Western Ghats in
the States of Karnataka and Kerelaand in Tamil
Nadu. In central India, their population isdistrib-
uted in southern Bihar and Orissa. In the East,
they are seen in North Bengal, Assam and a few
other States.”

Theanimal ‘X’ referref toin thisquotation is

1. Lion 2. Elephant

3. Tiger 4. One-horned Rhinoceros
Which one of thefollowing statementsisnot true
of the Konkan Railway ?

1. Thetotal length is about 760 km

2. It runs through the States of Karnataka, Goa,
Maharastraand Kerala

3. Itistheonly rail route that cuts acrossthe Western
Ghats

4. TheKonkan Railways Contruction Company which
came into being raised money through Public I ssues
TheProduct lifecyclefrom inception to demiseis
shown in the graph Match List | with List I and
select the correct answer using the codes given
below thelists:

List | (Stage)
A. Product Development B. Maturity
C. Growth D. Introduction
Figure
Codes:

A B C D
1 1 4 2 3
2 1 4 3 2
3. 4 1 2 3
4 4 1 3 2

89.
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Which one of the following is a useful functional
association between fungi and the roots of higher

plants ?
1. Biofertilizer 2. Coraloid root
3. Lichen 4. Mycorrhiza

The physical regions marked as 1, 2, 3 and 4 on
the given map arerespectively

Map
1. Andes, Brazilian Sield, Guyana Highlands and
Amazon Basin
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2. Andes, Guyana Highlands, Brazilian Sield, and
Amazon Basin
3. Amazon Basin, GuyanaHighlands, Brazilian Sield
and Andes
4. Guyana Highlands, Brazilian Sield, Andes and
Amazon Basin
Thegiven figure shows a portion of Southern In-
dia. Theproposed site (K oodankulam) for the con-
struction of two 100 MW nuclear power plants
has been labelled in the map as

Map
LA 2.B 3.C 4.D
At agiven time, two player sarestanding on a play-
field. TheCartesian coordinatesof their locations
are (20, 60) and (-40, -20) units. What isthe dis-
tance between them ?
1. 60 units 2. 80 units
3. 100 units 4. 140 units
‘AbinavaBharat’, a scret society of revolutionar-
ies, was organised by
1. Khudiram Bose 2.V.D. Savarkar
3. Prafulla Chaki 4. Bhagat Singh
Which oneof thefollowing typesof coal contains
a higher percentage of carbon than therest ?
1. Bituminous coal 2. Lignite
3. Peat 4. Anthracite
Which one of the following is the objective of
National Renewal Fund ?
1. To safeguard the interest of workers who may be
affected by technological upgradation of inductry or
closure of sick units
2. To develop the core sector of the economy
3. For the development of infrastructure such as en-
ergy, transport, communications and irrigation
4. For human resources development such asfull lit-
eracy, employment, population control, housing and
drinking water
Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
(Resorts) (States)
A. Chakrata 1. Assam
B. Haflong 2. West Bengal
C. Kalimpong 3. Uttar Pradesh
D. Kufri 4. Himachal Pradesh
Codes:

A B C D
1 1 3 2 4
2. 3 1 4 2
3. 3 1 2 4
4 1 3 4 2

Consider thefollowing statementsabout European
Union :

1. The European Union was known early as the Eu-
ropean Community

2. The Single European Act (1986) and the M aastricht
Treaty were the milestonesin its formation

3. Citizens of the European Union countries enjoy
dual citizenship

4. Switzerland is a member of the European Union

98.

99.

100.

101.

102.

103.

104.

105.

106.

Which of the avove statements are correct ?
1.2and4 2.1and 3
3.3and 4 4.1,2and 3
The area of an Ellipse is twice of a circle. The
major diameter of the Ellipseistwicethat of the
mirror diometer. Theradiusof thecircleis?
1. 50% of the minor diometer of the Ellipse
2. 50% of the major diometer of the Ellipse
3. Minor diometer of the Ellipse
4. Mgjor diometer of the Ellipse
Which one of the following wasinitially the most
powerful City State of Indian in the 6th century
B.C.?
1. Gangadhar 2. Kamboj
3. Kashi 4. Magadh
Cobalt - 60iscommonly used in radiation ther apy
becauseit emits
1. Alpharays 2. Betarays
3. Gammarays 4. X -rays
In the given figure, the site of the Tehri dam has
been labelled as

Figure

LA 2.B 3.C 4.D
In which of the following areasin the given map,
therewas a recent discovery of copper deposits
by atomic MineralsDivision of the Department of
Atomic Energy ?

Map

1.1 2.2 3.3 4.4
Which one of the following statementsis not cor-
rect ?
Dinar/New Dinar isthe currency of
1. Sudan 2. Yugosavia
3.UAE 4. Tunisia
Which one of the following pairsis not correctly
matched ?
1. Jm Laker : Highest number of wicketsinaCricket
Test Match
2. Brian Lara: Highest scorein aninningsin Test
Cricket
3.Sanath  : Highest patnershipin aninningsin
Jayasurya Test Cricket
and Roshan
Mahanama
4. Sunil M. : Highest aggregate of runsin Test
Gavaskar  Cricket
Themost short-lived of all of theBritain’s consti-
tutional experimentsin Indiawasthe
1. Indian Councils Act of 1861
2. Indian Council Act of 1892
3. Indian Councils Act of 1909
4. Government of India Act of 1919
Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
(Indutries) (Industrial centre)
A. Pearl fishing 1. Pune

B. Automobiles 2. Tuticorin
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C. Ship building 3. Pinjore
D. Engineering goods 4. M ar magoa
Codes:

A B C D
1 2 1 4 3
2. 2 1 3 4
3. 1 2 4 3
4 1 2 3 4

The language spoken by the largest number of
peoplein theworld is

1. Hindi 2.English 3. Mandarin 4. Spanish
“It made its proposals in May. It still wanted a
united India. Therewasto beafederal Union com-
posed of British provinces.”

The above quotation isrelated to

1. Simon Commission 2. Gandhi - Irwin Pact

3. Cripps Mission 4. Cabinet Mission

The Governor - General who followed a spirited
“Forward” policy towards Afghanistan was

1. Minto 2. Dufferin 3. Elgin 4, Lytton
Thefirst marinesanctuary in India, having within
itsbounds cor al reefs, mollusca, dolphins, tor toises
adn variouskindsof seabirds, hasbeen established
in

1. Sundrabans 2. ChilikaLake

3. Gulf of Kachchh 4. Lakshadweep

Which one of the following pairs of folk dance
forms and the Satesisnot correctly matched ?

1. Korku :Maharastra

2. Jhummar : Haryana

3. Thali : Himachal pradesh
4.Mukna : Manipur

L ow temper atures(Crogenics) find application in
1. Spacetravel, surgey and magnetic levitation

2. Surgery, magnetic leviation and telemetry

3. Spacetravel, surgery and telemetry

4. Spacetravel, magnetic leviation and tel emetry
The population growth ratein Kerelaisthe low-
est among major Indian States. Which one of the
following isthe most widely accepted reasons for
this?

1. Kerela has made the highest investment in family
planning

2. Kerelahasthe highest literacy ratein India

3. Kerela hasinvested heavily in promoting literacy
and public health and placed high priority on social
policies

4. The population pyramid in Kerela has relatively
fewer women in the reproductive age group
Inorder towintheGrand Slamin Tennis, aplayer
must win which one of the following groups of
tournaments?

1. Ausstralian Open, Wimbledon, French Open, U.S.
Open

2. Wimbeldon, French Open, Paegas Czec Open, U.S
Open

4. Davis Cup, Wimbledon, French Open

Which one of the following legislations does not
deal with the protection of environment ?

1. The Water (Cess) Act, 1977
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2. The Forest (Conservsation) Act, 1980

3. The Public Liability Insurance Act, 1991

4. The Port Laws Amendment Act, 1997
Thelndo-Greek Kingdom set up in north Afghani-
stan in the beginning of the second century B.C.
was

1. Bacteria 2.Scythia 3. Zedrasia 4. Aria
Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List-11

A.WTO 1 Providesloanstoadressshort-term
balance of payment problems

B. IDA 2. Multi-lateral trade negotiation
body

C.IMF 3. Sanction of Soft loans

D.IBRD 4. Facilitatinglending and borrowing
for reconstruction and development

Codes:

A B C D
1 2 3 4 1
2 2 3 1 4
3. 3 2 4 1
4 3 2 1 4

At atimewhen empiresin Europewerecrumbling
before the might of Napolean, which one of the
following Gover nors- General kept theBritish flag
flying highinIndia?
1. Warren Hastings 2. Lord Cornwallis
3. Lord Wellesley 4. Lord Hastings
Match the areas shown as A, B, C and D on the
given map with the largest religious minorities.
Select the correct answer using the codes given
below thelist of minorities.

Map

Largest ReligiousMinorities

1. Buddists 2. Christians
3. Jains 4.Muslims 5. Sikhs
Codes:

A B C D
1 5 1 3 2
2 4 3 2 1
3. 5 3 1 2
4. 4 2 1 3
Which one of the following pairs of States and
tribesisnot correctly matched ?
1. Assam : Miri
2. Nagaland - Konyak
3. Arunachal Pradesh  : Apatani
4. Madhya Pradesh : Lambada

Amar, Akbar and Anthony are friends, being
looked after by amatron Farah. Amar weighs50%
more than Akbar and Anthony weighs 25% less
than Amar. Farah weighsathird of the combined
weight of the three boys. All four together weigh
232 kg. The correct arrangement of the persons
in the ascending order of their weightsis

1. Anthony, Akbar, Farab, Amar

2. Anthony, Akbar, Amar, Farah

3. Akbar, Anthony, Amar, Farah



122.

123.

124.

125.

126.

127.

4. Akbar, Anthony, Farah, Amar
Which Indian nationalists leader looked upon a
war between Germany and Britian as a godsent
oppurtunity which would enablel ndiansto exploit
the situation to their advantage ?
1. C. Rajagopal achari 2. M.A.Jinnah
3. Subhash Chandra Bose 4. Jawaharlala Nehru
Asper the 1991 Census, which one of the follow-
ing groups of Union Territories had the highest
literacy rate ?
1. Chandigarh and Dadra & Nagar Haveli
2. Delhi and Andaman & Nicobar Islands
3. Andaman & Nicobar Islands and Pondicherry
4. Pondicherry and Delhi
In therough outline map of a part of Jammu and
Kashmir shown in the figure, places marked, A,
B, C and D represent respectively

Figure

1. Anantnag, Baramulam Srinagar and Kargil
2. Baramula, Srinagar, Kargil and Anantnag
3. Baramula, Srinagarm Anantnag and kargil
4. Srinagar, Baramula, Kargil and Anantnag
Which one of the following leaders of the Con-
gress was totally in favour of the Cabinet Mis-
sion Plan ?
1. Mahatma Gandhi
3. Sardar Patel
4. Maulana Abul Kalam Azad
In the November 1998 Composite Dialouge Pro-
cessbetween | ndiaand Pakistan, threecontentious
issueslisted below as 1, 2 and 3 wer e discussed
1. Disengagement of troops
2. Settlement of boundary disputes
3. Sharing theriver water

Map
Match theissueswith theareasmarked in themap
asA, B and C and select the correct answer using
the codes given below ?

2. Jawaharla Nehru

Codes:

A B C
1. 2 1 3
2. 2 3 1
3. 1 3 2
4 3 2 1

Which one of the following statementsis not cor -
rect ?

1. ‘Neel Darpan’ was a play based on the exploita-
tion of theindigo farmers

2. Theauthor of the play ‘ Ghasiram Kotwal’ isVVojay
Tendulkar

3. The play ‘Navanna by Nabin Chandra Das was
based on the famine of Bengal

4. Urdu theatre was used to depend heavily on Parsi
theatre

128. Which one of the following Indian leaders was

dismissed by theBritish from thelndian Civil Ser-
vice?

1. Satyendranath Tagore

2. Surendranath Bannerji

129.

130.

131.

132.

3.RCDuitt 4. Subhash Chandra Bose

Match List | with List Il and select the correct

answer using the codes given below thelists.

Listl List 1l

(Writers) (Books)

A. Sashi Tharoor 1. Clear Light of Day

B. Amtav Ghosh 2. Circle of Reason

C. Anita Desai 3.Loveand longingin
Bombay

D.Vikram Chandra 4. Show Business

Codes:

A B C D
1 4 2 1 3
2. 4 2 3 1
3. 2 4 1 3
4 2 4 3 1

Match List | with List Il and select the correct
answer using the codes given below thelists.

Listl List 1l
(Rivers) (Dams)
A. Cauvery 1. Alamatti
B. Krishna 2. Mettur
C. Narmada 3. Gandhi Sagar
D. Chambal 4. Sardar Sarovar
Codes:

A B C D
1 1 4 2 3
2. 2 1 4 3
3. 2 1 3 4
4 1 3 4 2

Match List | with List 11 and select the correct
answer using the codes given below thelists.
Listl List 1l
(Books) (Authors)
A. TheFirg Indan War 1. Rabindranath Tagore

of Independence

B. Anand Math 2. Sri Aurobindo

C. LifeDivine 3. Bankim Chandra
Chatterji
D. Sadhana 4. Vinayak Damodar
Savarkar
Codes:
A B C D
1 4 3 2 1
2 3 4 1 2
3. 4 3 1 2
4. 3 4 2 1
Consider the following events:
1. Indigo Revolt 2. Santhal Rebellion

3. Deccan Riot 4. Mutiny of the Sepoys
Thecorrect Chronological sequence of the events
is
1.4,213
3.2,4,31

2.4,2,3 1
4.2,4,1,3

133. Consider thefollowing statements:

Glass can be etched or scartched by

1. Diamond 2. Hydrofluoric acid

3. Aquaregia 4. Conc. Sulphuric acid
Which of these statementsare correct ?
l.1and4 2.2and 3



3.1and?2 4.2and 4
134.Match List | with List I and select the correct an-
swer using the codes given below thelists.

Listl List1l
(Year) (Event)
A. 1775 1. First Anglo - Burmese War
B. 1780 2. First Anglo - Afghan War
C.1824 3. First Anglo - Maratha War
D. 1838 4. Second Anglo - Mysore War
Codes:

A B C D
1 4 3 2 1
2. 4 3 1 2
3. 3 4 1 2
4, 3 4 2 1

135. Since 1980, the share of theteritary sector in the

total GDP of India has
1. Shown anincreasing trend
2. Shown adecreasing trend
3. Remained constant 4. Been fluctuating
136. Theterm imperial preference was applied to the
1. Special privilegeson British importsin India
2. Racial discrimination by the Britishers
3. Subordination of Indian interest to that of the
British
4. Preferencegiven to British political agentsover
Indian Princess
Directions : The following 10 items of two state-
ments, one labelled as ‘Assertion A’ and the other
labelled as*Reason R'. You areto examine these two
statements carefully and decide if the ‘assertion A’
and the ‘Reason R’ are individually true and if so,
whether the ‘Reason R’ is a correct explanation of
the ‘assertion A’. Select your answers to these items
using the codes given below and mark your answer
sheet accordingly.
Codes:
1. Both A and R aretrue and R is the correct expla-
nation of A
2. Both A and R are the but R is NOT the correct
explanation of A
3. Aistruebut Risfase
4. Aisfasebut Ristrue
137. Assertion (A) : During the time of Akbar, for every
ten cavalrymen, the mansabdars had to maintain
twenty horses
Reason (R) : Horsesjad to be rested while on march
and replacements were necessary in times of war.
138. Assertion (A) : Lord Linlith gow described the Au-
gust Movement of 1942 the most serious rebellion
since Sepoy Mutinty
Reason (R) : Therewas massive upsurge of the peas-
antry in certain areas
139. Assertion (A) : To dilute sulphuric acid, the acid is
added to water and not water to the acid
Reason (R) : Spefici heat of water is quite large
140. Assertion (A) : Devauation of acurrency may pro-
mote export
Reason (R) : Price of the country’s products in the
internartional market may fall dueto devaluation

141. Assertion (A) : Fiscal deficit isgreater than budget-
ary deficit
Reason (R) : Fiscal deficit if the borrowing from the
Reserve Bank of India plus other liabilities of the
Government to meet its expenditure

142. Assertion (A) : Accordingto Statistics, morefemale
children are born each year than male childrenin In-
dia
Reason (R) : In India, the death rate of amale child
is higher than thar of afemale child

143.Assertion (A) : Insect resistant transgenic cotton has
been produced by inserting Bt gene
Reason (R) : The Bt gene is derived from a bacte-
rium

144. Assertion (A) : Information technology is fast be-
coming avery important field of activity in India
Reason (R) : Softwareisone of the major exports of
the country and Indiahas avery strong basein hard-
ware

145. Assertion (A) : Chile continues to be an important
producer of copper in the world
Reason (R) : Chileisendowed withtheworld'slarg-
est deposit of prophyry copper

146. Assertion (A) : Dolly wasthefirst colned mammal
Reason (R) : Dolly was produced by in citro fertili-
zation

147. One consistent feature found in the history of
southern India was the growth of small regional
kingdomsrather than lar ge empires because of
1. The absence of mineralslikeiron
2. Too many divisionsin the socia structure
3. The absence of vast areas of fertile land
4. The scarcity of man power

148. Consider thefollowing statements:
An ordinary light bulb has the rather short life
becausethe
1. Filament wireisnot uniform
2. Bulb cannot be evacuated completely
3. Wiressupporting thefilament melt at high tem-

peratures.
Which of thee above statementsare correct ?
1.1land3 2.2and 3
3.1land2 4.1,2& 3

149. From the balance sheet of a company, it is pos-
sibleto

1. Judge the extent of profitability of the company
2. Assess the profitability and size of the company
3. Determine the size and composition of the assets
and liabilities of the company
4. Determine the market share, debts and assets of
the company

150. In eye donation, which one of the following parts
of donor’seyeis utilized ?
1. Iris 2. Lens 3.Cornea 4. Retina
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10.

Which of the following elements is essential for
the construction of nuclear reactors ?

1. Cobalt 2. Nickel

3. Zirconium 4, Tungsten
Theeducated middleclassin India

1. opposed the revolt of 1857

2. supported the revolt o f 1857

3. remained neutral to therevolt in 1857

4. fought against nativerulers

Which one of the following regions of the world
suppliesthemaximum of our imported commdities
(in termsof rupeevalue)

1. Africa 2. America

3. Asiaand Oceania 4. Europe

Thecurrency of theproposed European M onetary
Union will be

1. Dollar 2. Euro

3. Guilder 4. Mark

Which one of the following was the venue for the
prelimenary talksbetween the Srilankan Gover n-
ment a nd representatives of Tamil United Lib-
eration Front and other militant groups?

1. New Delhi 2. Colombo

3. Thimpu 4. Madras

Consider the following statements regarding
asteriods:

1. Asteriods are rocky debris of varying sizes or-
biting thesun

2. Most of the asteriods are small but some have
diameter alargeas 1000 km

3. Theorbit of asteriods liesbetween the or bits of
Jupiter and Saturn.

Of these statements

1.1, 2and 3 arecorrect 2. 2 and 3 are correct
3.1and 2 arecorrect 4.1 and 3 are correct
‘MERCOUR’ consists of group of countries of

1. Africa 2. Asa

3. Latin America 4. South East Asia

Which one of thefollowing countrieshasreplaced
Italy as the major importer of bauxite from In-
dia?

1. Canada 2. Greece

3. Ukraine 4. United Arab Emirates
Lord Mountbatten cametoIndiaasViceroy along
with specific intruction to

1. balkanize the Indian sub-continent

2. keep Indiaunited if possible

3. accept Jinnah's demand for Pakistan

4. persuade the Congress to accept partition

Which oneof thefollowingisthecorrect sequence
of the States (labelled 1, 2, 3and 4) of India shown
on the map in descending order in termsof their
available ground water resourcesfor irrigation ?
1.3,4,12 2.3,4,2,1

3.4,31, 2 4.4,3,2,1

12.

13.

14.

Consider thefollowing statements:
The price of any currency in international mar-
ket isdecided by the
1. World Bank
2. demand for goods/services provided by the
country concer ned
3. stability of the government of the concerned
country
4. economic potential of the country in question
Of these statements
1.1, 2,3 and 4 are correct
2.2and 3arecorrect 3.3 and 4 are correct
4.1 and 4 are correct
Consider thefollowing statements:
Cokeisone of the materials of the charge added
to blast furnace for the the production of steel/
iron. Itsfunction isto
1. act asareducing agent
2. removesilica associated with theiron ore
3. function asfuel, to supply heat
4. act as an oxidising agent
Of these statements
l.1and2arecorrect 2.2 and 4 are correct
3.1land 3arecorrect 4.3 and 4 are correct
A consumer issaid to bein equilibrium, if
1. heis able to fulfil his needs with agiven level of
income
2. heis able to lives in full comforts with a given
level of income
3. hecan fulfil hisneedswithout consumption of cer-
tainitems
4. heis able to locate new sources of income
Production of Rice and Wheat

In millions of Tonnes

Year Rice Wheat Per centage of
wheat to Rice
1950-51  20.58 6.46 314
1960-61  34.58 11.00 31.8
1970-71  42.22 23.83 56.4
1980-81  53.63 36.31 67.7
1990-91  74.29 55.14 74.2
1994-95 81.81 65.77 80.4
1995-96  79.62 62.62 78.6

The above table indicatess the performance of
Indiain rice and wheat production from 1950-51
to 1995-96. Which of the following conclusions
arrived at from the above table would be valid ?
1. therehas been record production of riceaswell
aswheat in 1994-95

2. Theratio of wheat toriceproduction seemstoa
have steadily increased over 16 years

3. Wheat has not been popular among the Indian
population before 1980

4. India became self-sufficient in rice and whear
only after 1990



15.

16.

17.

18.

19.

20.

21.

22.

23.

Select the correct answer using the codes given
below :

Codes:
1.1and2 2.1,2,3and 4
3.3and 4 4. None

Among the Indian States shown labelled 1, 3 and
4 in the rough outline map given, the correct se-
guence of descending order of per cent of sched-
uled tribe population to their total population is:

Map
11,324 2.3,1,2,4
3.3,1,4,2 4.1, 3,4,2

which one of thefollowing sets of Statesstandsto
benefit the most from the Konkan Railway ?

1. Goa, Karnataka, Maharastra, Kerala

2. Madhya Pradesh, Maharastra, Tamil Nadu, Kerela
3. Tamil Nadu, Kerela, Goa, Maharastra

4. Gujarat, Maharastra, Goa, Tamil Nadu

The supply - side economies lays greater empha-
sison the point of view of

1. producer 2. global economy

3. consumer 4. middle-man

Which one of the following languages belongs to
theAustric group ?

1. Marathi 2. Ladakhi

3. Khasi 4. Tamil

Which one of the following metals does not form
amalgams?

1. Zinc 2. Copper

3. Magnesium 4. Iron

Indonesian forest firein 1997 was caused by

1. greenhouse effect

2. depeletion of ozone layer

3. El Nino effect 4. None of the above
LMNORP, isa semicircle with centreat R and di-
ameter LP, L SR and RQParealso semicircleswith
centresat T and U and diametersLR = RP=1/2.
Theratio of perimetersof LMNOP and L SRQP
is

Figure
1.075:1 2.1:1
3.1:0.75 4.125:1

Match the following research institutes A, B, C
and D with their respective location labelled as 1
to 6 in the given rough outline map :

Map
A. Central Drug Research Institute
B. National Atlas and Thematic mapping
organisation
C. National I nstitute of Ocean technology
D. Temperate Forest Research Centre
Select the correct answer using the codes given
below :

Codes:

A B C D
1 4 2 2 6
2 4 5 1 6
3. 2 3 4 5
4 1 6 2 3

Bharat Ratna was awarded in 1997 to

24,

25.

26.

1. Dr. Homi Bhabha (Posthumous)

2. Former President R. Venkataraman

3. Satyqjit Ray (Posthumpous)

4. Dr. Abdul Kalam

Which of thefollowing statements aretrue about
the India - born woman astronant Kalpana
Chawla ?

1. Shewasborn in Karnal

2. Sheflew on board the shuttleflight STS- 87
3. Shewastrained at the Kennedy Space Centre
4. She did a space-walk to retrieve the Spartan
Satellite

Select the correct answer using the codess given
below :

l.1land?2 2.2and 3

3.1,2and 3 4.1,2and 4

A man purchases two clocks A and B at a total
cost of Rs. 650. He sells A with 20% profit and B
at alossof 25% and getsthesameselling pricefor
both theclocks. What arethepurchasing of A nad
B respectively ?

1. Rs. 225; Rs. 425 2. Rs. 250; Rs. 400

3.R. 275; Rs. 375 4. Rs. 300; Rs. 350

A fuseisused in mainselectric supply as a safety
device. Which one of the following statements
about the fuseiscorrect ?

1. It isconnected in parallel with the main switch

2. Itismade mainly from silver aloys

3. It must have alow melting point

4. 1t must have a very high resistance.

Directions(Qs. 27t040) : Thefollowing 16 items of two

27.

28.

29.

30.

statements, onelabelled as* Assertion A’ and the other
labelled as*Reason R'. You areto examine these two
statements carefully and decide if the ‘assertion A’
and the ‘Reason R’ are individualy true and if so,
whether the ‘Reason R’ is a correct explanation of
the ‘assertion A’. Select your answers to these items
using the codes given below and mark your answer
sheet accordingly.

Codes:

1. Both A and R aretrue and R is the correct expla-
nation of A

2. Both A and R are the but R is NOT the correct
explanation of A

3. Aistruebut Risfase

4. Aisfasebut Ristrue

Assertion (A) : The Gandhara School of Arts bears
the mark of Hellenistic influence

Reason (R) : Hinayanaform was influenced by that
art.

Assertion (A) : Formic acid is a stronger acid than
acetic acid

Reason (R) : Formic acid is an organic acid
Assertion (A) : Atfirst the Turkish administrationin
Indiawas essentially military

Reason (R) : Thecountry waspaecelled out as’ | gtas
among leading military leaders

Assertion (A) : According to Ashoka's edicts social
harmony among the people was moreimportant than
religious devotion



3L

32.

33.

35.

36.

37.

38.

39.

40.

41.

Reason (R) : He spread the ideas of equality instead
of promotion of religion

Assertion (A) : Thetemperature of ametal wirerises
when an electric current is passed through it.
Reason (R) : Colision of metal atomswith each other
releases heat energy

Assertion (A) : The Khilafat Movement did bring
the urban muslimsinto thefold of the National move-
ment.

Reason (R) : There was a predominant element of
anti-imperialism in both the National and Khilafat
movements.

Assertion (A) : Phenyl isused asahousehold germi-
cide

Reason (R) : Phenyl isaphenol derivative and phe-
nol is an effective germicide.

Assertion (A) : Partition of Bengal in 1905 brought
an end to the Moderates' role in the Indian freedom
movement.

Reason (R) : The Surat session of Indian National
Congres seperated the Extremists from the Moder-
ates.

Assertion (A) : Thefirst ever Bill to make primary
education compulsory in Indiawasrejected in 1911.
Reason (R) : Discontent would have increased of
every cultivator could read.

Assertion (A) : Sodium metal is stored under kero-
sene

Reason (R) : Metallic sodium melts when exposed
to air

Assertion (A) : The Congress rejected the Cripps
proposals

Reason (R) : The CrippsMission consisted solely of
whites

Assertion (A) : The United States of America has
threatened to ask the World Trade Organisation
(WTO) to apply sanctions against the developing
countriesfor the non-observance of 1LO conventions
Reason (R) : The United States of Americaitself has
adopted and implemented those ILO conventions
Assertion (A) : During thereign of Shahjahan, Dara
Sikoh was sent on expedition to Balkha, Badakhsan
and Qandahar.

Reason (R) : The expedition sent by Shahjahan to
the Middle - East was amarvellous success
Assertion (A) : Gandhi stopped the Non-Coopera-
tion Movement in 1922.

Reason (R) : Violence at Chauri Chauraled him to
stop the movement

Thecorrect sequence of different layersof the at-
mosphere from the surface of the Earth upwards
is:

1. Troposphere, Stratosphere, lonosphere, Mesos-
phere

2. Stratosphere, Troposphere, |onosphere, Mesos-
phere

3. Troposphere, Stratosphere, Mesosphere, |ono-
sphere

4. Stratosphere, Troposphere, Mesosphere, 1ono-
sphere

42.

43.

45,

46.

47,

48.

49,

If 15 pumps of equal capacity can fill atank in 7
days, thehow many extra pumpswill berequired
tofill thetank in 5 days?

1.6 2.7 3.14 4.21
Which of the following pairs are correctly
matched?

1. Lothal : Ancient dockyard

2. Sarnath : First Sermon of Buddha

3.Rajgir : Lion capital of Ashoka

4. Naland : Great seat of Buddhist learning
Select the correct answer using the codes given
below

1.1,2,3and4 2.3and 4

3.1,2and4 4.1and?2

Which one of the following pairs of citieshasre-
cently been connected through a 6-lane express

way?

1. Ahmedabad : Vadodara
2. Dhaka : Chittagong
3. Isamabad : Lahore

4, Mumbai : Pune

Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
A. Ringgit 1. Indonesia
B. Baht 2. South Korea
C. Rupiah 3. Thailand
D. Won 4. Malaysia
Codes:

A B C D
1 1 3 4 2
2 4 3 1 2
3. 1 2 4 3
4 4 2 1 3

Consumption of fish is considered to be healthy
when compared to flesh of other animals because
fish contains

1. Polyunsaturated fatty acids

2. saturated fatty acids

3. essentia vitamins

4. more carbohydrates and proteins

Consider thefollowing statements:

Ahadis were those trooperswho

1. offered their servicesssingly

2. did not attach themselvesto any cheif

3. had the emperor astheir immediate colonel

4. attached themselvesto Mirzas

Of these statements:

1.1,3and 4 arecorrect 2.1, 2 and 3 are correct
3.2and 3arecorrect 4.1 and 4 are correct

Out of thethreeannual examinations, each with a
total of 500 marks, a student secured average
marks of 45% and 55% in the first and second
annual examinations. To have an overall average
of 60%, how many marks does the student need
to ssecurein thethird annual examination ?

1. 450 2. 400 3.350 4. 300
When thelndian Muslim L eaguewasinduced into
theinterim government in 1946, Liyagat Ali heads
1. Foreign affairs 2. Home



50.

51

52.

53.

55.

56.

57.

58.

3. Finance 4. Defence

Which oneof thefollowing ancient I ndian records
istheearliest royal order to preservefood grains
to be utilised during the crisesin the country ?

1. Sohagaura Copper-plate

2. Rummindei pillar-edict of Ashoka

3. Prayaga-Prasasti

4. Mehrauli Pillar inscription of Chandra
According to Meadows (1972), if the present
trendsin world population, industrialisation, pol-
lution, food production and resource depletion
continue unchanged, the “Limitsto Growth” on
our planet will bereached in the next.

1. 50 years 2.100 years

3. 150 years 4. 200 years

Human Poverty Index wasintroduced in the Hu-
man Development Report of the year

1. 1994 2. 1995 3. 1996 4. 1997
Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
(Disease) (Organism)
A. Malaria 1. Fungi
B. Poliomylitis 2. Bacteria
C. Tuberculosis 3. Virus
D. Ringworm 4. Protozoan
Codes:

A B C D
1 4 3 2 1
2 4 3 1 2
3. 3 4 1 2
4 3 4 2 1

Consider thefollowing :
1. Tughlaquabad Fort 2. Lodi Garden

3. Qutb Minar 4. Fatehpur Sikri

The correct chronological order in which they
werebuilt is:

1.3,1,4,2 2.3,1,2,4

3.1,324 4.1,34, 2

Which one of thefollowing satisffiestherelation-
shipDda:aDD::Rrb: ?

1. DDA 2.RRR 3.bRR 4. BBr

The concept of Eight-fold path forms the theme
of

1. Dipavamsa

3. Mahaparinibban Sutta
4. Dharma Chakra Pravartana Sutta

Therecent LandminesConferencetosign thehis-
toric treaty was held in the capital city of

1. Canada 2. Japan

3. Sweden 4. Zimbabwe

Which of the following pairs are correctly
matched?

1. Dow Jones: New York

2. Hang Seng : Seoul

3.FTSE - 100: London

Select the correct answer using the codes given
below :
Codes:
1.1,2and3

2. Divyavadana

2.2and 3

59.

60.

61.

62.

63.

3.1and?2 4.1and3

The Indian National Congress agreed in 1947 to
the partition of the country mainly because

1. the principle of two-nation theory was then accept-
ableto them

2. it wasimposed by the British Government and the
Congresswas helplessin thisregard

3. they wanted to avoid large-scale communal riots
4. Indiawould have otherwiselost the opportunity to
attain frredom.

Haemophiliaisagenetic disorder which leadsto:
1. decrease in haemoglobin level

2. rheumatic heart disease

3. decreasein WBC 4. non-clotting of blood
Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
A. 1556 1. Battle of Haldi Ghati
B. 1600 2. Nadir Shah’scaptureof Delhi
C. 1686 3. Death of Shivaji
D. 1739 4, Grant of Charter to East India
Company

5. Accession of Akbar
Codes:

A B C D
1 3 4 2 1
2 5 4 3 2
3. 5 2 1 4
4 1 5 3 2

A squarepond has2m sidesand is1m deep. If itis
tobeenlarged, thedepth remaining the same, into
acircular pond with the diagnol of the square as
diameter asshown in thefigure, then what would
bethevolume of earth to beremoved ?

Figure
1. (2n-4) m® 2. (4n-4) m 3. (4n-2) m® 4. (2n-2) m®
Match riverslabelled A, B, C and D on thegiven
Map with their names given in thelist and select
the correct answer using the codes given below
thelists:

Map

List|
1. &. Lawrence 2. Orinoco
3. Mackenzie 4, amazon
5. Yukon
Codes:

A B C D
1. 4 3 2 1
2. 5 3 1 2
3. 5 4 1 3
4 3 1 4 2

Consider the following statements about acety-
lene:

1. Itisused in welding industry

2. It isaraw material for preparing plastics

3. it iseasily obtained by mixing silicon coarbide
and water

Of these statements
1.1 and 2 are correct
3.2 and 3 and correct

2.1 and 3 are correct
4.1, 2 and 3 are correct
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At the time of India’s Independence, Mahatma
Gandhi was

1. amember of Congress Working Committee

2. not amember of the congress

3. the President of the Congress

4. the General Secretary of the Congress

A ball isdropped from thetop of a high building
with a constant acceleration of 9.8 m/s*. what will
beitsvelocity after 3 seconds ?

198m/s 2.19.6m/s 3.29.4m/s 4.39.2m/s
The economist who was asociated with the WTO
draft document is:

1. AK.Sen 2. T.N. Srinivasan

3. J.N. Bhagwati 4. Avinash Dixit
Onelocal and another expresstrain were proceed-
ing in the same direction on parallel tracks at 29
km/hour and 65 km/hour respectively.
Thedriver of theformer noticed that it took ex-
actly 16 secondsfor thefaster train to passby him.
What isthelength of the faster train ?

1.60m 2.120m 3.160m 4.240m

In the given map the shaded part represents
Akbar’sempireat a certain juncture: ‘A’ stands
for an independent country and ‘B’ marksthesite
of a city. Which one of the following alter natives
givesall correct information ?

Map

1. Akbar in 1557 : (A) Golkunda,
(B) Lahore

2. Akbar in 1557 : (A) Khandesh,
(B) Multan

3. Akbar in 1605 : (A) Gondwana
(B) Multan

4. Akbar in 1605 : (A) Gondwana

Estuaries posses blooms of excessive growth of a
pigmented dinoflagellates. Thesebloomsarecalled
1. red tides 2. seatides

3. black tides 4. seaflowers

Consider thefollowing climatic conditions(north-
ern hemisphere) :

Temperature Rainfall
C° cm

J 39 4.7

F 4.4 5.7

M 8.3 8.2

A 14.4 9.2

M 20.0 9.2

J 23.3 17.7

J 27.8 145

A 27.8 14.0

S 22.3 12.7

@) 18.3 7.0

N 12.2 5.0

D 6.7 35

These are most likely to be found in the natural

regionsof :

1. Chinatype 2. Equatorial type

3. Hot desert type 4. Monsoon type
A, B, C, D, E and F not necessarily in that order
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aresittingon six chairsregularly placed around a
round table. It is observed that

A isbetween D and F

CisoppositeD

and D and E arenot on neighbouring chairs.
Which one of the following pairs must be sitting
on neighbouring chairs?

1L AandB 2.CandE 3.BandF 4.AandC
The number of economically active women (ex-
cluding students and those doing domestic duties
in their homes) as a percentage of all women of
working age (generally those aged 15-64 years)
was the highest in 1996 in

1.USA. 2China 3. Russa 4. S Korea
Ifin certain codeas SAND isVDOG and BIRD is
ELUG, then what isthe code for LOVE ?
1.PRYG 2 ORTG 3.NPUH 4.0RYH
When thereisnoon at |.S.T. meridian people on
another place of the Earth are taking their
60’ clock morningtea. Then longitude of the place
is:

1.17°30 E 2.7°30 W

3.172°39 E 4.90°W

Match list | with list Il and select the correct an-
swer using the codes given below thelists:

Listl List 1l

(Special characteristic) (Name of planet)

A. Smallest planet of 1. Mercury
the solar system
B. Largest planet of 2. Venus

the solar system
C. Planet second from the 3. Jupiter
Sun in the Solar system

D. Planet nearest to 4, Saturn
the Sun

Codes:

A B C D
1. 2 3 5 1
2. 3 5 1 2
3. 4 1 2 3
4, 4 3 2 1
Thegiven map relatesto

MAP
1. Kaniska at the time of hisdeath
2. Samudragupta after the close of his South Indian
campaign
3. Ashokatowards close of hisreign
4. Empire of Thaneswar on the eve of Harsha's
accesion
In a family, a couple has a son and a daughter.
The age of the father is three times that of his
daughter and the age of the son is half of his
mother. Thewifeisnineyear syounger to her hus-
band and thebrother isseven year solder than his
sister. What isthe age of the mother ?
1. 40 years 2.45years
3. 50 years 4. 60 years
Themissing fraction in the seriesgiven below is:
4/9, 9/20, ......... , 39/86
1.17/40  2.19/42

3. 20/45 4. 29/53
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Which one of the following schedules of the Con-
stitution of India contains provisions regarding
Anti-Defection Act ?
1. Second Schedule 2. Fifth Schedule
3. Eighth Schedule 4. Tenth Schedule
Which one of the following types of micro organ-
ismsismost widely used in industries ?
1. Bacteria 2. Bacteriaand fungi
3. Bacteriaand aigae
4. Bacteria, microalgae and fungi
Many of the Greeks, Kushanas and Shakas em-
braced Buddhism rather than Hinduism because
1. Buddism was in the ascendant at that time
2. They had renounced the policy of war and vio-
lence
3. Caste-ridden Hinduism did not attract them
4. Buddism provided easier access to Indian society
Thereare50 studentsadmitted toanursery class.
Some students can speak only English and some
can speak only Hindi. Ten studentscan speak both
English and Hindi. If thenumber of studentswho
can speak English is 21, then how many students
can speak Hindi, how many can speak only Hindi
and how many can speak only English ?
1. 21, 11 and 29 respectively
2. 28, 18 and 22 respectively
3. 37, 27 and 13 respectively
4. 39, 29 and 11 respectively
Match the names of outstanding I ndian scientists
giveninList - | with areaof their specialized work
giveninList - 11 and select the correct answer us-
ing the codes given below thelists:
List-1 List-11
A. Dr. RagjaRamanna 1. Plant Chemistry
B. Dr. M.S.Swaminathan 2. Nuclear Physics
C. Prof. U.R.Rao 3. Thermodynamics
and Astrophysics

D. Prof. Meghnad saha 4. Space research

5. Agricultural science

Codes:

A B C D
1 3 5 2 1
2 2 1 4 3
3. 2 5 4 3
4 3 1 4 2

The satellites of which one of the following coun-
tries have helped in the preparation of a detailed
and complete map of Antarctica ?

1. Canada 2. France

3. Russia 4. USA

Thelndian parliamentary systemisdifferent from
theBritish parliamentary systemin that Indiahas
1. Both areal and anominal executive

2. A system of collective responsibility

3. Bicameral legidlature

4. The system of Judicial review

Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List-11

A. Fruit 1. Ovule

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

B. Seed 2. Leaf
C. Woaod 3. Stem
D. Sarch 4. Ovary
Codes:

A B C D
1 2 1 3 4
2 4 1 3 2
3. 2 3 1 4
4, 4 3 1 2
The member of Shivaji’s astha Pradhana who

looked after foreign affairswas

1. Peshwa 2. Sachiv

3. Pandit Rao 4. Sumant

Panchayat Raj was first introduced in India in
October, 1950in

1. Rgjasthan 2. Tamil Nadu

3. Kerela 4. Karnataka

Some peoplein Manipur livein houses built on
1. Tipis 2. Barkhans 3. Phoomdis 4. I1zba
TheAshokan major rock edictswhich tell usabout
the Sangam Kingdom includerock edicts

1. land X 2.1 and XI

3. 11'and XII1 4. 11 and XIV

Which one of the following east flowing rivers of
India hasrift valley dueto down warping ?

1. Damodar 2. Mahanadi

3. Son 4. Yamuna
AccordingtotheWorld Development Report, low
income economies and those for which the per
capita GNP in 1994 was

1. US$925 or less 2.US$825or less

3. US$7250r less 4.US$5250r less
Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List-11

A. Theory of Mutation 1. Beadk and Ttum
B. Theory of Evolution 2. Jacob and Monod

C. One geneone enzyme 3. Darwin
hypothesis

D. Operon concept 4. DeVries
Codes:

A B C D
1 3 4 1 2
2. 4 3 1 2
3. 4 3 2 1
4, 3 4 2 1
What is the correct sequence of the following
events ?

1. Tilak’sHome Rule L eague

2. Kamagatamaru incident

3. Mahatma Gandhi’sarrival in India

Codes:

al23 b321 c213 d231
An accurate clock shows the time as 3.00. After
hour hand has moved 135° the time would be
1.7.30 2.6.30 3.8.00 4.9.30
Thelossof Qandhar wasabigblow totheM ughal
empire from the view point of

1. Natural resources 2. Buffer territory

3. Communication 4, Strategic stronghold
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A tree species in Mauritius failed to reproduce
because of the extinction of a fruit - eating bird.
Which one of the following wasthat bird ?

1. Dove 2.Dodo  3.Condor 4. Skua
Which of the following pairs are correctly
matched?

1. Mrichchakatikam - Shudraka

2. Buddhacharita - Vasuvandhu

3. Mudrarakshasha - Vishakhadatta

4. Harshacharita - Banabhatta

Select the correct answer using the codes given
below

Codes:
al23and4 2.1,3and 4
c.land 4 4.2and 3

Forest areas have been labelled as 1, 2, 3abd 4 is
the rough outline map given :
Map

Amongthese, thosewhich werethreatened in 1997
by a serious epidemic include
1. Teak forests of 3and 4
2. Oaksforestsof 1 and sal forests of 2
3. Sdl forests of 3
4. Sandalwood forests of 4
Simon Commission of 1927 wasboycotted because
1. There was no Indian member in the Commission
2. It supported the Muslim League
3. Congress felt that the people of India are entitled
to Swargj
4. There were differences among the members
Thecurrent priceindex (base 1960) isnearly 330.
Thismeansthat
1. All items cost 3.3 times morethan what they didin
1960
2. Thepricesof certain selected items have gone upto
3.3times
3. Weighted mean of prices of certain items has in-
creased 3.3 times
4. Gold price has gone up 3.3 times

Figure
In the above set of figures (1) to (1V), some parts
are shown to change their position a regular di-
rection. Following the same sequence, which one
of the following will appear at thefifth stage ?

Figures
Theindian Mulims, in general, werenot attracted
to the Extremist movement because of the
1. Influence of Sir Sayyid Ahmed Khan
2. Anti-Muslim attitude of Extremisy leaders
3. Indifference shown to Muslim aspirations
4. Extremists' policy of harping on Hindu past
Which of the following statements regarding
starch and cellulose isNOT correct ?
1. Both of them are of plant origin
2. Both of them are polymers
3. Both of them give colour with iodine
4. Both of them are made up of glucose molecules
Commercial production of mineral oil hasstarted
recently in which of theareasof India, labelled 1,
2,3and 4in therough map given below :
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Map
11 2.3 3.3
Examinethefollowing statements:
1. All members of Mohan’s family are honest
2. Some member s of Mohan’s family are not em-
ployed
3. Some employed personsare not honest
4. Some honest persons are not employed
Which one of the following inferences can be
drawn from the above statements.
1. All members of mohan’s family are employed.
2. The Employed Members of mohan's family are
honest
3. The Honest Members of mohan’s family are not
employed
4. The Employed members of mohan’sfamily are not
honest
Thebanksarerequired to maintain acertain ra-
tio between their cash in hand and total assets.
Thisiscalled
1. SBR (Statutory Bank Ratio)
2. SLR (Staturory Liquid Ratio)
3. CBR (Central Bank Reserve)
4. CLR (Central Liquid Reserve)
Ergotism isdueto consumption of
1. Contaminated grains 2. Rotting vegetables
3. Contained water 4. Stale Cooked food
What isthe correct chronlogical order in which
thefollowing appeared in India ?
1. Gold coins 2. Puch - marked silver coins
3. Iron plough 4. Urban culture
Select the correct answer using the codes given
below :

4.4

Codes:
a3412 b.3,4,2,1
c.4,312 d4,321

Match List | with List Il and select the correct
answer using the codes given below thelists.

List-1 List-11
(Minerals) (Mining area)
A. Graphite 1. Bellary
B. Lead 2. Didwana
C. Salt 3. Rampa
D. Silver 4. Zanwar
Codes:

A B C D
1 3 4 1 2
2. 1 4 2 3
3. 3 1 4 2
4 2 3 1 4

Inadinner party both fish and meat wer e served.
Some took only fish and some only meat. There
wer e some vegetarians who did not accept either.
Therest accepted both fish and meat. Which one
of the following logic diagrams correctly reflects
the above situation ?

1. Figures

Which one of the following events was
characterised by Montague as ‘Preventive Mur-
der’ ?
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1. Killing of INA activists

2. Massacre of Jallianwala Bagh

3. Shooting of the Mahatma

4. Shooting of Curzon - Wythe

Fawazil in the Sultanate period meant

1. Extra payment made to the nobles

2. Revenueasssigned in lieu of salary

3. Excessamount paid to theexchequer by theiqtadars
4. 1llegal exactions extracted from peasants

The discovery of Oak florain 1966 added a new
chapter tothehistory of Indian Sericulture. Which
oneof thefollowing Satesistheleading producer
of Oak tasar silk ?

1. Assam 2. Bihar 3. Manipur 4. Orissa
What is the correct sequence of the following
events?

1. The August offer 2. Thel.N.A.trial

3. the Quit India M ovement

4. The Royal Indian Naval Ratings Revolt

Select the correct answer using the codes given
below.

1.1,3,2,4 23,1,2,4 3.1,3,4,2 4.3,1,4,2
Noble prize in Economies for the year 1997 was
awarded for contribution in thearea of :

1. International Economies

2. Financia Economies 3. Public Economies

4. Development Economies

Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
(Places) (Industries)
A. Jamnagar 1. Aluminium
B. Hospet 2. Woolen Textile
C.Korba 3. Fertilizers
D. Haldia 4. Cement
5. 1ron and Seel

Codes:

A B C D
1 4 3 1 2
2 2 5 1 3
3. 4 5 2 1
4 2 1 4 3

The Complete conversion of glucose in the pres-
ence of oxygen into carbn dioxide and water with
release of energy iscalled

1. Aerobic respiration 2. Anaerobic respiration
3. Glycolysis 4. Hydrolysis

120. Which oneof thefollowing defines extremist dur-

ingtheearly phaseof Indian freedom movement?
1. Stimulating the production of indigenous articles
by giving them preference over imported commidities
2. Obtaining self-government by aggressive means
in place of petitions and constitutional ways

3. Providing national education according to the re-
quirements of the country

4. Organising coups agai nst the British empirethrough
military revolt

121. Inthevicinity of Mumbai, anumber of specialised

towns have been developed, Match the lists of
specialisation with towns and select the correct
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answer using the codes given below thelists:

List-1 List-11
(Towns) (Specialiation)
A. Alibag 1. Fishing centre
B. Balapur 2. Holiday resort
C. Nhava sheva 3. Petro-chemical com-
plex
D. Ratnagiri 4. Port
Codes:

A B C D
1 1 3 2 4
2. 2 3 4 1
3. 3 4 2 1
4 2 1 4 3

Theaccounting year of the Reserve Bank of India
is:

1. April - March 2. duly - June

3. October - September 4. January - December
The Sultan of Delhi who isreputed to have built
the biggest network of canalsin India was

1. lltutmish 2. Ghiyasudding Tughlag
3. Feroz Shah Tuglaq 4. Sikandar Lodi

The major chemical compound found in human
kidney stonesis

1. Uric acid 2. Calcium carbonate

3. Calcium oxaate 4. Calcium sulphate
Which of the following pairs are correctly
matched?

1. Theodore Beck : Mohammadan Anglo-
Oreintal College,Aligarh

2. llbert Bill : Rippon
3. Pherozeshah Mehta : Indian National Con
gress

4. Badruddin Tyabji  : Mudlim League
Select the correct answer using the codes given
below :

Codes:
1.1,2,3and 4 2.2and 4
3.1,3and 4 4.1,2and 3

Match List | with List 11 and select the correct
answer using the codes given below thelists.
List-1 List-11

(Agricultural (Foremost producer)

produsts)
A. Cotton 1. Madhya Pradesh
B.Gram 2. Gujarat
C.Gram 3. West Bengal
D. Pineapple 4. Kerela
Codes:

A B C D
1 2 1 3 2
2. 2 1 3 4
3. 1 2 4 3
4 1 2 3 4

Which of the following isthe correct swquence of
decreasing order of thegiven currenciesin terms
of their valuein Indian Rupees ?

1. US dollar, Canadian dollar, New Zealand dollar,
Hong Kong dollar

2. US dollar, New Zealand dollar, Canadian dollar,
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HongKong dollar

3. USdoallar, Hong Kong dollar, NewZealand dollar,
Canadian dollar

4, USdollar, Hong Kong dollar, Canadinadollar, new
Zealand dollar

‘Eco mark’ is given to the Indian products that
are

1. Pure and uadulterated 2. Rich in proteins

3. Environment friendly 4. Economically viable

A, B, C, D, E, Fand G are members of a family
consting of four adults and three children, two
whom, f and G are girls. A and D are brothers
and Aisdoctor. E isan engineer married to one of
thebrothersand hastwo children, Bismarried to
D and G istheir child. WhoisC ?

1. G's brother 2. F'sfather

3. E'sdaughter 4. A'sson

Capital Account Convertibility of the Indian ru-
peeimplies

1. That the Indian rupee can be exchanged by the
authorised dealersfor travel

2. That the Indian rupee can be exchanged for any
major currency for the purpose of tradein goods and
services

3. That the Indian rupee can be exchanged for any
major currency for the purpose of trading financial
assets

4. None of the above

What arethe official languages of the UNO ?

1. English, French and Russian

2. English, French, German and Russian

3. English, French, Russian, Chinese and Hindi

4. English, French, Chinese, Russian, Ababic and
Spanish

Therough outline map given shows centres of ce-
ment industry labelled 1, 2, 3and 4. Match these
centreswith the following sets of names:

Map
Names:
1. Katni 2. Tirunelveli
3. Sikka 4, Churk

Select the correct answer using the codes given
below :

Codes:

A B C D
1. 3 4 2 1
2. 2 4 1 3
3. 1 2 4 3
4, 2 3 1 4

“The Congressis tottering to its fall and one of
my great ambitionswhilein India, istoassist it to
a peaceful demise.” This statement is attributed
to

1. Lord Dufferin
3. Lord Lytton

2. Lord Curzon
4. None of these

134.Economies Survey in Indiais published officially,

every year by the

1. Reserve Bank of India

2. Planning Commision of India

3. Ministry of Finance, Govt. of India
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4. Ministry of Industries, Govt. of India

One Astronomical Unit is the average distance
between

1. Earth and the Sun 2. Earth and the Moon

3. Jupiter and the Sun 4. Pluto and the Sun
Which of thefollowing ports shown on therough
outlinemap of Indiaisariverline port ?

MAP
11 2.2 3.3 4.4
Who wasthe leader of the Ghaddar Party ?
1. Bhagat Singh 2. LalaHardayal

3. Bal Gangadhar Tilak 4. V.D. Savarkar

Which of thefollowing partieswere not a part of
the United Front which wasin power during ‘ 96-
97’ ?

1. Bahujana Samaj Party

2. Samata Party

3. Haryana Vikas Party

4. Assam Gana Parishad

Select the correct answer using the codes given
below :

Codes:
1.1,2,3and 4 2.1,2and 3
3.3and 4 4.1and 2

World Environmental Conferenceto discussglo-
bal warming was held in 1997 in

1. Stockholm 2. Rio de Janeiro

3. Paris 4. Kyoto

Match List | with List 11 and select the correct
answer using the codes given below thelists.

List-1 List-11
A. BlueVitriol 1. Sodium bicarbonate
B. Epsom salt 2. Sodium hydroxide
C. baking soda 3. Magnesium sulphate
D. Caustic soda 4, Copper Sulphate
Codes:

A B C D
1 3 4 2 1
2. 4 3 2 1
3. 3 4 1 2
4. 4 3 1 2
The water pollution in river is measured by the
dissolved amount of
1. Chlorine 2. Ozone
3. Nitrogen 4. Oxygen
Sometimeback, the Gover nment of India, decided

todelicense‘Whitegoods' industry. ‘Whitegoods
include

1. Stainless steel and aluminium utensils

2. Milk and milk products

3. Item purchased for conspicuous consumption

4. Soaps, detergents and other mass consumption
goods

Examinethefollowing three statements:

1. Processed meat is a perishable food

2. All perishablefoods are packed in sealed tins
3. Sealed thissometimesdo not contain processed
meat

Which one of the following inferences can be
drawn from the above statements ?



1. Sealed tins always contain perishable food

2. Processed meat is sometimes not packed in sealed
tins

3. Processed meat is always packed in sealed tins

4. Non-perishable foods are never packed in sealed
tins

144. what is correct sequence of the following in In-

dian Statesin descending order of their length of
surface roads per 100 km? of their area ?

1. Haryana 2. Maharastra

3. Punjab 4, Tamil Nadu

Select the correct answer using to codes given be-
low :

Codes:
1.4,3,21 2.4,3,1,2
3.3,4,1,2 4.3, 4,2, 1

145. Match List | with List Il and select the correct
answer using the codes given below thelists.

List-1 List-11
A. Potassium bromide 1. Fertiliser
B. Potassium Nitrate 2.Phatography
C. Potassium Sulphate 3. Bakery
D. Mono potassium tartarate 4. Gunpowder
Codes:

A B C D
1 2 4 1 3
2. 2 4 3 1
3. 4 2 3 1
4 4 2 1 3

146. The four railway junctions shown by numberals
1, 2, 3, 4 on therough outlien map of Gujarat are
respectively

4. Ahmedabad, Vadodara, Bhavnagar and Broach
147. The damage of the Spektr M odule of the Russian
Space Station Mir wasdueto
1. Callision with a Soyuz cargo ship
2. Faulty material design of the Spektr Module
3. Explosion inside the space station
4. Collision with an asteriod
148. The misery index isthe sum of a country’sunem-
ployment and infaltion rate. the higher theindex,
the more miserable is the country to livein. The
figuregiven below istheMisery Index for various
contriesin Europe:
Graph
which of the following conclusions can be drawn
from the misery index given above ?
1. Britian isthemost miserablecountry tolivein
2. Theinflation rate in Spain islessthan that in
Belgium and Britian
3. Italy and France seem to havesalmost identical
unemployment rate
4. The higher the misery index the higher thein-
flation rate
Select the correct answer using the codes given
below :

Codes:
1.1done 2.2and 3
3.1,2,3and 4 4. None

149. The meseting of G-15 countries held in Malaysia
in 1997 was attended by
1. 14 member countries 2. 14 member countries
3. 16 member countries 4. 17 member countries
150. Olympics 2004 isto be held in

1. Palanpur, Mahesana, Ahmedabad and Vadodara 1. Johannesberg 2. Capetown

2. Mahesana, Surendranagar, Ragjkot and Junagarh 3. Rome 4. Sydney

3. Palanpur, Kanda, Bhuj and Okla

ANSWERS

1) 3 2)1 3) 4 4) 2 5)3 6) 3 7)3 8) 1 9) 4 10) 3
11) 2 12) 3 13) 1 14) 1 15) 2 16) 1 17) 1 18)3 19) 4 20) 4
21) 2 22) 2 23)4 24) 3 25) 2 26) 3 27) 3 28) 2 29) 1 30) 3
31) 3 32) 1 33)1 34)2 35) 4 36) 3 37)2 38) 3 39)3 40) 1
41) 3 42) 1 43)3  44)1 45) 2 46) 1 47) 2 48) 2 49) 3 50) 1
51) 1 52) 4 53) 1 54) 2 55) 3 56) 4 57) 1 58) 4 59) 3 60) 4
61) 2 62) 1 63)2 64)1 65) 2 66) 3 67)3 68) 3 69) 4 70) 1
71) 1 72) 2 73)4 74)4 75) 2 76) 4 77) 3 78) 4 79) 2 80) 4
81) 4 82) 4 83)4 84)3 85) 1 86) 4 87)2 88) 4 89) 1 90) 3
91) 3 92) 2 93)3 94)2 95) 4 96) 1 97)3 98) 4 99) 2 100) 3
101) 1 102)3 103)3 104)4 105)3 106)3 107)2 108)2 109) 1 110) 4
111)2  112)1 113)2 114)3 115)1  116)1 117)2 118)2 119)1 120) 2
121)2 122)2 123)3 124)3 125)4 126)1 127)1 128)3 129)4 130) 3
131)4 132)2 133)2 134)3 135)1 136)4 137)2 138)2 139)4 140) 4
141) 4 142)3 143)3 144)1 145)1 146)2 147)1 148)2 149)3 150) ?




